

3S⁽²³⁾ | РОССИЙСКИЙ ЖУРНАЛ ГЕРИАТРИЧЕСКОЙ МЕДИЦИНЫ 2025 | RUSSIAN JOURNAL OF GERIATRIC MEDICINE

РЕЦЕНЗИРУЕМЫЙ НАУЧНЫЙ МЕДИЦИНСКИЙ
ЖУРНАЛ ОТКРЫТОГО ДОСТУПА



Официальное издание Российской
ассоциации геронтологов и гериатров



Российский
геронтологический
научно-клинический
центр

Выходит под эгидой и при научной
поддержке «Российского геронтологического научно-клинического центра»
РНМУ им. Н. И. Пирогова
Минздрава России (Пироговский
Университет)

Выходит 4 раза в год

Учредитель и издатель

Автономная некоммерческая организация
«Общество специалистов в области инновационных
технологий в медицине» (АНО «ОСО ИТЕМ»)
129323, г. Москва, вн. тер. г. муниципальный округ Свиблово,
проезд Лазоревый, д. 5, корп. 2, пом. VI, ком. 20
Тел.: +7 (499) 653-85-18
Председатель правления Дудинская Екатерина Наильевна

Редакция

Главный редактор Ткачева Ольга Николаевна
Заместитель главного редактора Котовская Юлия Викторовна
Научный редактор Рунихина Надежда Константиновна
Ответственный секретарь Пан Вячеслав Николаевич
Выпускающий редактор Дудинская Екатерина Наильевна
Заведующий редакцией Мачехина Любовь Викторовна
Адрес редакции:
129323, г. Москва, вн. тер. г. муниципальный округ Свиблово,
проезд Лазоревый, д. 5, корп. 2, пом. VI, ком. 20
Тел.: +7 (499) 653-85-18
Почтовый адрес:
129226, г. Москва, ул. 1-я Леонова, д. 16

Допечатная подготовка журнала

Общество с ограниченной ответственностью
«Издательство Прометей»
119002, г. Москва, ул. Арбат, д. 51, стр. 1

Отдел распространения и рекламы АНО «ОСО ИТЕМ»

+7(499) 653-85-18
E-mail: advertisement@geriatr-news.com

Тираж 3000 экземпляров
Издание зарегистрировано в Федеральной службе
по надзору в сфере связи, информационных технологий
и массовых коммуникаций (Роскомнадзор)
Свидетельство о регистрации
ПИ № ФС77-75713 от 8 мая 2019 года

ISSN 2686-8636 (Print)
ISSN 2686-8709 (Online)

Сайт журнала <https://www.geriatr-news.com>
E-mail: info@geriatr-news.com

Отпечатано в типографии Издательства «Прометей»
119002, г. Москва, ул. Арбат, д. 51, стр. 1
Номер заказа 4205
Подписано в печать 26.09.2025

Журнал включен в Перечень рецензируемых
научных изданий Высшей аттестационной комиссии (ВАК)
при Министерстве науки и высшего образования РФ
по специальностям «внутренние болезни», «кардиология»,
«геронтология и гериатрия»

Журнал включен в Российский индекс
научного цитирования (РИНЦ)
5-летний импакт-фактор РИНЦ (2024) 1, 807
Статьи журнала представлены в Российской универсальной
научной электронной библиотеке <https://elibrary.ru>

Подписной индекс в каталоге «Почта России» ПИ405
DOI номера: 10.37586/2686-8636-3-2025

Издается с 2020 года на русском и английском языках

Цена свободная

PEER-REVIEWED MEDICAL OPEN ACCESS
JOURNAL



The official printed publication of the Russian
Association of Gerontologists and Geriatricians



Russian Clinical and
Research Center
of Gerontology

The journal is endorsed by Russian
Gerontology Research and Clinical
Centre, Pirogov Russian National
Research Medical University

Published quarterly

Founder and Publisher

Autonomous non-commercial organization
"Society of specialists in the field innovative medical technology" (SSFIMT)
Office 20-VI, Building 2/5, Lazorevsky proezd,
Moscow. 129323
CEO — Ekaterina Dudinskaya

Editorial office

Editor-in-chief Olga Tkacheva
Deputy Editor-in-chief Yulia Kotovskaya
Science Editor Nadezhda Runikhina
Executive Secretary Vyacheslav Pan
Managing Editor Ekaterina Dudinskaya
Head of the Editorial Office Lubov Matchekhina
Editors' office address:
20-VI, st. 2/5, Lazorevsky proezd,
Moscow, 129323, Russia
Tel: +7 (499) 653-85-18
Mailing address:
16, ulitsa 1-ya Leonova, Moscow, 129226, Russia

Prepress

Limited liability company
"Prometeus Publishing House"
1-51, Arbat ulitsa, Moscow. 119002

Marketing and advertisement department

+7(499) 653-85-18
E-mail: advertisement@geriatr-news.com

Print run 3000 copies.
The journal is registered in the Federal service
in IT and communication supervising.
Registration number
ПИ № ФС77-75713 dated 08.05.2019

ISSN 2686-8636 (Print)
ISSN 2686-8709 (Online)

Website <https://www.geriatr-news.com>
E-mail: info@geriatr-news.com

Printed in Prometheus Publishing House
51, Arbat ulitsa, Moscow. 119002
Order 4205 dated 26.09.2025

The Journal is included in the List of Peer-Reviewed
Scientific Journals of the Higher Attestation Commission (HAC) of the
Ministry of Science and Higher Education
of the Russian Federation in Internal Medicine, Cardiology, Gerontology
and Geriatrics

The Journal is included in Russian Science Citation Index (RSCI).
5-year RSCI Journal Impact Factor (2024) 1, 807
Full text of our articles are available at
<https://elibrary.ru>

Subscription index in Russian Post Office Catalogue ПИ405
Issue's DOI: 10.37586/2686-8636-3-2025

Published since 2020 in English and Russian

The price is free

РЕДАКЦИОННАЯ КОЛЛЕГИЯ

EDITORIAL BOARD

Ткачева О. Н.	Tkacheva O. N.
Котовская Ю. В.	Kotovskaya Yu. V.
Рунихина Н. К.	Runikhina N. K.
Алексян Л. А.	Alexanyan L. A.
Воробьева Н. М.	Vorobyeva N. M.
Дудинская Е. Н.	Dudinskaya E. N.
Ильницкий А. Н.	Ilitsky A. N.
Шабалин В. Н.	Shabalin V. N.
Яхно Н. Н.	Yakhno N. N.
Бойцов С. А.	Boytsov S. A.
Кривобородов Г. Г.	Krivoborodov G. G.
Драпкина О. М.	Drapkina O. M.
Сычев Д. А.	Sychev D. A.
Наумов А. В.	Naumov A. V.
Стражеско И. Д.	Strazhesko I. D.
Хашукоева А. З.	Khashukoeva A. Z.
Ховасова Н. О.	Khovasova N. O.
Процаев К. И.	Proshaev K. I.
Атанасиос Бенетос (Франция)	Athanasios Benetos (France)
Ян Пресс (Израиль)	Yan Press (Israel)
Мирко Петрович (Бельгия)	Mirko Petrovic (Belgium)
Чакраварти Раджумар (Великобритания)	Chakravarthi Rajkumar (England)
Франческо Маттасе-Расо (Нидерланды)	Francesco Mattace Raso (Netherlands)

РЕДАКЦИОННЫЙ СОВЕТ

EDITORIAL COUNCIL

Кириллов О. В.	Kirillov O. V.
Хархарова-Алиева К. М.	Kharharova-Alieva C. M.
Турушева А. В.	Turusheva A. V.
Торопцова Н. В.	Toroptsova N. V.
Алексеева Л. И.	Alekseeva L. I.
Шарашкина Н. В.	Sharashkina N. V.
Конев Ю. В.	Konev Yu.V.
Якушин С. С.	Yakushin S. S.
Лила А. М.	Lila A. M.
Остапенко В. С.	Ostapenko V. S.
Булгакова С. В.	Bulgakova S. V.
Гиляревский С. Р.	Gilyarevsky S. R.
Виллевальде С. В.	Villevalde S. V.
Кисляк О. А.	Kislyak O. A.
Конради А. О.	Konradi A. O.
Лазебник Л. Б.	Lazebnik L. B.
Ларина В. Н.	Larina V. N.
Недогода С. В.	Nedogoda S. V.
Погосова Н. В.	Pogosova N. V.
Потешкина Н. Г.	Poteshkina N. G.
Ерусланова К. А.	Eruslanova K. A.
Боголепова А. Н.	Bogolepova A. N.
Левин О. С.	Levin O. S.
Замерград М. В.	Zamergrad M. V.
Мхитарян Э. А.	Mkhitaryan E. A.
Чердак М. А.	Cherdak M. A.
Канунникова Л. В.	Kanunnikova L. V.
Синопальников А. И.	Sinopalnikov A. I.
Сафонова Ю. А.	Safonova Yu. A.
Белова К. Ю.	Belova K. Yu.
Лесняк О. М.	Lesnyak O. M.
Иванникова Е. В.	Ivannikova E. V.
Мачехина Л. В.	Matchekhina L. V.
Онучина Ю. С.	Onuchina Yu. S.

ТЕЗИСЫ К I ФОРУМУ «ТЕХНОЛОГИИ ДОЛГОЛЕТИЯ»

СОДЕРЖАНИЕ

Причины обращения за неотложной помощью гериатрических пациентов с пароксизмальной формой фибрилляции предсердий и эффективность догоспитального лечения 360 (Вебер А. Д., Максимова Д. С., Эшмаков С. В.)	360
Реабилитация пациентов с саркопеническим ожирением в рамках проекта «Активное долголетие» 363 (Кочеткова И. В., Ключников Н. И., Брежнева Н. А., Попов С. Ю.)	363
Персонализированный подход к профилактике артериальной гипертензии у пациентов возрастной группы 65 лет и старше 366 (Киреева В. В., Лепехова С. А., Бессонова Л. О.)	366
Оценка выраженности инволютивной саркопении в гендерных группах пациентов старшего возраста как предиктивный скрининговый метод активного долголетия 369 (Медведев Н. В.)	369
Патофизиологические аспекты взаимосвязи физической активности с биомаркерами старения 372 (Сопромадзе А. Г., Добрынин Д. В.)	372
Особенности интерпретации результатов эргоспирометрии у пациентов старших возрастных групп 375 (Троцюк Д. В., Медведев Д. С., Добрынин Д. В., Сопромадзе А. Г.)	375
Возраст-ассоциированные эффекты глутамил-цистеинил-глицина динатрия в комплексной схеме лечения мультирезистентного туберкулеза (экспериментальное исследование) 378 (Пухальская А. Э., Медведева М. Д.)	378
Перспективы разработки персонализированного минерального комплекса для профилактики и коррекции региональных дисэлементозов у пожилых 382 (Виноградова И. А.)	382
Продолжительность жизни пациентов пожилого и старческого возраста с артериальной гипертензией и мероприятия по вторичной профилактике данной патологии 384 (Соболева Н. И.)	384
Опыт реализации образовательных программ для пожилых пациентов в условиях ОГБУЗ «Клинический госпиталь ветеранов войн» 386 (Бессонова Л. О., Демин И. В., Кириченко О. А., Пантелеева Е. О., Брикова С. И., Верлан Н. В., Киреева В. В.)	386

Оценка взаимосвязи проявлений когнитивного дефицита и показателя сосудистого возраста у больных артериальной гипертензией	389
<i>(Крючкова О. Н., Ицкова Е. А., Лутай Ю. А., Турна Э. Ю., Костюкова Е. А., Жукова Н. В.)</i>	
Сроки достижения целевого уровня артериального давления при изменении стратегии стартовой антигипертензивной терапии.	392
<i>(Крючкова О. Н., Окорокова Т. О., Ицкова Е. А., Лутай Ю. А., Турна Э. Ю., Костюкова Е. А.)</i>	
Дозированная ходьба как эффективный метод реабилитации пациентов с сочетанием артериальной гипертензии и хронической обструктивной болезни легких.	395
<i>(Крючкова О. Н., Бубнова М. А., Ицкова Е. А., Лутай Ю. А., Турна Э. Ю., Костюкова Е. А.)</i>	
Динамика минерально-костных нарушений у пациентов пожилого возраста с хронической болезнью почек.	398
<i>(Вишняк Д. А., Джафарова Н. М., Урманцева Н. Р., Куликов Е. Д., Тимурова Д. Н., Гирфанова Э. О.)</i>	
Эффективность и безопасность имплантации аортального клапана у лиц старше 75 лет	401
<i>(Киракосян В. Р., Давтян А. Г., Ардашев В. Н., Новиков Е. М., Герасименко Е. А., Глоба И. В., Щербакова А. П.)</i>	
Взаимосвязь уровня лептина и показателей системного воспаления у пациентов мужского пола с генерализованным пародонтитом на фоне избыточной массы тела	404
<i>(Крючков Д. Ю., Романенко И. Г., Джерелей А. А., Крючкова О. Н.)</i>	
Ассоциации заболеваний глаз и характеристики физических нарушений у пациентов старческого и пожилого возраста	406
<i>(Трофимова А. А., Попов В. В., Андреева Е. А.)</i>	
Пожилые люди и цифровые фармацевтические сервисы: проблемы, потребности и решения	409
<i>(Лисенкова Ю. А., Григорьева И. А.)</i>	
Восстановление речи в условиях учреждения социального обслуживания геронтологического центра «Екатеринодар».	412
<i>(Кормилова В. М., Иванова Н. В.)</i>	
Опыт применения низкочастотного лазерного излучения в восстановительном периоде у пожилых пациентов с перенесенным острым нарушением мозгового кровообращения ишемического генеза	415
<i>(Бронникова С. А., Бугаева Т. Э., Щербинина Е. С., Шевляков С. В.)</i>	
Мукозные кисты пальцев кисти: ошибки диагностики и лечения у пациентов пожилого и старческого возраста.	417
<i>(Чуловская И. Г., Егиазарян К. А., Жаров Д. С., Рязанова Е. Е.)</i>	

Синдром падений у пожилых людей в социальных стационарах Киргизской Республики: частота и причины.	419
<i>(Арстанбекова М. А., Маматов С. М., Мусакеев А. О.)</i>	
Роль фазового угла в диагностике пресаркопии у пациентов пожилого и старческого возраста с сахарным диабетом 2 типа.	421
<i>(Объедков Р. Н., Дедов Е. И., Пшенникова И. Г.)</i>	
Язвы желудка и двенадцатиперстной кишки в гериатрии: эндоскопические особенности.	423
<i>(Богомоллова С. С., Ниль Э. А., Ахомголова Д. А., Бабаханова А. А., Тюльтеяева Л. А.)</i>	
Проблемы геронтологии и гериатрии в Киргизской Республике на современном этапе.	426
<i>(Маматов С. М., Арстанбекова М. А., Смаилова Д. К., Романкулова Ж. Б.)</i>	
Распространенность гериатрических синдромов у пожилых подопечных в социальных стационарах южных регионов Киргизской Республики.	428
<i>(Арстанбекова М. А., Мусакеев А. О., Маматов С. М.)</i>	
Ассоциация саркопии с системным иммунным воспалительным индексом у пациентов пожилого возраста.	431
<i>(Гостева Е. В., Васильева Л. В., Ключников Н. И., Попов С. Ю., Купцов М. А.)</i>	
Изоляция устьев легочных вен у пациентов пожилого и старческого возраста ...	434
<i>(Сафонов Н. В., Лелькова А. М., Чавушян Л. Г., Стеклов А. С., Серова М. В., Колесников Д. В.)</i>	
STOPP/START-критерии и модифицированный индекс рациональности применения лекарственных средств в терапии остеохондроза позвоночника у пациентов старшего возраста.	438
<i>(Соболева Н. И.)</i>	

THESES FOR THE I FORUM «LONGEVITY TECHNOLOGIES»

TABLE OF CONTENTS

Reasons for seeking emergency care for geriatric patients with paroxysmal atrial fibrillation, and the effectiveness of pre-hospital treatment	360
<i>(Veber A. D., Maksimova D. S., Eshmakov S. V.)</i>	
Rehabilitation of patients with sarcopenic obesity within the framework of the Active Longevity project	363
<i>(Kochetkova I. V., Klyushnikov N. I., Brezhneva N. A., Popov S. Yu.)</i>	
Personalized approach to the prevention of arterial hypertension in patients of the older age group 65+	366
<i>(Kireeva V. V., Lepekhova S. A., Bessonova L. O.)</i>	
Assessment of the involutive sarcopenia severity in gender groups of elderly patients as a predictive screening method of active longevity	369
<i>(Medvedev N. V.)</i>	
Pathophysiological aspects of the relationship of physical activity with biomarkers of aging.	372
<i>(Sopromadze A. G., Dobrynin D. V.)</i>	
Peculiarities of interpretation of ergospirometry results in patients of older age groups	375
<i>(Trotsyuk D. V., Medvedev D. S., Dobrynin D. V., Sopromadze A. G.)</i>	
Age-associated effects of disodium glutamyl-cysteinyl-glycine in a complex treatment regimen for multidrug-resistant tuberculosis (experimental study)	378
<i>(Puhalskaya A. E., Medvedeva M. D.)</i>	
Prospects for the development of a personalized mineral complex for the prevention and correction of regional diselementoses in the elderly people	382
<i>(Vinogradova I. A.)</i>	
Life expectancy of patients of different ages with arterial hypertension and measures for its secondary prevention.	384
<i>(Soboleva N. I.)</i>	
Experience in implementing educational programs for elderly patients in the conditions of the OGBUZ Clinical Hospital for War Veterans.	386
<i>(Bessonova L. O., Demin I. V., Kirichenko O. A., Panteleev E. O., Brikova S. I., Verlan N. V., Kireeva V. V.)</i>	
Assessment of the relationship between manifestations of cognitive deficit and the indicator of vascular age in patients with arterial hypertension	389
<i>(Kryuchkova O. N., Itskova E. A., Lutai Yu. A., Turna E. Yu., Kostyukova E. A., Zhukova N. V.)</i>	

Time to achieve target blood pressure when changing initial antihypertensive therapy strategy.	392
<i>(Kryuchkova O. N., Okorokova T. O., Itskova E. A., Lutai Yu. A., Turna E. Yu., Kostyukova E. A.)</i>	
Dosed walking as an effective method of rehabilitation of patients with a combination of arterial hypertension and chronic obstructive pulmonary disease. . .	395
<i>(Kryuchkova O. N., Bubnova M. A., Itskova E. A., Lutai Yu. A., Turna E. Yu., Kostyukova E. A.)</i>	
Dynamics of bone mineral disorders in elderly patients with chronic kidney disease	398
<i>(Vishnyak D. A., Dzhafarova N. M., Urmanceva N. R., Kulikov E. D., Timurova D. N., Girfanova E. O.)</i>	
The effectiveness and safety of the aortic valve implantation in people over 75 years old	401
<i>(Kirakosyan V. R., Davtyan A. G., Ardashev V. N., Novikov E. M., Gerasimenko E. A., Globa I. V., Shcherbakova A. P.)</i>	
Relationship between leptin levels and systemic inflammation indices in overweight male patients with generalized periodontitis.	404
<i>(Kryuchkov D. Yu., Romanenko I. G., Dzhereley A. A., Kryuchkova O. N.)</i>	
Associations between eye disorders and physical impairment features in elderly and senescent patients	406
<i>(Trofimova A. A., Popov V. V., Andreeva E. A.)</i>	
Elderly people and digital pharmaceutical services: challenges, needs and solutions	409
<i>(Lisenkova Yu. A., Grigorieva I. A.)</i>	
Speech recovery in the conditions of the social service entity of the gerontological center «Ekaterinodar»	412
<i>(Kormilova V. M., Ivanova N. V.)</i>	
Using low-frequency laser radiation to help elderly patients' recovery from an acute cerebral circulatory disorder of ischemic genesis	415
<i>(Bronnikova S. A., Bugaeva T. E., Shcherbinina E. S., Shevlyakov S. V.)</i>	
Mucosal cysts of the fingers of the hand: errors in diagnosis and treatment in elderly and senile patients	417
<i>(Chulovskaya I. G., Egiazaryan K. A., Zharov D. S., Ryazanova E. E.)</i>	
Falls syndrome in the elderly in social hospitals in the Kyrgyz Republic: incidence and causes	419
<i>(Arstanbekova M. A., Musakeev A. O., Mamatov S. M.)</i>	
The role of phase angle in the diagnosis of presarcopenia in elderly patients with type 2 diabetes mellitus	421
<i>(Obedkov R. N., Dedov E. I., Pshennikova I. G.)</i>	

Peptic ulcer of the stomach and duodenum in geriatrics: endoscopic features.	423
<i>(Bogomolova S. S., Nil E. A., Akhomgotova D. A., Babakhanova A. A., Tyultyayeva L. A.)</i>	
Problems of gerontology and geriatrics in the Kyrgyz Republic at the present stage. . .	426
<i>(Mamatov S. M., Arstanbekova M. A., Smailova D. K., Romankulova Z. B.)</i>	
Prevalence of geriatric syndromes in elderly wards in social hospitals in the southern regions of the Kyrgyz Republic.	428
<i>(Arstanbekova M. A., Musakeev A. O., Mamatov S. M.)</i>	
Association of sarcopenia with systemic immune inflammatory index in elderly patients	431
<i>(Gosteva E. V., Vasilyeva L. V., Klyushnikov N. I., Popov S. Yu., Kuptsov M. A.)</i>	
Isolation of the pulmonary veins ostia in elderly and geriatric patients	434
<i>(Safonov N. V., Lelkova A. M., Chavushyan L. G., Steklov A. S., Serova M. V., Kolesnikov D. V.)</i>	
STOPP/START-criteria and a modified index of the rationality of drug use in the treatment of spinal osteochondrosis in older patients.	438
<i>(Soboleva N. I.)</i>	

ПРИЧИНЫ ОБРАЩЕНИЯ ЗА НЕОТЛОЖНОЙ ПОМОЩЬЮ ГЕРИАТРИЧЕСКИХ ПАЦИЕНТОВ С ПАРОКСИЗМАЛЬНОЙ ФОРМОЙ ФИБРИЛЛЯЦИИ ПРЕДСЕРДИЙ И ЭФФЕКТИВНОСТЬ ДОГОСПИТАЛЬНОГО ЛЕЧЕНИЯ

DOI: 10.37586/2686-8636-3-2025-360-362

УДК: 616.12-008.311

Вебер А. Д. , Максимова Д. С. , Эшмаков С. В. *

ФГБОУ ВО ИГМА Минздрава России, Ижевск, Россия

*Автор, ответственный за переписку, Эшмаков Сергей Владимирович.

E-mail: dr.sve@mail.ru

Резюме

АКТУАЛЬНОСТЬ. Одним из распространенных возраст-ассоциированных состояний является фибрилляция предсердий (ФП). Развитие ФП у гериатрических пациентов приводит к неизбежному назначению дополнительных лекарственных препаратов: антикоагулянтов и средств для контроля ритма или частоты. Такая ситуация часто приводит к полипрагмазии и увеличению риска опасных нежелательных явлений, что особенно неблагоприятно для пациентов со старческой астенией (СА) и преаестенией (ПА). Кроме того, несмотря на лечение ФП согласно клиническим рекомендациям, обращение за неотложной помощью таких пациентов остается достаточно частым.

ЦЕЛЬ ИССЛЕДОВАНИЯ. Анализ причин обращения за неотложной помощью гериатрических пациентов с ФП и оценка эффективности мероприятий, проводимых на догоспитальном этапе.

МАТЕРИАЛЫ И МЕТОДЫ. В исследовании, выполненном в реальной клинической практике выездной бригады неотложной помощи, приняли участие 36 пациентов с пароксизмальной формой ФП. По результатам скрининга с использованием опросника «Возраст не помеха» пациенты были поделены на 3 группы: 18 «крепких» пациентов (50 %), 9 пациентов с ПА (25 %), 9 пациентов с СА (25 %). Выявлялись причины обращения за неотложной помощью, оценивались полнота и приверженность предшествующей терапии, анализировались исходы. Сравнение частотных показателей выполнялось по критерию хи-квадрат.

РЕЗУЛЬТАТЫ. Всем пациентам с СА ранее была доступна гериатрическая помощь. У пациентов с ПА и «крепких» пациентов скрининг СА был проведен впервые. Причинами обращения в 75 % случаев явилось сердцебиение и перебои в работе сердца, в 16,7 % случаев — артериальная гипертензия (систолическое давление выше 180 мм. рт. ст.), в 8,3 % случаев — артериальная гипотензия, сопровождающаяся слабостью и головокружением. Группы пациентов не имели значимых различий в отношении повода обращения за неотложной помощью ($p = 0,287$). Усиление симптомов сердечной недостаточности значимо чаще наблюдалось у пациентов с вероятной ПА (44,4 %) и СА (88,8 %) и не выявлялось у «крепких» пациентов ($p = 0,036$). Всем пациентам с ФП до обращения за неотложной помощью была назначена стандартная терапия, включающая средства контроля ритма (пропафенон или амиодарон) и пероральные антикоагулянты (апиксабан, ривароксабан). Тем не менее 16,7 % «крепких» пациентов вместо антикоагулянтов принимали ацетилсалициловую кислоту. Частота снижения приверженности лечению у «крепких» пациентов составила 16,7 %, у пациентов с ПА — 66,7 %, в то время как у пациентов с СА — 11,1 % ($p = 0,048$). Восстановление синусового ритма на догоспитальном этапе было достигнуто только у «крепких» пациентов — в 33,3 % случаев; адекватного урежения частоты сердечных сокращений удалось достичь во всех группах: у 66,7 % «крепких» пациентов, у 33,3 % пациентов с ПА и у 16,7 % с СА ($p = 0,026$). Госпитализированы были 33,3 % «крепких» пациентов в связи с неэффективностью догоспитального лечения и 66,6 % пациентов с СА по причине выявления симптомов декомпенсации сопутствующей хронической сердечной недостаточности. В целом частота госпитализаций пациентов с пароксизмальной ФП составила 33,3 %.

ЗАКЛЮЧЕНИЕ. Наиболее частой причиной обращения гериатрических пациентов с пароксизмальной формой ФП за неотложной помощью является недостаточный контроль ритма. Догоспитальная терапия была эффективна преимущественно у «крепких» пациентов, когда восстановления синусового ритма удалось достичь в 33,3 % случаев. Госпитализация оказалась необходимой в 33,3 % случаев по причине неэффективности догоспитальных мероприятий или вследствие декомпенсации сердечной недостаточности, наблюдавшейся преимущественно у пациентов с СА. Пациенты с ПА оказались наименее приверженной лечению группой. Не исключено, что часть из них может иметь признаки деменции, затрудняющей прием лекарственных препаратов, и подлежит более углубленному обследованию гериатрической службой.

Ключевые слова: фибрилляция предсердий; старческая астения; преаестения; неотложная помощь.

Для цитирования: Вебер А. Д., Максимова Д. С., Эшмаков С. В. Причины обращения за неотложной помощью гериатрических пациентов с пароксизмальной формой фибрилляции предсердий

и эффективность догоспитального лечения. *Российский журнал гериатрической медицины*. 2025 ; 3S (23) : 360–362. DOI: 10.37586/2686-8636-3-2025-360-362

Поступила: 10.04.2025. Принята к печати: 17.04.2025. Дата онлайн-публикации: 26.09.2025.

REASONS FOR SEEKING EMERGENCY CARE FOR GERIATRIC PATIENTS WITH PAROXYSMAL ATRIAL FIBRILLATION, AND THE EFFECTIVENESS OF PRE-HOSPITAL TREATMENT

Veber A. D. , Maksimova D. S. , Eshmakov S. V. *

Izhevsk State Medical Academy, Izhevsk, Russia

* Corresponding author: Sergei Vladimirovich Eshmakov. E-mail: dr.sve@mail.ru

Abstract

BACKGROUND. One of the most common age-related conditions is atrial fibrillation (AF). The development of AF in geriatric patients leads to the inevitable prescription of additional medications: anticoagulants and means to control rhythm or frequency. This situation often leads to polypharmacy and an increased risk of dangerous adverse events, which is especially unfavorable for patients with frailty and pre-frailty. In addition, despite the treatment of AF according to clinical recommendations, emergency treatment for such patients remains quite frequent.

OBJECTIVE. Analysis of the reasons for seeking emergency care for geriatric patients with AF and evaluation of the effectiveness of measures carried out at the prehospital stage.

MATERIALS AND METHODS. The study, performed in real clinical practice by an on-site emergency team, involved 36 patients with paroxysmal AF. According to the results of screening using the «Age is not a hindrance» questionnaire, patients were divided into 3 groups: 18 patients without frailty-syndrome (FS) (50 %), 9 patients with pre-frailty syndrome (PFS) (25 %), 9 patients with FS (25 %). The reasons for seeking emergency care were identified, the completeness and adherence to previous therapy were assessed, and outcomes were analyzed. Frequency comparisons were performed using the chi-square test.

RESULTS. The geriatric care was previously available to all patients with FS. In patients with PFS and in patients without FS, screening of the FS was performed for the first time. The causes of treatment in 75 % of cases were palpitations and heart failure, in 16.7 % of cases — arterial hypertension (systolic pressure above 180 mm Hg), in 8.3 % of cases — arterial hypotension, accompanied by weakness and dizziness. The patient groups had no significant differences in the reason for seeking emergency care ($p = 0.287$). Increased symptoms of heart failure were significantly more often observed in patients with PFS (44.4 %) and patients with FS (88.8 %), and were not detected in patients without FS ($p = 0.036$). All patients with AF were prescribed standard therapy before seeking emergency treatment, including rhythm control drugs (propafenone or amiodarone) and oral anticoagulants (apixaban, rivaroxaban). Nevertheless, 16.7 % of the patients without FS took acetylsalicylic acid instead of anticoagulants. The incidence of decreased adherence to treatment in patients without FS was 16.7 %, in patients with PFS — 66.7 %, while in patients with FS — 11.1 % ($p = 0.048$). The restoration of sinus rhythm at the prehospital stage was achieved only in patients without FS in 33.3 % of cases, an adequate reduction in heart rate was achieved in 66.7 % patients without FS, in 33.3 % of patients with PFS and in 16.7 % of patients with FS ($p = 0.026$). In 33.3 % of cases, patients with FS were hospitalized due to the ineffectiveness of pre-hospital treatment, and in 66.6 % of cases due to the detection of symptoms of decompensation of concomitant chronic heart failure. Overall, the hospital admission rate for patients with paroxysmal AF was 33.3 %.

CONCLUSION. The most common reason for geriatric patients with paroxysmal atrial fibrillation seeking emergency care is insufficient rhythm control. Prehospital therapy was effective mainly in patients without frailty-syndrome, when sinus rhythm restoration was achieved in 33.3 % of cases. Hospitalization was necessary in 33.3 % of cases due to the ineffectiveness of prehospital measures or as a result of decompensation of heart failure, which was observed mainly in patients with frailty-syndrome. Patients with pre-frailty turned out to be the least committed group to treatment. It is possible that some of them may have signs of dementia, which makes it difficult to take medications, and are subject to a more in-depth examination by the geriatric service.

Keywords: atrial fibrillation; senile asthenia; myasthenia gravis; emergency care.

For citation: Veber A. D., Maksimova D. S., Eshmakov S. V. Reasons for seeking emergency care for geriatric patients with paroxysmal atrial fibrillation, and the effectiveness of pre-hospital treatment. *Russian Journal of Geriatric Medicine*. 2025 ; 3S (23) : 360–362. DOI: 10.37586/2686-8636-3-2025-360-362

Received: 10.04.2025. Accepted: 14.04.2025. Published online: 26.09.2025.

ДОПОЛНИТЕЛЬНАЯ ИНФОРМАЦИЯ / ADDITIONAL INFORMATION

Финансирование. Исследование не имело спонсорской поддержки.

Funding Sources: This study had no external funding sources.

Конфликт интересов. Авторы декларируют отсутствие явных и потенциальных конфликтов интересов, связанных с содержанием настоящей статьи.

Conflict of Interests. The authors declare no conflicts of interest.

Вклад авторов. Все авторы в равной степени участвовали в разработке концепции

статьи, получении и анализе фактических данных, написании и редактировании текста статьи, проверке и утверждении текста статьи.

Author contribution. All authors according to the ICMJE criteria participated in the development of the concept of the article, obtaining and analyzing factual data, writing and editing the text of the article, checking and ap-proving the text of the article.

ORCID АВТОРОВ:

Вебер А. Д. / Veber A. D. — 0009-0000-5775-7678

Максимова Д. С. / Maksimova D. S. — 0009-0000-3264-7392

Эшмаков С. В. / Eshmakov S. V. — 0009-0003-1772-6289

РЕАБИЛИТАЦИЯ ПАЦИЕНТОВ С САРКОПЕНИЧЕСКИМ ОЖИРЕНИЕМ В РАМКАХ ПРОЕКТА «АКТИВНОЕ ДОЛГОЛЕТИЕ»

DOI: 10.37586/2686-8636-3-2025-363-365

УДК: 616-08-039.71

Кочеткова И. В. ^{*1}, Ключников Н. И. ², Брежнева Н. А. ³, Попов С. Ю. ⁴

¹ ФГБОУ ВО ВГМУ им. Н. Н. Бурденко, Воронеж, Россия

² БУЗ ВО «ВГКБСМП № 8», Воронеж, Россия

³ БУЗ ВО «ВГКП № 1», Воронеж, Россия

⁴ ООО «МЦ «Альдомед», Бутурлиновка, Воронежская обл., Россия

*Автор, ответственный за переписку: Кочеткова Ирина Владимировна.
E-mail: iri4217@yandex.ru

Резюме

АКТУАЛЬНОСТЬ. Российское государство ставит перед собой амбициозную цель — значительное повышение как продолжительности, так и качества жизни граждан, уделяя особое внимание старшему поколению. Ключевым направлением государственной политики становится пропаганда и всесторонняя поддержка активного долголетия. Суть этой стратегии заключается в максимальном вовлечении пожилых людей в трудовую и социальную жизнь, что, в свою очередь, положительно влияет на их физическое и психологическое состояние. Данные Воронежстата (2024 г.) свидетельствуют о том, что пенсионеры составляют внушительную часть населения Воронежской обл. — 42 %. Эта цифра наглядно демонстрирует масштабы задачи, стоящей перед региональными властями по обеспечению достойной жизни и социальной адаптации старшего поколения.

ЦЕЛЬ ИССЛЕДОВАНИЯ. Определить эффективность программы восстановления для женщин 65 лет, имеющих саркопеническое ожирение.

МАТЕРИАЛЫ И МЕТОДЫ. В исследовании участвовали 60 человек, отобранных по определенным критериям. Исследуемые пациенты были классифицированы по наличию или отсутствию саркопенического ожирения. Для анализа эффективности реабилитационного вмешательства сформированы две группы: экспериментальная и контрольная. На протяжении 6 мес. участники экспериментальной группы в дополнение к традиционному лечению проходили реабилитационную программу, разработанную в ВГМУ им. Н. Н. Бурденко. Программа включала в себя физические упражнения, дозированные в соответствии с состоянием и функциональными возможностями пациентов, а также диету с повышенным содержанием белка (1,0 г/кг/сут). Спортивно-оздоровительный комплекс (СОК) ВГМУ им. Н. Н. Бурденко в рамках программы оздоровления пожилых людей предлагает для этой категории пациентов курс из 10 тематических занятий, организованных в научно обоснованном порядке. Занятия продолжительностью 60 мин проводятся 2 раза в неделю в течение 6 мес. в определенной последовательности. В первый день формируется группа и проходит вводная лекция. Участникам разъясняются принципы программы, правила поведения, учитываются индивидуальные пожелания. Проводится медосмотр врачом СОКа для выявления проблем со здоровьем. Завершается день вводным комплексом лечебной гимнастики и знакомством с психологом. Второе занятие начинается с лечебной гимнастики и продолжается в фитобаре обсуждением физиологических изменений в пожилом возрасте с базовыми рекомендациями. В третий день проводится лечебная гимнастика в тренажерном зале и беседа о профилактике старения опорно-двигательного аппарата, а также ознакомительная процедура мануальной терапии. Четвертый день включает занятие в бассейне и обсуждение основ правильного питания и современных диет, принципов ЗОЖ. Пятое занятие — обсуждение методик и выполнение дыхательной гимнастики и ингаляций. Шестой день — занятия на тренажерах, беседа об уходе за кожей и антицеллюлитный массаж, осмотр врача. Седьмое занятие — дозированная ходьба и беседа о ее роли в долголетье. Восьмое — скандинавская ходьба и беседа о ее принципах, плюсах и минусах, занятие с психологом. Завершают программу прогулка на природе (девятый день) и релаксационный комплекс лечебной гимнастики (десятый день).

РЕЗУЛЬТАТЫ. У пациентов экспериментальной группы, страдающих саркопеническим ожирением, после курса реабилитации обнаружены статистически значимые изменения в антропометрии и качестве жизни. Наблюдалось значительное снижение веса (с 90,1 кг до 84,2 кг; $p < 0,001$) и индекса массы тела (ИМТ) (с 32,8 кг/м² до 30,9 кг/м²; $p < 0,001$). В то же время после реабилитационных мероприятий произошло заметное увеличение абсолютной (с 14,8 кг до 16,2 кг; $p < 0,001$) и относительной (с 16 % до 22 %; $p < 0,001$) мышечной массы, а также соотношения ИММ/ИМТ (с 0,459 до 0,583; $p < 0,001$). Оценка качества жизни выявила существенное уменьшение общего балла, что указывает на улучшение различных жизненных аспектов у этих пациентов. У пациентов экспериментальной группы без саркопенического ожирения также зафиксированы статистически значимые перемены в антропометрических показателях и оценке качества жизни. Отмечено выраженное снижение массы тела (с 80,0 кг до 74,9 кг; $p = 0,001$) и ИМТ (с 28,2 кг/м² до 25,3 кг/м²; $p < 0,001$).

ЗАКЛЮЧЕНИЕ. Регулярные физические нагрузки, особенно аэробного характера, стимулируют механизмы восстановления мышечной ткани. Помимо наращивания мышечной массы они положительно влияют на работу сердца и сосудов головного мозга, что особенно актуально для людей, страдающих избыточным весом.

Ключевые слова: саркопения; ожирение; реабилитация.

Для цитирования: Кочеткова И. В., Ключников Н. И., Брежнева Н. А., Попов С. Ю. Реабилитация пациентов с саркопеническим ожирением в рамках проекта «Активное долголетие». *Российский журнал гериатрической медицины*. 2025 ; 3S (23) : 363–365. DOI: 10.37586/2686-8636-3-2025-363-365

Поступила: 10.04.2025. Принята к печати: 17.04.2025. Дата онлайн-публикации: 26.09.2025.

REHABILITATION OF PATIENTS WITH SARCOPENIC OBESITY WITHIN THE FRAMEWORK OF THE ACTIVE LONGEVITY PROJECT

Kochetkova I. V. ^{1*}, Klyushnikov N. I. ², Brezhneva N. A. ³, Popov S. Yu. ⁴

¹ Federal State Budgetary Educational Institution of Higher Education «N. N. Burdenko Voronezh State Medical University» of the Ministry of Healthcare of the Russian Federation, Voronezh, Russia

² Budgetary Healthcare Institution of the Voronezh Region, Municipal Clinical Emergency Hospital (BUZ VGBSMP No. 8), Voronezh, Russia

³ BUZ VGBSMP No. 1, Voronezh, Russia

⁴ Medical Center «Aldomed», Buturlinovka, Voronezh region, Russia

* Corresponding author: Irina Vladimirovna Kochetkova. E-mail: iri4217@yandex.ru

Abstract

BACKGROUND. The Russian government has set itself an ambitious goal — to significantly increase both the duration and quality of life of citizens, paying special attention to the older generation. The promotion and comprehensive support of active longevity is becoming a key area of government policy. The essence of this strategy is to maximize the involvement of older people in work and social life, which, in turn, has a positive effect on their physical and psychological condition. Voronezhstat data for 2024 indicate that pensioners make up an impressive 42 % of the population of the Voronezh Region. This figure clearly demonstrates the scale of the task facing the regional authorities to ensure a decent life and social adaptation of the older generation.

OBJECTIVE. To determine the effectiveness of a recovery program for 65-year-old women with sarcopenic obesity.

MATERIALS AND METHODS. The study involved 60 people selected according to certain criteria. The studied patients were classified according to the presence or absence of sarcopenic obesity. To analyze the effectiveness of rehabilitation intervention, two groups were formed: experimental and control. For 6 months, the participants of the experimental group, in addition to traditional treatment, underwent a rehabilitation program developed at the N. N. Burdenko State Medical University. The program included physical exercises, dosed according to the condition and functional capabilities of the patients, as well as a high-protein diet (1.0 g/kg/day). The Sports Complex (SC) of the N. N. Burdenko VSMU, as part of the program for the rehabilitation of the elderly, offers a course of 10 thematic classes organized in a scientifically based manner for this category of patients. Classes lasting 60 minutes are held 2 times a week for 6 months in a certain sequence. On the first day, a group is formed and an introductory lecture is held. Participants are explained the principles of the program, rules of conduct, individual wishes are taken into account. A medical examination is conducted by a doctor to identify health problems. The day ends with an introductory complex of therapeutic gymnastics and an introduction to the psychologist. The second session starts with therapeutic gymnastics and continues in the phytobar with a discussion of physiological changes in old age with basic recommendations. The third day includes therapeutic gymnastics in the gym and a talk on the prevention of aging of the musculoskeletal system, as well as an introductory chiropractic procedure. The fourth day includes a session in the swimming pool and discussion of the basics of proper nutrition and modern diets, principles of healthy lifestyle. The fifth session — discussion of techniques and performance of breathing exercises and inhalations. The sixth day — exercise machines, discussion about skin care and anti-cellulite massage, doctor's examination. The seventh session — dosed walking and a talk about its role in longevity. Eighth session — Nordic walking and a talk about its principles, pros and cons, a session with a psychologist. The program is completed by a walk in nature (ninth day) and a relaxation complex of therapeutic gymnastics (tenth day).

RESULTS. In the experimental group of patients suffering from sarcopenic obesity, statistically significant changes in anthropometry and quality of life were found after the rehabilitation course. There was a significant decrease in weight (from 90.1 kg to 84.2 kg; $p < 0.001$) and body mass index (BMI) (from 32.8 kg/m² to 30.9 kg/m²; $p < 0.001$). At the same time, after rehabilitation measures, there was a noticeable increase in absolute (from 14.8 kg to 16.2 kg; $p < 0.001$) and relative (from 16 % to 22 %; $p < 0.001$) muscle mass, as well as the MMI/BMI

ratio (from 0.459 to 0.583; $p < 0.001$). The assessment of quality of life revealed a significant decrease in the overall score, which indicates an improvement in various aspects of life in these patients. Statistically significant changes in anthropometric indicators and quality of life assessment were also recorded in patients of the experimental group without sarcopenic obesity. There was a marked decrease in body weight (from 80.0 kg to 74.9 kg; $p = 0.001$) and BMI (from 28.2 kg/m² to 25.3 kg/m²; $p < 0.001$).

CONCLUSION. Regular physical activity, especially of an aerobic nature, stimulates the mechanisms of muscle tissue repair. In addition to building muscle mass, they have a positive effect on the functioning of the heart and blood vessels of the brain, which is especially important for overweight people.

Keywords: sarcopenia; obesity; rehabilitation.

For citation: Kochetkova I. V., Klyushnikov N. I., Brezhneva N. A., Popov S. Yu. Rehabilitation of patients with sarcopenic obesity within the framework of the Active Longevity project. *Russian Journal of Geriatric Medicine.* 2025 ; 3S (23) : 363–365. DOI: 10.37586/2686-8636-3-2025-363-365

Received: 10.04.2025. Accepted: 17.04.2025. Published online: 26.09.2025.

ДОПОЛНИТЕЛЬНАЯ ИНФОРМАЦИЯ / ADDITIONAL INFORMATION

Финансирование. Исследование не имело спонсорской поддержки.

Funding Sources: This study had no external funding sources.

Конфликт интересов. Авторы декларируют отсутствие явных и потенциальных конфликтов интересов, связанных с содержанием настоящей статьи.

Conflict of Interests. The authors declare no conflicts of interest.

Вклад авторов. Все авторы в равной степени участвовали в разработке концепции

статьи, получении и анализе фактических данных, написании и редактировании текста статьи, проверке и утверждении текста статьи.

Author contribution. All authors according to the ICMJE criteria participated in the development of the concept of the article, obtaining and analyzing factual data, writing and editing the text of the article, checking and approving the text of the article.

ORCID АВТОРОВ:

Кочеткова И. В. / Kochetkova I. V. — 0000-0002-7546-6679
Клюшников Н. И. / Klyushnikov N. I. — 0000-0001-6337-7129
Брежнева Н. А. / Brezhneva N. A. — 0009-0002-0491-0127
Попов С. Ю. / Popov S. Yu. — 0000-0002-7914-0756

ПЕРСОНАЛИЗИРОВАННЫЙ ПОДХОД К ПРОФИЛАКТИКЕ АРТЕРИАЛЬНОЙ ГИПЕРТЕНЗИИ У ПАЦИЕНТОВ ВОЗРАСТНОЙ ГРУППЫ 65 ЛЕТ И СТАРШЕ

DOI: 10.37586/2686-8636-3-2025-366-368

УДК: 616.12-008.331.1

Киреева В. В. ^{*1,2}, Лепехова С. А. ², Бессонова Л. О. ³

¹ ФГБУЗ Клиническая больница ИНЦ СО РАН, Иркутск, Россия

² ФГБУН ФИЦ «Иркутский институт химии им. А. Е. Фаворского СО РАН», Иркутск, Россия

³ ОГБУЗ «Клинический госпиталь ветеранов войн», Иркутск, Россия

* Автор, ответственный за переписку: Киреева Виктория Владимировна.

E-mail: ms.kireevav@mail.ru

Резюме

Исследование проведено для оценки качества жизни пациентов пожилого и старческого возрастов с артериальной гипертензией (АГ); с этой целью изучены результаты использования Европейского опросника оценки качества жизни (European Quality of Life Questionnaire, EQ-5D-3L) и Госпитальной шкалы тревоги и депрессии (Hospital Anxiety and Depression Scale, HADS) для этих пациентов. Применение опросников в исследовании позволило установить, что по сравнению с пациентами без АГ у пациентов с АГ чаще встречаются трудности в повседневной жизни и выше уровень тревоги и депрессии. По итогам исследования рекомендовано на амбулаторном этапе ведения пациентов старшей возрастной группы с АГ проводить опрос с использованием EQ-5D-3L и HADS и после оценки его результатов добавлять в программу реабилитации мероприятия по коррекции физического и психического компонентов качества жизни, что в дальнейшем позволит избежать осложнений АГ и увеличить продолжительность жизни пациентов с этим заболеванием. **АКТУАЛЬНОСТЬ.** В нашей стране в области старения населения характерно увеличение численности жителей в возрасте старше трудоспособного и рост продолжительности жизни населения. Отмечено, что около 80 % лиц старшего поколения страдают полиморбидной хронической патологией. Чаще всего у 1 пациента старше 60 лет обнаруживаются более 4 хронических заболеваний и возрастает потребность в оказании медицинской помощи. АГ — одно из самых часто встречающихся заболеваний сердечно-сосудистой системы с осложнениями, вызывающими инвалидизацию и преждевременную смертность, особенно в старшей возрастной группе пациентов. АГ не только имеет высокие риски осложнений, но и приводит к снижению качества жизни больных, ухудшая их психологическое и физическое состояние. С помощью специфических опросников можно оценить одну конкретную категорию качества жизни (физическое или психическое состояние) или оценить качество жизни при определенном заболевании. По результатам анкетирования пациентов с АГ можно внести в программы профилактических мероприятий при диспансерном наблюдении меры по коррекции психологического и физического компонентов качества жизни.

ЦЕЛЬ ИССЛЕДОВАНИЯ. Оценить качество жизни пациентов пожилого и старческого возрастов с АГ на основании изучения результатов опросов по анкетам EQ-5D-3L и HADS.

МАТЕРИАЛЫ И МЕТОДЫ. Объектом исследования были 120 пациентов старше 65 лет, страдающие АГ и подписавшие информированное согласие на обработку данных в рамках научного исследования (основная группа), и 40 пациентов этой же возрастной группы, не страдающие АГ (контрольная группа). Всем участникам исследования проводились физикальное и лабораторное обследования. Дополнительно все пациенты были проанкетированы с помощью опросников EQ-5D-3L и HADS.

РЕЗУЛЬТАТЫ. В результате проведенного исследования было выявлено, что пациенты 65+, страдающие АГ, чаще по сравнению с контрольной группой имеют избыточную массу тела или ожирение. Применение опросников в исследовании позволило установить нижеперечисленные факты. У пациентов с АГ чаще по сравнению с пациентами без АГ встречаются трудности в повседневной жизни и повышенные уровни тревоги и депрессии. Так, в основной группе 8–10 баллов по шкале тревоги имеют 26,6 % пациентов (в контрольной группе — 0 %); более 10 баллов — 7,6 % (в контрольной группе — 0 %). Зарегистрирован факт более частой встречаемости депрессии у пациентов с АГ: 8–10 баллов имеют 16,5 % (в контрольной группе — 0 %). Это говорит о том, что таким пациентам необходима коррекция психоэмоционального состояния. Кроме того, статистически значимо ($p < 0,05$) установлено, что пациенты, имеющие сочетанную патологию (ИБС + АГ или СД + АГ), чаще испытывают трудности при ходьбе. Это достоверно связано с наличием у них болевого синдрома или дискомфорта при движениях. Таким образом, подтверждается, что пациенты с полиморбидной патологией имеют сниженный компонент качества жизни. Анкетирование пациентов, страдающих АГ, показало, что с достоверной долей вероятности ($p < 0,001$) трудности при ходьбе тесно коррелируют с возрастом. Данные результатов исследования в группе женщин старшей возрастной группы, страдающих АГ, показали, что в женской когорте таких пациентов, так же как и в общей группе, установлена достоверная ($p < 0,05$) связь между выраженностью абдоминального ожирения (обхват талии > 88 см) и риском сердечно-сосудистых заболеваний.

ЗАКЛЮЧЕНИЕ. С учетом результатов проведенного исследования рекомендовано на амбулаторном этапе ведения пациентов проводить анкетирование по опросникам EQ-5D-3L и HADS и после оценки его результатов добавлять в программы реабилитации мероприятия по коррекции физического и психического компонентов качества жизни. Имея информацию, полученную в результате анкетирования пациентов, возможно провести коррекцию диеты, режима дня, поведения пациента, а также фармакокоррекцию и в итоге оптимизировать качество жизни, что в дальнейшем позволит избежать осложнений АГ и увеличить продолжительность жизни пациентов с этим заболеванием.

Ключевые слова: артериальная гипертензия; пожилой и старческий возраст; качество жизни; профилактика; опросники.

Для цитирования: Киреева В. В., Лепехова С. А., Бессонова Л. О. Персонализированный подход к профилактике артериальной гипертензии у пациентов возрастной группы 65 лет и старше. *Российский журнал гериатрической медицины*. 2025 ; 3S (23) : 366–368. DOI: 10.37586/2686-8636-3-2025-366–368

Поступила: 10.04.2025. Принята к печати: 17.04.2025. Дата онлайн-публикации: 26.09.2025.

PERSONALIZED APPROACH TO THE PREVENTION OF ARTERIAL HYPERTENSION IN PATIENTS OF THE OLDER AGE GROUP 65+T

Kireeva V. V. ^{*1,2}, Lepekhova S. A. ², Bessonova L. O. ³

¹ Clinical Hospital of the Irkutsk Scientific Center of the Siberian Branch of the Russian Academy of Sciences, Irkutsk, Russia

² Irkutsk Institute of Chemistry named after A. E. Favorsky Siberian Branch of the Russian Academy of Sciences, Irkutsk, Russia

³ Clinical Hospital for War Veterans, Irkutsk, Russia

* Corresponding author: Kireeva Victoria Vladimirovna. E-mail: ms.kireevav@mail.ru

Abstract

The study was conducted to assess the quality of life of elderly and senile patients with arterial hypertension (AH); for this purpose, the results of using the European Quality of Life Questionnaire (EQ-5D-3L) and the Hospital Anxiety and Depression Scale (HADS) for these patients were studied. It was found that, compared with patients without hypertension, patients with hypertension have more difficulties in daily life and higher levels of anxiety and depression. At the outpatient stage of management of patients in the older age group with hypertension, conduct a survey using EQ-5D-3L and HADS and, after evaluating its results, add measures to the rehabilitation program to correct the physical and mental components of quality of life, which will further avoid complications of hypertension and increase the life expectancy of patients with this disease.

BACKGROUND. In our country, the aging of the population is characterized by an increase in the number of residents over the age of able-bodied and an increase in life expectancy. It is noted that about 80 % of the older generation suffer from polymorbid chronic pathology. Most often, 1 patient over the age of 60 has more than 4 chronic diseases and the need for medical care increases. Hypertension is one of the most common diseases of the cardiovascular system with complications that cause disability and premature mortality, especially in the older age group of patients. Hypertension not only has high risks of complications, but also leads to a decrease in the quality of life of patients, worsening their psychological and physical condition. Specific questionnaires can be used to assess one specific category of quality of life (physical or mental condition). or to assess the quality of life for a certain disease. Based on the results of the survey of patients with hypertension, it is possible to introduce measures to correct the psychological and physical components of quality of life into the programs of preventive measures during dispensary supervision.

OBJECTIVE. To evaluate the quality of life of elderly and senile patients with hypertension based on the results of surveys using the EQ-5D-3L and HADS questionnaires.

MATERIALS AND METHODS. The object of the study was 120 patients over 65 years old with hypertension who signed an informed consent to data processing in the framework of a scientific study (the main group), and 40 patients of the same age group who did not suffer from hypertension (the control group). All study participants underwent physical and laboratory examinations. Additionally, all patients were surveyed using the EQ-5D-3L and HADS questionnaires.

RESULTS. As a result of the study, it was revealed that 65+ patients suffering from hypertension are more likely to be overweight or obese compared to the control group. The use of questionnaires in the study allowed us to establish the following facts. Patients with hypertension are more likely than the control group to experience difficulties in daily life and increased levels of anxiety and depression. Thus, 26.6 % of AH sufferers have 8–10 points on the anxiety scale (0 % in the control group); more than 10 points — 7.6 % (0 % in the control group). The fact of a more frequent occurrence of depression in patients with hypertension has been recorded:

16.5 % have 8–10 points (0 % in the control group). This suggests that these patients need a correction of their psychoemotional state. In addition, it was found statistically significantly ($p < 0.05$) that patients with combined pathology (CHD + AH or DM + AH) are more likely to have difficulty walking. This is significantly related to the presence of pain or discomfort during movement. Thus, it is confirmed that patients with polymorbid pathology have a reduced quality of life component. A survey of patients with hypertension showed that with a significant degree of probability ($p < 0.001$), walking difficulties are closely correlated with age. The data from the results of the study in the group of older women suffering from hypertension showed that in the female cohort of such patients, as well as in the general group, a significant ($p < 0.05$) relationship was established between the severity of abdominal obesity (waist circumference >88 cm) and the risk of cardiovascular diseases.

CONCLUSION. Based on the results of the study, it is recommended to conduct an EQ-5D-3L and HADS questionnaire at the outpatient stage of patient management and, after evaluating the results, add measures to correct the physical and mental components of quality of life to rehabilitation programs.

With the information obtained as a result of the patient survey, it is possible to correct the diet, daily routine, patient behavior, as well as pharmacocorrection and, as a result, optimize the quality of life, which will further avoid complications of hypertension and increase the life expectancy of patients with this disease.

Keywords: arterial hypertension; elderly and senile age; quality of life; prevention; questionnaires.

For citation: Kireeva V. V., Lepekhova S. A., Bessonova L. O. Personalized approach to the prevention of arterial hypertension in patients of the older age group 65+. *Russian Journal of Geriatric Medicine*. 2025 ; 3S (23) : 366–368. DOI: 10.37586/2686-8636-3-2025-366–368

Received: 10.04.2025. Accepted: 17.04.2025. Published online: 26.09.2025.

ДОПОЛНИТЕЛЬНАЯ ИНФОРМАЦИЯ / ADDITIONAL INFORMATION

Финансирование. Исследование не имело спонсорской поддержки.

Funding Sources: This study had no external funding sources.

Конфликт интересов. Авторы декларируют отсутствие явных и потенциальных конфликтов интересов, связанных с содержанием настоящей статьи.

Conflict of Interests. The authors declare no conflicts of interest.

Вклад авторов. Все авторы в равной степени участвовали в разработке концепции

статьи, получении и анализе фактических данных, написании и редактировании текста статьи, проверке и утверждении текста статьи.

Author contribution. All authors according to the ICMJE criteria participated in the development of the concept of the article, obtaining and analyzing factual data, writing and editing the text of the article, checking and approving the text of the article.

ORCID АВТОРОВ:

Киреева В. В. / Kireeva V. V. — 0000-0003-3696-9799

Лепехова С. А. / Lepekhova S. A. — 0000-0002-7961-4421

Бессонова Л. О. / Bessonova L. O. — 0000-0002-1806-098X

ОЦЕНКА ВЫРАЖЕННОСТИ ИНВОЛЮТИВНОЙ САРКОПЕНИИ В ГЕНДЕРНЫХ ГРУППАХ ПАЦИЕНТОВ СТАРШЕГО ВОЗРАСТА КАК ПРЕДИКТИВНЫЙ СКРИНИНГОВЫЙ МЕТОД АКТИВНОГО ДОЛГОЛЕТИЯ

DOI: 10.37586/2686-8636-3-2025-369-371

УДК: 616.74-007.23-053.9:612.68

Медведев Н. В.  *

ФГБОУ ВО КГМУ Минздрава России, Курск, Россия

*Автор, ответственный за переписку, Медведев Николай Вячеславович.

E-mail: medvedevnv@kursksmu.net

Резюме

АКТУАЛЬНОСТЬ. Активное долголетие — собирательное понятие, включающее в себя комплекс факторов, характеризующих особенности образа жизни, когнитивных интересов, физической и социальной активности. В обеспечении полноценного функционирования человеческого организма по достижении пожилого и особенно старческого возраста важную роль играет сохранение и поддержание физических возможностей. Их постепенно прогрессирующее ограничение в значительной мере ассоциировано с формированием синдрома саркопении (СП), проявляющегося снижением мышечной силы и уменьшением ее массы. СП — весомый гериатрический синдром, требующий своевременной коррекции для предупреждения или уменьшения степени имеющихся ограничений жизнедеятельности, сохранения функциональной независимости лиц старшего возраста, влияющей на качество их жизни.

ЦЕЛЬ ИССЛЕДОВАНИЯ. Оценить степень выраженности СП у мужчин и женщин старшего возраста для оценки их потенциальной способности достичь состояния активного долголетия.

МАТЕРИАЛЫ И МЕТОДЫ. Объект обследования — случайная выборка из 120 пациентов (по 30 мужчин и женщин пожилого и старческого возраста, средний возраст — $(77,3 \pm 2,5)$ года), которые обратились в отделения медицинской профилактики поликлиник г. Курска для прохождения ежегодной диспансеризации. У всех пациентов оценены показатели кистевой динамометрии для суждения о сохранении или снижении мышечной силы обеих рук, рассчитан силовой индекс (СИ), отражающий ее процентное отношение к массе тела. Проведено краткое анкетирование участников исследования с применением скринингового опросника SARC-F для установления индивидуальной вероятности развития СП в баллах, косвенно сокращающей потенциальные возможности достижения активного долголетия. Статистический анализ результатов проведен методами описательной статистики; нормальность распределения установлена по критерию Шапиро — Уилка при $p < 0,01$; достоверность различий между изучаемыми показателями оценена по критерию Стьюдента при $p < 0,05$. Сила и направленность связи между исследуемыми признаками определена на основе коэффициента корреляции по методу Пирсона.

РЕЗУЛЬТАТЫ. Проведенная скрининговая оценка с помощью опросника SARC-F выявила у 64 % респондентов вероятную СП, а у 36 % обследованных пациентов — ее отсутствие. У женщин пожилого возраста выраженность СП согласно самооценке оказалась достоверно выше, чем у мужчин аналогичного возраста ($(5,5 \pm 0,4)$ балла против $(4,60 \pm 0,25)$ балла; $p < 0,05$). Показатели динамометрии левой и правой кисти у женщин составили $(10,7 \pm 1,5)$ кг и $(12,8 \pm 1,6)$ кг соответственно, в то время как у их ровесников-мужчин они оказались достоверно более высокими: $(26,3 \pm 2,4)$ кг и $(27,5 \pm 2,7)$ кг соответственно ($p < 0,001$). Величина СИ в группе женщин оказалась значительно ниже, чем у мужчин ($(14,6 \pm 2,2)$ % против $(25,2 \pm 2,1)$ %; $p < 0,001$), что косвенно подтверждало более выраженную степень их физических ограничений и, соответственно, большую потребность в посторонней помощи. Выраженность СП у лиц старческой возрастной подгруппы, оцененная анкетным методом в баллах, найдена на более высоком уровне, чем у представителей пожилой группы, гендерных различий не выявлено. Согласно результатам динамометрии, сила левой и правой руки у женщин оказалась достоверно ниже, чем у мужчин ($(4,3 \pm 1,2)$ кг против $(16,2 \pm 1,5)$ кг и $(6,1 \pm 1,3)$ кг против $(19,3 \pm 2,1)$ кг соответственно), так же как и СИ ($(5,5 \pm 1,4)$ % против $(18,7 \pm 2,0)$ %) ($p < 0,001$). Сравнение величин СИ между подгруппами пациентов пожилого и старческого возраста подтвердило аналогичные различия ($p < 0,001$) в пользу более молодых пациентов. В группе мужчин и женщин старше 75 лет выявлены сильные обратные корреляции между показателями индекса СП и динамометрии ($r = -0,70$ и $r = -0,63$; $p < 0,01$), что указывает на значительно выраженную связь возрастных изменений в мышечной системе и ограничений жизнедеятельности. У представителей пожилой группы указанные корреляции имели меньшую величину ($r = -0,43$ и $r = -0,38$; $p < 0,05$), что может служить предиктором состояния относительной компенсации функционального снижения силы мышц при умеренно выраженных структурных изменениях в них на фоне старения, тем самым свидетельствуя о сохранении потенциала достижения активного долголетия при условии соблюдения оптимального режима питания и физических нагрузок.

ЗАКЛЮЧЕНИЕ. Наибольшая выраженность инволютивной СП, установленная у лиц старческого возраста, особенно в подгруппе женщин, верифицирует большую вероятность развития их функциональной зависимости, служит предиктором высокого риска неблагоприятных медико-социальных последствий, что повышает актуальность ее раннего выявления, динамического контроля и своевременной профилактики в амбулаторной практике. Мероприятия, направленные на замедление прогрессирования возраст-ассоциированной СП, должны включать полноценную диету и комплексы физических упражнений; их систематическое применение позволит заложить фундамент как индивидуального, так и популяционного активного долголетия и профилактики старческой астении.

Ключевые слова: активное долголетие; инволютивная саркопения; динамометрия; гендерные различия; функциональная независимость.

Для цитирования: Медведев Н. В. Оценка выраженности инволютивной саркопии в гендерных группах пациентов старшего возраста как предиктивный скрининговый метод активного долголетия. *Российский журнал гериатрической медицины*. 2025 ; 3S (23) : 369–371. DOI: 10.37586/2686-8636-3-2025-369-371

Поступила: 10.04.2025. Принята к печати: 17.04.2025. Дата онлайн-публикации: 26.09.2025.

ASSESSMENT OF THE INVOLUTIVE SARCOPENIA SEVERITY IN GENDER GROUPS OF ELDERLY PATIENTS AS A PREDICTIVE SCREENING METHOD OF ACTIVE LONGEVITY

Medvedev N. V. *

Kursk State Medical University, Kursk, Russia

* Corresponding author: Medvedev Nikolai Vyacheslavovich.

E-mail: medvedevnv@kursksmu.net

Abstract

BACKGROUND. Progressive limitation of life activity with aging is largely associated with the development of sarcopenia, a geriatric syndrome characterized by decreased muscle strength and mass, requiring timely correction to maintain functional independence and quality of life in older people.

OBJECTIVE: to assess the severity of sarcopenia in older men and women to assess their potential for achieving active longevity.

MATERIALS AND METHODS. The object of the study was a random sample of 120 patients (30 men and women of elderly and senile age, mean age — (77.3 ± 2.5) years) who went to the medical prevention departments of polyclinics in Kursk to undergo annual medical examination. Kursk to undergo annual medical examination. All patients were evaluated by carpal dynamometry to judge whether the muscle strength of both arms was preserved or decreased, and the strength index (SI) was calculated, reflecting its percentage relation to body weight. A brief questionnaire was administered to the study participants using the SARC-F screening questionnaire to determine the individual probability of SP development in points, indirectly reducing the potential for achieving active longevity. Statistical analysis of the results was carried out by descriptive statistics methods; normality of distribution was established by the Shapiro-Wilk test at $p < 0.01$; reliability of differences between the studied indicators was assessed by Student's test at $p < 0.05$. The strength and direction of the relationship between the studied characteristics was determined on the basis of the Pearson correlation coefficient.

RESULTS. Screening assessment with the SARC-F questionnaire revealed probable SP in 64 % of the respondents, and in 36 % of the examined patients - its absence. In elderly women, self-assessed SP was significantly higher than in men of similar age ((5.5 ± 0.4) points vs. (4.60 ± 0.25) points; $p < 0.05$). The left and right hand dynamometry values in women were (10.7 ± 1.5) kg and (12.8 ± 1.6) kg, respectively, while in their male peers they were significantly higher: (26.3 ± 2.4) kg and (27.5 ± 2.7) kg, respectively ($p < 0.001$). The SI in women was significantly lower than in men ((14.6 ± 2.2) % vs. (25.2 ± 2.1) %; $p < 0.001$), which indirectly confirmed the more pronounced degree of their physical limitations and, consequently, their greater need for assistance. The expression of SP in the elderly subgroup, assessed by the questionnaire method in points, was found at a higher level than in the elderly group; no gender differences were revealed. According to the results of dynamometry, left and right arm strength in women was significantly lower than in men ((4.3 ± 1.2) kg vs. (16.2 ± 1.5) kg and (6.1 ± 1.3) kg vs. (19.3 ± 2.1) kg, respectively), as well as SI ((5.5 ± 1.4) % vs. (18.7 ± 2.0) %) ($p < 0.001$). Comparison of SI values between subgroups of elderly and elderly patients confirmed similar differences ($p < 0.001$) in favor of younger patients. In the group of men and women over 75 years of age, strong inverse correlations were found between the SP index and dynamometry ($r = -0.70$ and $r = -0.63$; $p < 0.01$), indicating a significantly pronounced relationship between age-related changes in the muscular system and limitations of vital activity. In representatives of the elderly group, these correlations were smaller ($r = -0.43$ and $r = -0.38$; $p < 0.05$), which may serve as a predictor of relative compensation for the functional decline in muscle strength with moderately pronounced structural

changes in them against the background of aging, thereby indicating the preservation of the potential to achieve active longevity, provided that the optimal diet and exercise regimen is followed.

CONCLUSION. The greatest severity of involutinal sarcopenia, established in elderly women, confirms a higher probability of developing their functional dependence, serves as a predictor of a high risk of adverse medical and social consequences. Measures aimed at slowing the development and progression of age-associated sarcopenia will serve as the basis for achieving both individual and population-wide active longevity.

Keywords: active longevity; involutinal sarcopenia; dynamometry; gender differences; functional independence.

For citation: Medvedev N. V. Assessment of the involutive sarcopenia severity in gender groups of elderly patients as a predictive screening method of active longevity. *Russian Journal of Geriatric Medicine*. 2025 ; 3S (23) : 369-371. DOI: 10.37586/2686-8636-3-2025-369-371

Received: 10.04.2025. Accepted: 17.04.2025. Published online: 26.09.2025.

ДОПОЛНИТЕЛЬНАЯ ИНФОРМАЦИЯ / ADDITIONAL INFORMATION

Финансирование. Исследование не имело спонсорской поддержки.

Funding Sources: This study had no external funding sources.

Конфликт интересов. Автор декларирует отсутствие явных и потенциальных конфликтов

интересов, связанных с содержанием настоящей статьи.

Conflict of Interests. The author declares no conflicts of interest.

ORCID АВТОРА:

Медведев Н. В. / Medvedev N. V. — 0009-0005-5866-6141

ПАТОФИЗИОЛОГИЧЕСКИЕ АСПЕКТЫ ВЗАИМОСВЯЗИ ФИЗИЧЕСКОЙ АКТИВНОСТИ С БИОМАРКЕРАМИ СТАРЕНИЯ

DOI: 10.37586/2686-8636-3-2025-372-374

УДК: 616-092, 613.98

Сопромадзе А. Г. ¹, Добрынин Д. В. ^{2*}

¹ ФГБВОУ ВО «Военно-медицинская академия им. С. М. Кирова» МО РФ, Санкт-Петербург, Россия

² ФКУЗ «МСЧ МВД России по г. Санкт-Петербургу и Ленинградской области», Санкт-Петербург, Россия

*Автор, ответственный за переписку, Добрынин Дмитрий Владимирович.
E-mail: dr.dobrynin@mail.ru

Резюме

Во всем мире прогнозируется рост числа пожилых людей, что увеличивает потребность в стратегиях продления здоровой жизни. Регулярная физическая активность способна предотвратить многие возрастные заболевания, включая сердечно-сосудистые патологии, диабет и когнитивные нарушения. Она положительно воздействует на ключевые биомаркеры старения: усиливает антиоксидантную защиту, подавляет воспаление, сохраняет длину теломер и улучшает липидный профиль крови. Тем не менее точные молекулярно-клеточные механизмы такого благотворного эффекта требуют дальнейших исследований.

АКТУАЛЬНОСТЬ. Средняя продолжительность жизни в развитых странах, согласно прогнозам, достигнет 80 лет, что приведет к росту доли пожилых людей до 1/4 мирового населения к 2050 году. При этом продолжительность здоровой жизни отстает от общей, увеличивая период нетрудоспособности. Стратегиями улучшения здорового долголетия предлагаются регулярные физические нагрузки, способные предотвращать или уменьшать выраженность многих хронических заболеваний, ассоциированных с возрастом, таких как ишемическая болезнь сердца, хроническая сердечная недостаточность, сахарный диабет 2 типа, хроническая обструктивная болезнь легких, остеопороз, депрессия и деменция. При этом патофизиологические механизмы такого влияния остаются недостаточно изученными.

ЦЕЛЬ ИССЛЕДОВАНИЯ. Анализ научных данных по взаимосвязи физической активности с биомаркерами возраст-ассоциированных заболеваний.

МАТЕРИАЛЫ И МЕТОДЫ. Проведен аналитический обзор научной литературы за последнее десятилетие, посвященной методам оценки влияния физической активности на биомаркеры возраст-ассоциированных физиологических изменений и возрастных заболеваний. Анализ проводили с помощью электронных баз данных (PubMed, UpToDate) и интернет-поисковика (Google Scholar) по ключевым словам: физическая активность, старение, пожилые, биомаркеры, возрастные заболевания.

РЕЗУЛЬТАТЫ. Физическая активность оказывает влияние на ряд маркеров старения, отражающих состояние организма. Улучшается чувствительность тканей к инсулину, снижается риск сахарного диабета 2 типа. Наблюдается уменьшение концентрации свободных радикалов и усиление антиоксидантной защиты. Под влиянием регулярной физической нагрузки зафиксировано снижение уровней воспалительных цитокинов. Физическая активность способствует сохранению длины теломер, замедляя клеточное старение. Повышается активность теломеразы, что предотвращает укорочение теломер. Снижается уровень липопротеинов низкой плотности и триглицеридов, а также стрессового гормона кортизола. Увеличивается концентрация дегидроэпиандростерона, обладающего антивозрастными эффектами. Повышается уровень нейротрофического фактора (BDNF), который важен для поддержания когнитивной функции. Уменьшаются уровни гомоцистеина и С-реактивного белка, что снижает риск нейродегенеративных заболеваний. Эти маркеры указывают на то, что физическая активность влияет на различные патофизиологические механизмы возраст-ассоциированных заболеваний.

ЗАКЛЮЧЕНИЕ. Регулярные физические нагрузки снижают вероятность возникновения множества хронических заболеваний, таких как болезни сердца, метаболические расстройства и остеопороз. Несмотря на очевидную пользу, механизмы влияния физической активности на состояние здоровья пожилых пациентов недостаточно изучены. Физическая нагрузка замедляет клеточное старение, влияя на скорость укорочения теломер, вызывает эпигенетические изменения, усиливающие экспрессию генов, обеспечивающих антиоксидантную защиту. Кроме того, физическая активность уменьшает выраженность воспаления, улучшает функцию митохондрий, активирует аутофагию, повышает выработку миокинов. Эти процессы подтверждаются связью между физической активностью и различными биомаркерами старения.

Ключевые слова: физическая активность; старение; пожилые; биомаркеры; возрастные заболевания.

Для цитирования: Сопромадзе А. Г., Добрынин Д. В. Патофизиологические аспекты взаимосвязи физической активности с биомаркерами старения. *Российский журнал гериатрической медицины*. 2025 ; 3S (23) : 372–374. DOI: 10.37586/2686-8636-3-2025-372-374

Поступила: 10.04.2025. Принята к печати: 17.04.2025. Дата онлайн-публикации: 26.09.2025.

PATHOPHYSIOLOGICAL ASPECTS OF THE RELATIONSHIP OF PHYSICAL ACTIVITY WITH BIOMARKERS OF AGING

Sopromadze A. G. ¹, Dobrynin D. V. ^{2*}

¹ S. M. Kirov Military Medical Academy, St.-Peterburg, Russia

² Medical and sanitary unit of the Ministry of Internal Affairs of the Russian Federation in St. Petersburg and the Leningrad region, St.-Peterburg, Russia

* Corresponding author: Dobrynin Dmitry Vladimirovich. E-mail: dr.dobrynin@mail.ru

Abstract

The number of elderly people is projected to increase, which increases the need for strategies to prolong a healthy life. Regular physical activity can prevent many age-related diseases, including cardiovascular diseases, diabetes, and cognitive impairment. It has a positive effect on key biomarkers of aging: it enhances antioxidant protection, suppresses inflammation, preserves telomere length and improves blood lipid profile. However, the exact molecular and cellular mechanisms of this beneficial effect require further research.

BACKGROUND. The average life expectancy in developed countries is projected to reach 80 years, which will lead to an increase in the proportion of the elderly population to a quarter of the world's population by 2050. At the same time, the duration of a healthy life lags behind the general one, increasing the period of disability. Strategies for improving healthy longevity include regular physical activity that can prevent or reduce the severity of many age-related chronic diseases, such as coronary heart disease, chronic heart failure, type 2 diabetes, COPD, osteoporosis, depression, and dementia. At the same time, the pathophysiological mechanisms of this effect remain insufficiently studied.

OBJECTIVE. Analysis of scientific data on the relationship of physical activity with biomarkers of age-related diseases.

MATERIALS AND METHODS. An analytical review of the scientific literature over the last decade devoted to methods for assessing the impact of physical activity on biomarkers of age-associated physiological changes and age-related diseases has been conducted. The analysis was performed using electronic databases (PubMed, UpToDate) and an Internet search engine (Google Scholar) for keywords: physical activity, aging, the elderly, biomarkers, age-related diseases.

RESULTS. Physical activity affects a number of markers of aging that reflect the state of the body. The sensitivity of tissues to insulin improves, and the risk of type 2 diabetes mellitus decreases. There is a decrease in the concentration of free radicals and an increase in antioxidant protection. A decline in inflammatory cytokine levels was observed in response to regular physical activity. The practice of physical activity has been demonstrated to contribute to the maintenance of optimal telomere length by modulating the process of cellular aging. Telomerase activity increases, thereby preventing telomere shortening. A decline in LDL and triglyceride levels is observed. The level of the stress hormone cortisol decreases. The concentration of dehydroepiandrosterone, which has anti-aging effects, increases. The level of neurotrophic factor (BDNF) increases, which is important for maintaining cognitive function. Homocysteine and C-reactive protein levels decrease, which reduces the risk of neurodegenerative diseases. These markers indicate that physical activity affects various pathophysiological mechanisms of age-related diseases.

CONCLUSION. Regular physical activity reduces the likelihood of many chronic diseases, such as heart disease, metabolic disorders, and osteoporosis. Despite the obvious benefits, the mechanisms of influence of physical activity have not been sufficiently studied. Physical activity slows down cellular aging, affecting the rate of telomere shortening, and causes epigenetic changes that enhance the expression of genes providing antioxidant protection. In addition, physical activity reduces the severity of inflammation, improves mitochondrial function, activates autophagy, and increases the production of myokines. These processes are confirmed by the connection between physical activity and various biomarkers of aging.

Keywords: physical activity; aging; the elderly; biomarkers; age-related diseases.

For citation: Sopromadze A. G., Dobrynin D. V. Pathophysiological aspects of the relationship of physical activity with biomarkers of aging. *Russian Journal of Geriatric Medicine*. 2025 ; 3S (23) : 372–374. DOI: 10.37586/2686-8636-3-2025-372-374

Received: 10.04.2025. Accepted: 17.04.2025. Published online: 26.09.2025.

ДОПОЛНИТЕЛЬНАЯ ИНФОРМАЦИЯ / ADDITIONAL INFORMATION

Финансирование. Исследование не имело спонсорской поддержки.

Funding Sources: This study had no external funding sources.

Конфликт интересов. Авторы декларируют отсутствие явных и потенциальных конфликтов интересов, связанных с содержанием настоящей статьи.

Conflict of Interests. The authors declare no conflicts of interest.

Вклад авторов. Все авторы в равной степени участвовали в разработке концепции

статьи, получении и анализе фактических данных, написании и редактировании текста статьи, проверке и утверждении текста статьи.

Author contribution. All authors according to the ICMJE criteria participated in the development of the concept of the article, obtaining and analyzing factual data, writing and editing the text of the article, checking and ap-proving the text of the article.

ORCID АВТОРОВ:

Сопромадзе А. Г. / Sopromadze A. G. — 0009-0001-8478-947X
Добрынин Д. В. / Dobrynin D. V. — 0009-0003-0681-8743

ОСОБЕННОСТИ ИНТЕРПРЕТАЦИИ РЕЗУЛЬТАТОВ ЭРГОСПИРОМЕТРИИ У ПАЦИЕНТОВ СТАРШИХ ВОЗРАСТНЫХ ГРУПП

DOI: 10.37586/2686-8636-3-2025-375-377

УДК: 616-01

Троцюк Д. В. ^{1*}, Медведев Д. С. ^{1,2}, Добрынин Д. В. ³, Сопромадзе А. Г. ⁴

¹ ЧОУВО «Санкт-Петербургский медико-социальный институт», Санкт-Петербург, Россия

² АНО НИЦ «Санкт-Петербургский институт биорегуляции и геронтологии», Санкт-Петербург, Россия

³ ФКУЗ «МСЧ МВД России по г. Санкт-Петербургу и Ленинградской области», Санкт-Петербург, Россия

⁴ ФГБВОУ ВО «Военно-медицинская академия им. С. М. Кирова» МО РФ, Санкт-Петербург, Россия

*Автор, ответственный за переписку: Троцюк Дина Витальевна.
E-mail: dinatrotsyuk@yandex.ru

Резюме

Эргоспирометрия используется для оценки периоперационного прогноза у пациентов различных возрастных групп; традиционно оцениваются показатели, зарегистрированные на пике выполнения нагрузки. Достижение пиковых показателей в ходе исследования может быть затруднено у людей старше 60 лет, имеющих коморбидную патологию, в связи с чем актуальным является изучение подпороговых показателей, зарегистрированных в процессе выполнения нагрузочного тестирования и их динамики. Был проведен ретроспективный анализ клиничко-анамнестических данных и показателей эргоспирометрии 100 пациентов (средний возраст $(68,0 \pm 2,6)$ года), планово оперированных в объеме лобэктомии по поводу рака легких II стадии. Прогностически значимыми в отношении риска развития периоперационных осложнений были следующие показатели эргоспирометрии: уровень потребления кислорода и расход энергии на всех этапах проведения эргоспирометрии, начиная с этапа адаптации; динамика снижения сердечного выброса в первые минуты нагрузки; уровень анаэробного порога (АП); индекс дыхательного резерва на всех этапах проведения исследования.

АКТУАЛЬНОСТЬ. Методика эргоспирометрии применяется для оценки толерантности к физической нагрузке, дифференциальной диагностики одышки, выявления не верифицированной ранее патологии сердечно-сосудистой и дыхательной систем, оценки предоперационного статуса пациента, а также используется в составе комплекса программ реабилитации. Неблагоприятным прогностическим фактором считается наличие синдрома старческой астении и ассоциированных гериатрических синдромов, но степень их влияния требует уточнения. В то же время адаптационные резервы и, как следствие, способность к поддержанию гомеостаза в условиях воздействия стрессового фактора индивидуальны. В связи с этим наряду с наличием синдрома старческой астении необходимо учитывать возрастную жизнеспособность. Ценность применения эргоспирометрии для людей старших возрастных групп заключается в одновременной оценке большого количества параметров работы кардиореспираторного звена и метаболического профиля в условиях стандартизированной нагрузки. Для определения периоперационного прогноза традиционно оцениваются такие параметры, как уровень потребления кислорода на пике нагрузки и на АП, вентиляционный эквивалент по углекислому газу. Изучение подпороговых показателей, зарегистрированных в процессе выполнения нагрузочного тестирования, и их динамики является актуальным, т. к. у людей старше 60 лет, имеющих коморбидную патологию, достижение пиковых показателей в ходе исследования может быть затруднено.

ЦЕЛЬ ИССЛЕДОВАНИЯ. Выявление особенностей физиологических реакций при кардиореспираторной нагрузке у людей пожилого возраста.

МАТЕРИАЛЫ И МЕТОДЫ. Был проведен ретроспективный анализ клиничко-анамнестических данных и показателей эргоспирометрии пациентов, обследованных на базе онкологического отделения № 4 (торакальное отделение) Санкт-Петербургского Первого государственного медицинского университета им. А. П. Павлова. Критериями включения в исследование были: пожилой возраст, наличие данных комплексной гериатрической оценки (КГО), возможность выполнения эргоспирометрии на велоэргометре по стандартизированному протоколу с рамповой нагрузкой, отсутствие абсолютных противопоказаний к выполнению нагрузочного тестирования, наличие добровольного информированного согласия на проведение исследования. Всего в исследование было включено 100 человек, средний возраст составил $(68,0 \pm 2,6)$ года (84 мужчины, 16 женщин). Все пациенты были планово госпитализированы в отделение в связи с наличием рака легких II стадии для выполнения плановой операции в объеме лобэктомии. Проводились оценка наличия хронической соматической патологии, КГО, эргоспирометрия (предоперационно), анализ особенностей течения периоперационного периода.

РЕЗУЛЬТАТЫ. Синдром старческой астении (СА) по результатам КГО был выявлен у 39 % пациентов, у 29 % обследуемых наблюдалась преастенция. Все пациенты имели гипертоническую болезнь, у 28 % была верифицирована ишемическая болезнь сердца (ИБС), у 64 % — хроническая обструктивная болезнь легких. У пациентов с синдромом СА были отмечены более низкие значения, характеризующие уровень потребления кислорода ($p = 0,02$) и расход энергии ($p = 0,05$) на всех этапах проведения эргоспирометрии, начиная с этапа адаптации (вращение педалей без нагрузки), в сравнении с пациентами без СА. У пациентов, имевших СА и преастиению, на начальном этапе исследования (в первые минуты нагрузки) отмечено снижение сердечного выброса на 15–25 % (более выраженное при наличии СА), которое не коррелировало с клинико-anamnestическими данными о наличии ИБС или клинически значимой хронической сердечной недостаточности. Также отмечено более раннее достижение АП у пациентов с синдромом СА в сравнении с пациентами с преастенией ($p = 0,02$) и пациентами, не имевшими данных гериатрических синдромов ($p = 0,0006$). Уровень нагрузки для достижения АП составил ($42,5 \pm 4,6$) Вт, ($56,2 \pm 3,4$) Вт и ($62,3 \pm 2,9$) Вт соответственно. Нефатальные осложнения, ассоциированные с оперативным вмешательством, были зафиксированы у 14 % пациентов, летальных исходов не наблюдалось. При анализе результатов эргоспирометрии выявлено статистически значимое повышение уровня индекса дыхательного резерва на каждом этапе выполнения исследования у всех пациентов, имевших периоперационные осложнения (чувствительность данного параметра составила 66,7–91,7 %, специфичность — 64,2–88,0 % в зависимости от этапа выполнения нагрузки).

ЗАКЛЮЧЕНИЕ. Показатели, зарегистрированные на начальных этапах выполнения эргоспирометрии, могут иметь значимую прогностическую ценность для оценки адаптационного потенциала организма пациентов пожилого возраста.

Ключевые слова: эргоспирометрия; пожилой возраст; адаптационный потенциал.

Для цитирования: Троцюк Д. В., Медведев Д. С., Добрынин Д. В., Сопроматдзе А. Г. Особенности интерпретации результатов эргоспирометрии у пациентов старших возрастных групп. *Российский журнал гериатрической медицины*. 2025 ; 3S (23) : 375–377. DOI: 10.37586/2686-8636-3-2025-375-377

Поступила: 10.04.2025. Принята к печати: 17.04.2025. Дата онлайн-публикации: 26.09.2025.

PECULIARITIES OF INTERPRETATION OF ERGOSPIROMETRY RESULTS IN PATIENTS OF OLDER AGE GROUPS

Trotsyuk D. V. ^{1*}, Medvedev D. S. ^{1,2}, Dobrynin D. V. ³, Sopromadze A. G. ⁴

¹ Saint-Petersburg Medico-Social Institute, Saint-Petersburg, Russia

² Saint-Petersburg Institute of Bioregulation and Gerontology, Saint-Petersburg, Russia

³ Medical and Sanitary Unit of the Ministry of Internal Affairs of the Russian Federation in St. Petersburg and the Leningrad Region, Saint-Petersburg, Russia

⁴ Kirov military medical academy, Saint-Petersburg, Russia

* Corresponding author: Trotsyuk Dina Vitalievna. E-mail: dinatrotsyuk@yandex.ru

Abstract

Ergospirometry is used to assess the perioperative prognosis in patients of different age groups, and traditionally, the indicators recorded on the peak of the exercise are evaluated. Achieving peak values during the study may be difficult for people over 60 years old with comorbid pathology, and therefore it is important to study the dynamics of the subthreshold values recorded during stress testing and the dynamics of their changes. A retrospective analysis of clinical and anamnestic data and ergospirometry parameters was performed in 100 patients (mean age (68.0 ± 2.6) year) who underwent planned lobectomy for stage II lung cancer. The following ergospirometry indicators were prognostically significant in relation to the risk of perioperative complications: the level of oxygen consumption and energy consumption at all stages of ergospirometry, starting from the adaptation stage; the dynamics of a decrease in cardiac output in the first minutes of exercise; the level of the anaerobic threshold; index of respiratory reserve at all stages of the study.

BACKGROUND. The ergospirometry technique is used to assess exercise tolerance, differential diagnosis of shortness of breath, detection of previously unverified pathology of the cardiovascular and respiratory systems, assessment of the patient's preoperative status and rehabilitation measures. The presence of frailty and associated geriatric syndromes is considered an unfavorable prognostic factor, but the degree of their influence requires clarification. At the same time, it is necessary to take into account that adaptive reserves and, as a result, the ability to maintain homeostasis under the influence of a stressful factor are individual. In this regard, along with the presence of frailty syndrome, age-related viability must be taken into account. The value of ergospirometry for older people lies in the simultaneous assessment of a large number of parameters of the cardiorespiratory link and the metabolic profile under standardized load conditions. To determine the perioperative prognosis, parameters

such as the level of oxygen consumption at the peak of exercise and at the anaerobic threshold, and the ventilation carbon dioxide equivalent are traditionally evaluated. Achieving peak values during the study may be difficult for people over 60 years old with comorbid pathology, and therefore it is important to study the dynamics of the subthreshold values recorded during stress testing and the dynamics of their changes.

OBJECTIVE. Identification of the features of physiological reactions during cardiorespiratory stress in elderly people.

MATERIALS AND METHODS. A retrospective analysis of clinical and anamnestic data and ergospirometry indicators of patients examined at the oncological department No. 4 (thoracic department) of St. Petersburg A. P. Pavlov First State Medical University was carried out. The criteria for inclusion in the study were: elderly age, the availability of comprehensive geriatric assessment data, the possibility of performing ergospirometry on a bicycle ergometer according to a standardized ramp exercise protocol, the absence of absolute contraindications to performing exercise testing, and the availability of voluntary informed consent to conduct the study. A total of 100 people were included in the study, the average age was (68.0 ± 2.6) year (84 men, 16 women). All patients were admitted to the department as planned due to the presence of stage II lung cancer in order to perform a planned lobectomy operation. An assessment of the presence of chronic somatic pathology, a comprehensive geriatric assessment, preoperative ergospirometry, and an analysis of the features of the perioperative period were performed.

RESULTS. Frailty syndrome was detected in 39 % of patients, and prefrailty was observed in 29 % of the subjects. All patients had hypertension, 28 % had ischemic heart disease, and 64 % had COPD. Patients with frailty syndrome showed lower values characterizing the level of oxygen consumption ($p = 0.02$) and energy consumption ($p = 0.05$) at all stages of ergospirometry, starting from the stage of adaptation (pedaling without load) compared with patients without frailty. In patients with frailty and prefrailty, there was a decrease in cardiac output by 15–25 % at the initial stage of the study (in the first minutes of exercise), more pronounced in the presence of frailty, which did not correlate with clinical and anamnestic data on the presence of coronary artery disease or clinically significant chronic heart failure. There was also an earlier achievement of the anaerobic threshold in patients with frailty syndrome with patients with prefrailty ($p = 0.02$) and patients without these geriatric syndromes ($p = 0.0006$). The load level to achieve the anaerobic threshold was (42.5 ± 4.6) W, (56.2 ± 3.4) W and (62.3 ± 2.9) W, respectively. Nonfatal complications associated with surgery were reported in 14 % of patients, and no deaths were observed. The analysis of ergospirometry results revealed a statistically significant increase in the level of the respiratory reserve index at each stage of the study in all patients with perioperative complications (sensitivity of this parameter was 66.7–91.7 %, specificity was 64.2–88.0 %, depending on the stage of exercise).

CONCLUSION. The indicators recorded at the initial stages of ergospirometry may have significant prognostic value for assessing the adaptive potential of the body of elderly patients.

Keywords: ergospirometry; advanced age; adaptive potential.

For citation: Trotsyuk D. V., Medvedev D. S., Dobrynin D. V., Sopromadze A. G. Peculiarities of interpretation of ergospirometry results in patients of older age groups. *Russian Journal of Geriatric Medicine*. 2025 ; 3S (23) : 375–377. DOI: 10.37586/2686-8636-3-2025-375-377

Received: 10.04.2025. Accepted: 17.04.2025. Published online: 26.09.2025.26.09.2025.

ДОПОЛНИТЕЛЬНАЯ ИНФОРМАЦИЯ / ADDITIONAL INFORMATION

Финансирование. Исследование не имело спонсорской поддержки.

Funding Sources: This study had no external funding sources.

Конфликт интересов. Авторы декларируют отсутствие явных и потенциальных конфликтов интересов, связанных с содержанием настоящей статьи.

Conflict of Interests. The authors declare no conflicts of interest.

Вклад авторов. Все авторы в равной степени участвовали в разработке концепции

статьи, получении и анализе фактических данных, написании и редактировании текста статьи, проверке и утверждении текста статьи.

Authors' contribution. All authors according to the ICMJE criteria participated in the development of the concept of the article, obtaining and analyzing factual data, writing and editing the text of the article, checking and approving the text of the article.

ORCID АВТОРОВ:

Троцюк Д. В. / Trotsyuk D. V. — 0000-0002-0833-4385

Медведев Д. С. / Medvedev D. S. — 0000-0001-7401-258X

Добрынин Д. В. / Dobrynin D. V. — 0009-0003-0681-8743

Сопромадзе А. Г. / Sopromadze A. G. — 0009-0001-8478-947X

ВОЗРАСТ-АССОЦИИРОВАННЫЕ ЭФФЕКТЫ ГЛУТАМИЛ-ЦИСТЕИНИЛ-ГЛИЦИНА ДИНАТРИЯ В КОМПЛЕКСНОЙ СХЕМЕ ЛЕЧЕНИЯ МУЛЬТИРЕЗИСТЕНТНОГО ТУБЕРКУЛЕЗА (ЭКСПЕРИМЕНТАЛЬНОЕ ИССЛЕДОВАНИЕ)

DOI: 10.37586/2686-8636-3-2025-378-381

УДК: 613.98, 616-002.5, 615.322

Пухальская А. Э. ¹, Медведева М. Д. ^{2*}

¹ ЧОУВО «Санкт-Петербургский медико-социальный институт», Санкт-Петербург, Россия

² ФГУП «НИИ гигиены, профпатологии и экологии человека» ФМБА России, Санкт-Петербург, Россия

* Автор, ответственный за переписку, Медведева Мария Дмитриевна.
E-mail: rsc-ide@yandex.ru

Резюме

Изучали влияние сочетания глутамил-цистеинил-глицина динатрия и бедаквилина на лечение мультирезистентного туберкулеза у кроликов разного возраста. Комбинированная терапия улучшала состояние животных, уменьшала воспаление и размеры поражений в легких, особенно эффективно проявляя себя у пожилых особей. Полученные данные подчеркивают значимость учета возраста пациента при назначении противотуберкулезной терапии.

АКТУАЛЬНОСТЬ. Высокая заболеваемость туберкулезом и трудности его лечения у лиц старших возрастов являются актуальной проблемой фтизиатрии и гериатрии. Растущая лекарственная устойчивость микобактерий и увеличение количества больных с иммунодефицитными заболеваниями обуславливает поиск и разработку новых лекарственных средств. Глутамил-цистеинил-глицин динатрия показал высокую эффективность как средство профилактики и лечения вторичных иммунодефицитных состояний, ассоциированных с радиационными, химическими и инфекционными факторами. Являясь структурным аналогом окисленного глутатиона, глутамил-цистеинил-глицин динатрия обладает высокой биодоступностью, модулирующим действием на внутриклеточные процессы тиолового обмена, способствует инициации системы цитокинов, активации фагоцитоза. Глутамил-цистеинил-глицин динатрия разрешен к применению при туберкулезе легких, однако возраст-ассоциированные эффекты не изучались.

ЦЕЛЬ ИССЛЕДОВАНИЯ. Оценка возраст-ассоциированных эффектов глутамил-цистеинил-глицина динатрия в сочетанном применении с бедаквилином при мультирезистентном туберкулезе у кроликов.

МАТЕРИАЛЫ И МЕТОДЫ. Были сформированы 3 группы по 25 кроликов в каждой со стандартными лабораторными условиями содержания: 1-я — животные молодого возраста (1 год), масса тела — 1000–1200 г; 2-я — животные среднего возраста (4 года), масса тела — 1700–1900 г; 3-я — животные пожилого возраста (7 лет), масса тела — 2000–2300 г. В каждой возрастной группе было выделено по 3 подгруппы: 1-я (n = 5) — контроля заражения (зараженные животные, без лечения); 2-я (n = 10) — контроля лечения (зараженные животные, получавшие только бедаквилин); 3-я (n = 10) — основная (зараженные животные, получавшие бедаквилин + глутамил-цистеинил-глицин динатрия). Таким образом, было сформировано девять подгрупп: 1.1 — подгруппа контроля заражения животных молодого возраста; 2.1 — подгруппа контроля заражения животных среднего возраста; 3.1 — подгруппа контроля заражения животных пожилого возраста; 1.2 — подгруппа контроля лечения животных молодого возраста; 2.2 — подгруппа контроля лечения животных среднего возраста; 3.2 — подгруппа контроля лечения животных пожилого возраста; 1.3 — основная подгруппа животных молодого возраста; 2.3 — основная подгруппа животных среднего возраста; 3.3 — основная подгруппа животных пожилого возраста. Заражение проводили внутривенно клиническим штаммом *M. tuberculosis* с множественной лекарственной устойчивостью. Лечение бедаквилином и глутамил-цистеинил-глицином динатрия начиналось на 3-й день после заражения. Наблюдали за состоянием животных, физической активностью, потреблением пищи и воды, динамикой веса. Использовали КТ легких и тесты на реакцию гиперчувствительности. Данные обрабатывались с помощью пакета программ Statistica 7.0.

РЕЗУЛЬТАТЫ. Мониторинг состояния животных через 6 недель после заражения позволил получить следующие результаты.

Молодые кролики (1 год). Подгруппа контроля заражения: плохое состояние, низкая активность, малое потребление пищи и воды. Подгруппа контроля лечения: удовлетворительное состояние, хорошая активность, нормальное потребление пищи и воды. Основная подгруппа: отличное состояние, максимальная активность, усиленное потребление пищи и воды.

Кролики среднего возраста (4 года). Подгруппа контроля заражения: плохое состояние, сниженная активность, малое потребление пищи и воды. Подгруппа контроля лечения: удовлетворительное состояние,

хорошая активность, повышенное потребление пищи и воды. Основная подгруппа: хорошее состояние, высокая активность, умеренное потребление пищи и воды.

Кролики пожилого возраста (7 лет). Подгруппа контроля заражения: критичное состояние, сильная потеря активности, минимальное потребление пищи и воды. Подгруппа контроля лечения: удовлетворительное состояние, хорошая активность, достаточное потребление пищи и воды. Основная подгруппа: удовлетворительное состояние, средняя активность, средние показатели потребления пищи и воды.

В первые 3 недели после заражения отмечен прирост массы тела во всех подгруппах, в 4-ю и 5-ю недели на фоне отчетливого снижения этого показателя в подгруппах контроля заражения и контроля лечения наблюдали повышение средней массы животных в основных подгруппах. В ответ на внутрикожное введение пробы с туберкулезным рекомбинантным аллергеном («Диаскинтест») через 18 дней после инокуляции микобактерий туберкулеза у интактных экспериментальных животных отмечали отрицательную реакцию, у всех модельных кроликов регистрировали положительный результат пробы в виде развития эритемы размером $(18,50 \pm 1,49)$ мм ($p < 0,0001$), что свидетельствовало о наличии сенсибилизации и подтверждало развитие туберкулезного процесса. Компьютерная томография (КТ) органов грудной клетки животных из подгрупп контроля заражения (подгруппы 1.1, 2.1, 3.1) во всех 3 изучаемых возрастных группах показала наличие крупных полициклических инфильтратов гетерогенной плотности в верхних долях легких, наиболее вероятно специфического характера. При этом в группе животных пожилого возраста патофизиологические изменения формировались быстрее и носили более выраженный характер. КТ органов грудной клетки животных из подгрупп контроля лечения (подгруппы 1.2, 2.2, 3.2) во всех 3 изучаемых возрастных группах показала наличие небольших фокусов инфильтрации в легких с участками по типу матового стекла по периферии. При этом наблюдаемые изменения в группах кроликов среднего и пожилого возраста носили более отчетливый характер и отличались большей длительностью с тенденцией к хронизации патологического процесса. КТ органов грудной клетки животных из основных подгрупп (подгруппы 1.3, 2.3, 3.3) во всех 3 изучаемых возрастных группах показала наличие в легких очагово-инфильтративных изменений слабой интенсивности, которые имеют меньшую выраженность, чем у животных из подгрупп контроля лечения соответствующих возрастных групп. У молодых кроликов после заражения наблюдали мелкие очаговые тени в субплевральных областях легких, соответствующие первичным очагам инфекции. У кроликов среднего и пожилого возрастов были выявлены более обширные инфильтраты и очаговые тени, занимающие значительные участки легкого. У кроликов пожилого возраста наблюдали признаки активного воспаления с наличием экссудата в альвеолах. Увеличение размеров внутригрудных лимфатических узлов, особенно бронхопульмональных и трахеобронхиальных, наблюдали у кроликов всех изучаемых возрастных групп. Масса тела кроликов была нестабильной на протяжении всего эксперимента. Изменения зависели от возраста и режима лечения. КТ легких подтвердила формирование туберкулезных изменений разной степени тяжести в зависимости от возраста и лечения. В целом леченые животные демонстрировали лучшие показатели здоровья, активности и аппетита по сравнению с нелечеными.

ЗАКЛЮЧЕНИЕ. Полученные результаты подтверждают наличие воспалительного процесса у животных в подгруппах контроля заражения всех возрастов. Воспалительные изменения также наблюдались в основных подгруппах и подгруппах контроля лечения, причем они были более выражены в последних. КТ легких в основных подгруппах показала менее выраженные очагово-инфильтративные изменения по сравнению с подгруппами сравнения, что указывает на потенцирующее действие глутамил-цистеинил-глицина динатрия. Исследование демонстрирует потенциал этого вещества в сочетании с бедаквилином и открывает перспективы для его включения в схемы лечения туберкулеза, в том числе с учетом возрастных аспектов.

Ключевые слова: слова: глутамил-цистеинил-глицин динатрия; мультирезистентный туберкулез; возраст-ассоциированные эффекты.

Для цитирования: Пухальская А. Э., Медведева М. Д. Возраст-ассоциированные эффекты глутамил-цистеинил-глицина динатрия в комплексной схеме лечения мультирезистентного туберкулеза (экспериментальное исследование). *Российский журнал гериатрической медицины*. 2025 ; 3S (23) : 378–381. DOI: 10.37586/2686-8636-3-2025-378-381

Поступила: 10.04.2025. Принята к печати: 17.04.2025. Дата онлайн-публикации: 26.09.2025.

AGE-ASSOCIATED EFFECTS OF DISODIUM GLUTAMYL-CYSTEINYL-GLYCINE IN A COMPLEX TREATMENT REGIMEN FOR MULTIDRUG-RESISTANT TUBERCULOSIS (EXPERIMENTAL STUDY)

Puhalskaya A. E. ¹, Medvedeva M. D. ^{2*}

¹ St. Petersburg Medical and Social Institute, St. Petersburg, Russia

² Research Institute of Hygiene, Occupational Pathology and Human Ecology FMBA of Russia, St. Petersburg, Russia

* Corresponding author: Medvedeva Maria Dmitrievna. E-mail: rsc-ide@yandex.ru

Abstract

The effect of a combination of glutamyl-cysteinyl-glycine disodium and bedaquiline on the treatment of multi-drug-resistant tuberculosis in rabbits of different ages was studied. Combination therapy improved the condition of animals, reduced inflammation and the size of lesions in the lungs, especially effective in elderly individuals. The data obtained emphasize the importance of taking into account the patient's age when prescribing anti-tuberculosis therapy.

BACKGROUND. The high incidence of tuberculosis and the difficulties of its treatment in older people are an urgent problem of phthisiatry and geriatrics. The growing drug resistance of mycobacteria and an increase in immunodeficiency diseases lead to the search and development of new medicines. Disodium glutamyl-cysteinyl-glycine has shown high efficacy as a means of preventing and treating secondary immunodeficiency conditions associated with radiation, chemical and infectious factors. Being a structural analog of oxidized glutathione, disodium glutamyl-cysteinyl-glycine has high bioavailability, modulating effect on intracellular processes of thiol metabolism, promotes initiation of cytokine system, activation of phagocytosis. The drug glutamyl-cysteinyl-glycine disodium is approved for use in pulmonary tuberculosis, but age-associated effects have not been studied.

OBJECTIVE. Evaluation of age-associated effects of glutamyl-cysteinyl-glycine disodium in combination with bedaquiline in multidrug-resistant tuberculosis in rabbits

MATERIALS AND METHODS. Three groups of 25 rabbits each with standard laboratory conditions were formed.: 1st — young animals (1 year old), body weight — 1,000–1,200 g; 2nd — middle-aged animals (4 years old), body weight — 1,700–1,900 g; 3rd — elderly animals (7 years old), body weight — 2,000–2,300 g. Three subgroups were identified in each age group: 1st (n = 5) — infection control (infected animals without treatment); 2nd (n = 10) — treatment control (infected animals receiving only bedaquiline); 3rd (n = 10) — main (infected animals receiving bedaquiline + glutamyl-cysteinyl-glycine disodium). Thus, nine subgroups were formed: 1.1 — a subgroup for the control of infection of young animals; 2.1 — a subgroup for the control of infection of middle-aged animals; 3.1 — a subgroup for the control of infection of elderly animals; 1.2 — a subgroup for the control of treatment of young animals; 2.2 — a subgroup for the control of treatment of middle-aged animals; 3.2 — a subgroup for the control of treatment of elderly animals; 1.3 — the main subgroup of young animals; 2.3 — the main subgroup of middle-aged animals; 3.3 — the main subgroup of elderly animals. Infection was carried out intravenously with a clinical strain of *M. tuberculosis* with multiple drug resistance. Treatment began on the third day after infection with bedaquiline and glutamyl-cysteinyl-glycine disodium. The condition of the animals, physical activity, food and water intake, and weight dynamics were monitored. CT scans of the lungs and hypersensitivity reaction tests were used. The data was processed using a package Statistica 7.0.

RESULTS. Monitoring the condition of the animals 6 weeks after infection allowed us to obtain the following results. *Young rabbits* (1 year old). Infection control — poor condition, low activity, low consumption of food and water. Treatment control — satisfactory condition, good activity, normal diet and drink. The main subgroup is in excellent condition, maximum activity, increased intake of food and water. *Middle-aged rabbits* (4 years old). Infection control — poor condition, decreased activity, low intake of food and water. Treatment control — satisfactory condition, good activity, increased intake of food and water. The main subgroup is in good condition, high activity, moderate intake of food and water. *Elderly rabbits* (7 years old). Infection control is a critical condition, severe loss of activity, minimal intake of food and water. Treatment control — satisfactory condition, good activity, sufficient intake of food and water. The main subgroup is satisfactory condition, average activity, and average food and water intake. In the first 3 weeks after infection, an increase in body weight was noted in all subgroups, in the 4th and 5th weeks, against the background of a clear decrease in these indicators, an increase in the average weight of animals in the main subgroups was observed in the infection control and treatment control subgroups. In response to intradermal administration of a sample with a tuberculosis recombinant allergen (Diaskintest) 18 days after inoculation of mycobacterium tuberculosis in intact experimental animals, a negative reaction was noted, and in all model rabbits a positive test result was recorded in the form of erythema with a size of (18.50 ± 1.49) mm ($p < 0.0001$), which indicated the presence of sensitization and confirmed the development of the tuberculosis process. CT scans of the chest organs of animals from the infection control subgroups (subgroups 1.1, 2.1, 3.1) in all three age groups studied showed the presence of large polycyclic infiltrates of heterogeneous density in the upper lobes of the lungs, most likely of a specific nature. At the same time, in the group of elderly animals, pathophysiological changes formed faster and were more pronounced. CT scans of the thoracic organs of animals from the treatment control subgroups (subgroups 1.2, 2.2, 3.2) in all three age groups studied showed the presence of small foci of infiltration in the lungs with areas like frosted glass around the periphery. At the same time, the observed changes in the groups of middle-aged and elderly rabbits were more pronounced and had a longer duration with a tendency to chronicle the pathological process. CT scans of the thoracic organs of animals from the main subgroups (subgroups 1.3, 2.3, 3.3) in all three age groups studied showed the presence of focal infiltrative changes in the lungs of low intensity, which are less pronounced than in animals from the treatment control subgroups of the corresponding age groups. After infection, small focal shadows in the subpleural regions of the lungs, corresponding to the primary foci of infection, were observed in young rabbits. In middle-aged and elderly rabbits, more extensive infiltrates and focal shadows were detected, occupying significant areas of the lung. In elderly rabbits, signs of active inflammation with the presence of exudate in the alveoli were observed. An increase in the size of the intrathoracic lymph nodes, especially bronchopulmonary and tracheobronchial, was observed in rabbits of all age groups studied. The rabbits' body weight was unstable throughout the experiment. The changes depended on age and treatment regimen. Computed tomography of the lungs confirmed the formation of tuberculous changes of varying severity depending on age and treatment. In general, the treated animals showed better health, activity, and appetite compared to the untreated ones.

CONCLUSION. The results obtained confirm the presence of an inflammatory process in animals in the infection control subgroups of all ages. Inflammatory changes were also observed in the main subgroups and treatment control subgroups, and they were more pronounced in the latter. Computed tomography of the lungs in the main

subgroups showed less pronounced focal infiltrative changes compared with the comparison subgroups, which indicates the potentiating effect of glutamyl-cysteinyl-glycine disodium. The study demonstrates the potential of this substance in combination with bedaquiline and opens up prospects for its inclusion in tuberculosis treatment regimens, including age-related aspects.

Keywords: glutamyl-cysteinyl-glycine disodium; multidrug-resistant tuberculosis; age-associated effects.

For citation: Puhalskaya A. E., Medvedeva M. D. Age-associated effects of disodium glutamyl-cysteinyl-glycine in a complex treatment regimen for multidrug-resistant tuberculosis (experimental study). *Russian Journal of Geriatric Medicine*. 2025 ; 3S (23) : 378–381. DOI: 10.37586/2686-8636-3-2025-378-381

Received: 10.04.2025. Accepted: 17.04.2025. Published online: 26.09.2025.

ДОПОЛНИТЕЛЬНАЯ ИНФОРМАЦИЯ / ADDITIONAL INFORMATION

Финансирование. Исследование не имело спонсорской поддержки.

Funding Sources: This study had no external funding sources.

Конфликт интересов. Авторы декларируют отсутствие явных и потенциальных конфликтов интересов, связанных с содержанием настоящей статьи.

Conflict of Interests. The authors declare no conflicts of interest.

Вклад авторов. Все авторы в равной степени участвовали в разработке концепции

статьи, получении и анализе фактических данных, написании и редактировании текста статьи, проверке и утверждении текста статьи.

Author contribution. All authors according to the ICMJE criteria participated in the development of the concept of the article, obtaining and analyzing factual data, writing and editing the text of the article, checking and approving the text of the article.

ORCID АВТОРОВ:

Пухальская А. Э. / Puhalskaya A. E. — 0009-0004-7818-5225
Медведева М. Д. / Medvedeva M. D. — 0009-0008-7591-2801

ПЕРСПЕКТИВЫ РАЗРАБОТКИ ПЕРСОНАЛИЗИРОВАННОГО МИНЕРАЛЬНОГО КОМПЛЕКСА ДЛЯ ПРОФИЛАКТИКИ И КОРРЕКЦИИ РЕГИОНАЛЬНЫХ ДИСЭЛЕМЕНТОЗОВ У ПОЖИЛЫХ

DOI: 10.37586/2686-8636-3-2025-382-383

УДК: 615.326

Виноградова И. А. *

ФГБОУ ВО «Петрозаводский государственный университет», Петрозаводск, Россия

*Автор, ответственный за переписку, Виноградова Ирина Анатольевна.

E-mail: irinav@petrsu.ru

Резюме

АКТУАЛЬНОСТЬ. В современном мире продолжительность жизни увеличивается, что ведет к росту количества пожилых людей. Проблемы сохранения и укрепления здоровья, рационального образа жизни, повышения функциональных возможностей лиц пожилого и старческого возраста являются актуальными для общества в целом. Выбор и использование технологий долголетия необходимо осуществлять персонализированно с учетом особенностей здоровья человека, его образа жизни, генетических и эпигенетических факторов. В Республике Карелия одной из причин серьезных нарушений здоровья населения является дефицит микроэлементов. Анализ элементного статуса и разработка коррекционных программ имеют ключевое значение для профилактики заболеваний, связанных с дефицитом и дисбалансом микроэлементов, у лиц пожилого и старческого возраста.

ЦЕЛЬ ИССЛЕДОВАНИЯ. Изучение у жителей старшей возрастной группы различных районов Республики Карелия содержания макро- и микроэлементов в организме для дальнейшей разработки рекомендаций по коррекции дефицита.

МАТЕРИАЛЫ И МЕТОДЫ. Для оценки элементного состава организма анализировали состав микроэлементов в волосах с применением методов атомной эмиссионной и масс-спектрометрии. Все образцы волос были собраны и подвергнуты пробоподготовке согласно требованиям Международного агентства по атомной энергии и методическим рекомендациям Федерального центра государственного санитарно-эпидемиологического надзора РФ. На каждого испытуемого заполняли специально разработанную анкету с указанием персональных данных. Результаты сравнивали с референсными значениями данной возрастной группы средней полосы России.

РЕЗУЛЬТАТЫ. В результате исследований была выявлена высокая распространенность дисэлементоза среди обследованных. Большинство респондентов находились в зоне риска («предболезнь»). Наиболее часто встречался дефицит кальция. Такая частота встречаемости этого дефицита может быть связана с гиповитаминозом D, который является следствием длительного исключения действия УФ-лучей на кожные покровы в период укороченного светового дня («световое голодание») в осенне-зимний период на северных территориях нашего региона. Также в данной выборке у обследуемых были обнаружены дефициты магния, меди, йода, цинка, селена и кобальта. У части респондентов отмечалось также наличие ртути и свинца в волосах. Токсические элементы (ртуть и свинец), которые в норме не должны находиться в организме человека, могут поступать с водой, пищей или воздухом, что может быть связано с высоким уровнем индустриального загрязнения.

ЗАКЛЮЧЕНИЕ. Проведенное исследование элементного состава волос в данной выборке людей старшей возрастной группы, проживающих в Республике Карелия, показало, что полученные данные значительно отличаются от референсных значений, характерных для жителей средней полосы России. Работа подчеркивает значимость мониторинга микроэлементного статуса для здоровья населения северных территорий и необходимость междисциплинарного подхода в решении данной проблемы. На основании полученных данных был разработан персонализированный минеральный комплекс для людей пожилого и старческого возраста, проживающих на территории Карелии, который включает в себя кальций, магний, цинк, селен, кобальт, медь и йод.

Ключевые слова: дисэлементоз; элементный статус; возраст; минеральный комплекс; старение; северные территории.

Для цитирования: Виноградова И. А. Перспективы разработки персонализированного минерального комплекса для профилактики и коррекции региональных дисэлементозов у пожилых. *Российский журнал гериатрической медицины*. 2025 ; 3S (23) : 382–383. DOI: 10.37586/2686-8636-3-2025-382-383

Поступила: 10.04.2025. Принята к печати: 17.04.2025. Дата онлайн-публикации: 26.09.2025.

PROSPECTS FOR THE DEVELOPMENT OF A PERSONALIZED MINERAL COMPLEX FOR THE PREVENTION AND CORRECTION OF REGIONAL DISELEMENTOSES IN THE ELDERLY PEOPLE

Vinogradova I. A.  *

Petrozavodsk State University, Petrozavodsk, Russia

* Corresponding author: Vinogradova Irina Anatolyevna. E-mail: irinav@petrsu.ru

Abstract

BACKGROUND. In the modern world, life expectancy is increasing, which leads to an increase in the number of elderly people. The problems of maintaining and promoting health, a rational lifestyle, and improving the functional capabilities of the elderly and senile are relevant to society as a whole. The choice and use of longevity technologies must be personalized, taking into account the characteristics of human health, lifestyle, and take into account genetic and epigenetic factors. In the Republic of Karelia, one of the causes of serious health disorders of the population is a deficiency of trace elements. The analysis of the elemental status and the development of corrective programs are of key importance in the elderly and senile for the prevention of diseases associated with deficiency and imbalance of trace elements.

OBJECTIVE. The purpose of the study is to study the content of macro- and microelements in the body of residents of the older age group in various regions of the Republic of Karelia in order to further develop recommendations for correcting the deficiency.

MATERIALS AND METHODS. To assess the elemental composition of the body, the composition of trace elements in the hair was analyzed using atomic emission and mass spectrometry methods. All hair samples were collected and subjected to sample preparation according to the requirements of the International Atomic Energy Agency and the methodological recommendations of the Federal Center for State Sanitary and Epidemiological Supervision of the Russian Federation. A specially designed questionnaire with personal data was filled out for each subject. The results were compared with the reference values of this age group in the middle zone of Russia.

RESULTS. As a result of the research, a high prevalence of diselementosis was revealed among the examined. Most of the respondents were at risk («pre-disease»). Calcium deficiency was the most common. Such a frequency of Ca deficiency may be associated with hypo- and vitamin deficiency D, which is a consequence of the prolonged exclusion of UV rays from the skin during the shortened daylight hours («light starvation») in the autumn-winter period in the northern territories of our region. Deficiencies of magnesium, copper, iodine, zinc, selenium, and cobalt were also found in this sample. In addition, some of the respondents noted the presence of mercury and lead in their hair. Toxic elements (mercury and lead), which normally should not be in the human body, can come from water, food or air, which may be due to a high level of industrial pollution.

CONCLUSION. A study of the elemental composition of hair in this sample of elderly people living in the Republic of Karelia has shown that the data obtained differ significantly from the reference values typical for residents of central Russia. The work highlights the importance of monitoring the micronutrient status for the health of the population of the northern territories and the need for an interdisciplinary approach to solving this problem. Based on the data obtained, a personalized mineral complex was developed for elderly and senile residents living in Karelia, which includes calcium, magnesium, zinc, selenium, cobalt, copper and iodine.

Keywords: diselementosis; elemental status; age; mineral complex; aging; northern territories.

For citation: Vinogradova I. A. Prospects for the development of a personalized mineral complex for the prevention and correction of regional diselementoses in the elderly people. *Russian Journal of Geriatric Medicine*. 2025 ; 3S (23) : 382–383. DOI: 10.37586/2686-8636-3-2025-382-383

Received: 10.04.2025. Accepted: 17.04.2025. Published online: 26.09.2025.

ДОПОЛНИТЕЛЬНАЯ ИНФОРМАЦИЯ / ADDITIONAL INFORMATION

Финансирование. Исследование не имело спонсорской поддержки.

Funding Sources: This study had no external funding sources.

Конфликт интересов. Автор декларирует отсутствие явных и потенциальных конфликтов

интересов, связанных с содержанием настоящей статьи.

Conflict of Interests. The author declares no conflicts of interest.

ORCID АВТОРА:

Виноградова И. А. / Vinogradova I. A. — 0000-0002-2168-5438

ПРОДОЛЖИТЕЛЬНОСТЬ ЖИЗНИ ПАЦИЕНТОВ ПОЖИЛОГО И СТАРЧЕСКОГО ВОЗРАСТА С АРТЕРИАЛЬНОЙ ГИПЕРТЕНИЕЙ И МЕРОПРИЯТИЯ ПО ВТОРИЧНОЙ ПРОФИЛАКТИКЕ ДАННОЙ ПАТОЛОГИИ

DOI: 10.37586/2686-8636-3-2025-384-385

УДК: 616-06: 616-08-035

Соболева Н. И.  *

ФГБОУ ВО КГМУ Минздрава России, Курск, Россия

* Автор, ответственный за переписку, Соболева Наталья Ивановна.
E-mail: sobolevani@yandex.ru

Резюме

АКТУАЛЬНОСТЬ. Артериальная гипертония, с одной стороны, заболевание, требующее изменения образа жизни, постоянной медикаментозной терапии, ухудшающее качество жизни пациентов, а с другой — самостоятельный фактор риска развития хронических неинфекционных заболеваний. Наибольшее влияние на продолжительность жизни больных гипертонической болезнью оказывает комплексное воздействие возрастопосредованных перестроек органов и систем и длительного повреждающего действия артериального давления. Значимость эссенциальной артериальной гипертензии как фактора, определяющего продолжительность и качество жизни, неоспорима, но к отдельным компонентам внешней и внутренней среды, предопределяющим течение артериальной гипертонии, внимание остается недостаточным.

ЦЕЛЬ ИССЛЕДОВАНИЯ. Анализ воздействия отдельных медико-социальных факторов на среднюю продолжительность жизни больных старшего возраста с артериальной гипертонией в Курском регионе.

МАТЕРИАЛЫ И МЕТОДЫ. Материал исследования — амбулаторные карты (форма 025/у) 449 умерших пациентов с гипертонической болезнью (ГБ) (2014–2024 гг.). Из них за 2014–2019 гг. — 117 из г. Курска и 73 из Курского района, за 2020–2024 гг. — 158 из г. Курска и 101 из Курского района. Анализ результатов проводился с использованием программы Microsoft Excel 2010.

РЕЗУЛЬТАТЫ. Продолжительность жизни больных с ГБ (основной исследуемый показатель), обслуживаемых в многопрофильных городских поликлиниках, за период 2020–2024 гг. составила $(69,74 \pm 0,97)$ года, что меньше, чем в 2014–2019 гг., когда она достигала $(72,12 \pm 1,07)$ года. Сходные изменения продолжительности жизни прослеживаются и в сельских районах, где наблюдаемые получали медицинскую помощь преимущественно во врачебных амбулаториях. Так, за период 2020–2024 гг. она составила $(68,42 \pm 1,29)$ года, а в 2014–2019 гг. — $(71,64 \pm 1,26)$ года. Столь неблагоприятные тенденции определяются осложненным течением COVID-19 у лиц старшего возраста и противоэпидемическими ограничениями профилактических мероприятий. Влияние коронавирусной инфекции прослеживается и при оценке продолжительности жизни с ГБ. Так, в 2020–2024 гг. она составила $(11,07 \pm 0,52)$ года в г. Курске и $(9,13 \pm 0,79)$ года в Курском районе. Что ниже значений за 2014–2019 гг.: $(14,38 \pm 0,61)$ года и $(13,82 \pm 0,73)$ года соответственно. Эффективное диспансерное наблюдение в 2020–2024 гг. проводилось лишь в 47,24 % случаев в г. Курске и в 43,75 % в Курском районе, что выражено ниже значений доковидного периода — 84,06 % и 73,56 % соответственно. Отрицательная динамика прослеживается и при оценке вовлеченности больных ГБ в регулярное посещение школ здоровья в период 2014–2019 гг. этот показатель достигал 22,45 % для городских жителей и еще выше, 30,28 %, для жителей Курского района. В 2020–2024 гг. он составил лишь 10,80 % в г. Курске и 9,73 % в Курском районе. Отмечена положительная тенденция последних двух лет в Курском регионе в целом — активизация диспансерного наблюдения и вовлеченности больных в школы здоровья, однако оценивать эффективность этих мероприятий пока рано. В ходе исследования выявлен крайне отрицательный момент: отсутствие рекомендаций пациентам с ГБ по изменению образа жизни. За период 2020–2024 гг. этот факт отмечен в 46,18 % случаев в Курске и в 25,30 % в Курском районе.

ЗАКЛЮЧЕНИЕ. Таким образом, неудовлетворительная перестройка показателей, характеризующих продолжительность жизни с артериальной гипертонией в регионе, во многом была определена противоэпидемическими ограничениями COVID-19, когда качество и объем профилактических мероприятий были существенно снижены в связи с переориентацией с профилактики на терапию urgentных состояний.

Ключевые слова: средняя продолжительность жизни; артериальная гипертония; вторичная профилактика; диспансерное наблюдение.

Для цитирования: Соболева Н. И. Продолжительность жизни пациентов пожилого и старческого возраста с артериальной гипертонией и мероприятия по вторичной профилактике данной патологии. *Российский журнал гериатрической медицины*. 2025 ; 3S (23) : 384–385. DOI: 10.37586/2686-8636-3-2025-384-385

Поступила: 10.04.2025. Принята к печати: 17.04.2025. Дата онлайн-публикации: 26.09.2025.

LIFE EXPECTANCY OF PATIENTS OF DIFFERENT AGES WITH ARTERIAL HYPERTENSION AND MEASURES FOR ITS SECONDARY PREVENTION

Soboleva N. I.  *

Kursk State Medical University

* Corresponding author: Natalia Ivanovna Soboleva. E-mail: sobolevani@yandex.ru

Abstract

BACKGROUND. Arterial hypertension is, on the one hand, a disease requiring lifestyle changes, constant drug therapy, which worsens the quality of life of patients, and, on the other, an independent risk factor for the development of chronic non-communicable diseases. The greatest importance in determining the life expectancy of patients with hypertension is the complex effect of age-mediated rearrangements of organs and systems and the long-term damaging effects of blood pressure. The importance of arterial hypertension as a factor determining the duration and quality of life is undeniable, but insufficient attention remains to the individual components of the external and internal environment that determine the course of hypertension.

OBJECTIVE. Analysis of the impact of certain medical and social factors on the average life expectancy of older patients with arterial hypertension in the Kursk region.

MATERIALS AND METHODS. The study material includes outpatient cards (form 025/y) of 449 deceased patients with hypertension (2014–2024). Of these, 117 from Kursk and 73 from the Kursk region in 2014–2019, 158 from Kursk and 101 from the Kursk region in 2020–2024. Analysis of the results — Microsoft Excel 2010.

RESULTS. The main indicator is the life expectancy of patients with hypertension served in multi-disciplinary urban polyclinics for the period 2020–2024 reached (69.74 ± 0.97) year, that is, lower than in 2014–2019, when it was (72.12 ± 1.07) year. Similar changes in life expectancy can be traced in rural areas, where the observed patients received medical care mainly in outpatient clinics. So for the period 2020–2024. It was (68.42 ± 1.29) year, and in 2014–2019 it was (71.64 ± 1.26) year. Such unfavorable trends are determined by the complicated course of COVID-19 in older people and the antiepidemic limitations of preventive measures. The influence of coronavirus infection can also be traced in the assessment of life expectancy with hypertension. So in 2020–2024 in Kursk it was (11.07 ± 0.52) year and in the Kursk region — (9.13 ± 0.79) year. Which is lower than the values of the previous calendar period — (14.38 ± 0.61) year and (13.82 ± 0.73) year, respectively. Effective follow-up in 2020–2024 was only 47.24 % for the city of Kursk, 43.75 % for the Kursk region, that is, significantly lower than the values of the pre-epidemic period — 84.06 % and 73.56 %, respectively. The extremely negative aspects were the lack of recommendations on lifestyle changes in 2020–2024 in 46.18 % of cases in Kursk and 25.3 % in the Kursk region. There is a similar trend in assessing involvement in regular health school attendance: in the period 2014–2019, the figure reached 22.45 % for urban residents and even higher — 30.28 % — among residents of the Kursk region. In 2020–2024 — 10.8 % and 9.73 % in the city of Kursk and the Kursk region. A positive trend has been noted over the past two years in the Kursk region as a whole — the intensification of dispensary monitoring and patient involvement in health schools, but it is too early to assess the effectiveness of these trends.

CONCLUSION. Thus, the unsatisfactory restructuring of indicators characterizing life expectancy in the region was largely determined by the anti-epidemic limitations of COVID-19, when the quality and volume of preventive measures were significantly reduced due to the reorientation from prevention to treatment of urgent conditions.

Keywords: life expectancy; arterial hypertension; secondary prevention; follow-up.

For citation: Soboleva N. I. Life expectancy of patients of different ages with arterial hypertension and measures for its secondary prevention. *Russian Journal of Geriatric Medicine*. 2025 ; 35 (23) : 384–385. DOI: 10.37586/2686-8636-3-2025-384-385

Received: 10.04.2025. Accepted: 17.04.2025. Published online: 26.09.2025.

ДОПОЛНИТЕЛЬНАЯ ИНФОРМАЦИЯ / ADDITIONAL INFORMATION

Финансирование. Исследование не имело спонсорской поддержки.

Funding Sources: This study had no external funding sources.

Конфликт интересов. Автор декларирует отсутствие явных и потенциальных конфликтов

интересов, связанных с содержанием настоящей статьи.

Conflict of Interests. The author declares no conflicts of interest.

ORCID АВТОРА:

Соболева Н. И. / Soboleva N. I. — 0009-0005-3038-9234

ОПЫТ РЕАЛИЗАЦИИ ОБРАЗОВАТЕЛЬНЫХ ПРОГРАММ ДЛЯ ПОЖИЛЫХ ПАЦИЕНТОВ В УСЛОВИЯХ ОГБУЗ «КЛИНИЧЕСКИЙ ГОСПИТАЛЬ ВЕТЕРАНОВ ВОЙН»

DOI: 10.37586/2686-8636-3-2025-386-388

УДК: 615.035.1

Бессонова Л. О. ^{ID}*¹, Демин И. В. ^{ID}¹, Кириченко О. А. ^{ID}¹, Пантелеева Е. О. ^{ID}¹,
Брикова С. И. ^{ID}¹, Верлан Н. В. ^{ID}², Киреева В. В. ^{ID}³

¹ ОГБУЗ «Клинический госпиталь ветеранов войн», Иркутск, Россия

² ГБОУ ДПО «Иркутская государственная медицинская академия последипломного образования» Минздрава России, Иркутск, Россия

³ ФГБУ науки Иркутский научный центр Сибирского отделения Российской академии наук (ИНЦ СО РАН), Иркутск, Россия

*Автор, ответственный за переписку, Бессонова Любовь Орестовна. E-mail: l-bess@mail.ru

Резюме

АКТУАЛЬНОСТЬ. Школа здоровья — организационная форма группового профилактического консультирования (МКБ 10, Z70–Z76), гигиенического обучения и воспитания, являющаяся комплексной медицинской профилактической услугой. Реализация образовательных программ для пациентов старшей возрастной группы является перспективной частью формирования здорового образа жизни, профилактики полипрагмазии, улучшения качества жизни и других аспектов рационального подхода к персонификации оказания медицинской помощи пожилым пациентам.

ЦЕЛЬ ИССЛЕДОВАНИЯ. Проанализировать опыт проведения образовательных мероприятий в условиях стационара и поликлиники; оценить эффективность обучения пациентов на разных этапах оказания медицинской помощи; определить факторы обучаемости различных групп пациентов и выявить проблемы эффективного взаимодействия в группах обучающихся.

МАТЕРИАЛЫ И МЕТОДЫ.

1. Анкеты-отзывы обратной связи пациентов.

2. Образовательные модули по нозологическим профилям.

РЕЗУЛЬТАТЫ. Школы для граждан с различными хроническими заболеваниями или с высоким риском их развития являются одними из обязательных составляющих 2-го этапа диспансеризации взрослого населения и диспансерного наблюдения за гражданами 2-й и 3-й групп здоровья (Приказ Министерства здравоохранения Российской Федерации от 27.04.2021 № 404н «Об утверждении Порядка проведения профилактического медицинского осмотра и диспансеризации определенных групп взрослого населения»). Школы рекомендовано проводить на базе отделений (кабинетов) медицинской профилактики для взрослых или центров здоровья. Кроме того, актуальным инструментом создания преемственности образования пациентов на разных этапах оказания медицинской помощи является внедрение школ здоровья в условиях круглосуточного стационара. Образовательные модули в стационаре и в поликлинике несут различную информационную нагрузку. Проанализирован опыт работы школ здоровья в условиях круглосуточного стационара ОГБУЗ «Клинический госпиталь ветеранов» и поликлиники больницы ИНЦ СО РАН. В стационаре в течение двух лет проведено 4 месячника здоровья. Участвовало 127 пациентов старшей возрастной группы (средний возраст 76,7 года). Из них 84 женщины, 43 мужчины. Проведено 18 лекций, 27 семинаров, 4 мастер-класса. В поликлинике обучение прошли 77 женщин и 23 мужчины (средний возраст 73,2 года). Проведено 22 лекции, 8 семинаров, 3 мастер-класса. Лекции и семинары посвящены профилактике неинфекционных заболеваний. Проанализировано 120 анкет обратной связи пациентов после участия в образовательных модулях в стационаре и 94 анкеты амбулаторных пациентов.

ЗАКЛЮЧЕНИЕ. По результатам проведенного исследования на основании анкетирования установлено:

1. Наибольший интерес у пациентов старшей возрастной группы как в стационаре, так и в поликлинике вызывают вопросы рационального использования лекарственных средств, организации правильного питания при сахарном диабете и поражении желудочно-кишечного тракта, профилактики падений.
2. Наиболее эффективными формами обучения признаны семинары в малых группах и мастер-классы.
3. Выявлены особенности организации образовательных мероприятий: плохое восприятие лекционного материала в связи с нарушением слуха у пациентов пожилого возраста; быстрое истощение внимания, обусловленное когнитивным дефицитом.
4. Наиболее перспективными формами совершенствования образовательной деятельности в медицинских организациях являются:
 - работа в малых группах;
 - индивидуальные беседы и тренинги;
 - обязательная визуализация;
 - наглядный раздаточный материал;
 - поставленный голос врача;

- простая речь короткими фразами;
- длительность обзорной части не более 20 мин;
- повторение ключевых фраз для запоминания;
- достаточное время для вопросов и ответов;
- привлечение к организации уроков среднего персонала;
- выбор комфортного помещения;
- терпение спикера.

Ключевые слова: обучение пациентов; пожилой возраст; школы здоровья.

Для цитирования: Бессонова Л. О., Демин И. В., Кириченко О. А., Пантелеева Е. О., Брикова С. И., Верлан Н. В., Киреева В. В. Опыт реализации образовательных программ для пожилых пациентов в условиях ОГБУЗ «Клинический госпиталь ветеранов войн». *Российский журнал гериатрической медицины*. 2025; 35 (23) : 386–388. DOI: 10.37586/2686-8636-3-2025-386-388

Поступила: 10.04.2025. Принята к печати: 17.04.2025. Дата онлайн-публикации: 26.09.2025.

EXPERIENCE IN IMPLEMENTING EDUCATIONAL PROGRAMS FOR ELDERLY PATIENTS IN THE CONDITIONS OF THE OGBUZ CLINICAL HOSPITAL FOR WAR VETERANS

Bessonova L. O. ^{*1}, Demin I. V. ¹, Kirichenko O. A. ¹, Panteleeva E. O. ¹, Brikova S. I. ¹, Verlan N. V. ², Kireeva V. V. ³

¹ Clinical Hospital of War Veterans, Irkutsk, Russia

² Irkutsk state medical academy of postgraduate education of the Ministry of health of the Russian Federation, Irkutsk, Russia

³ Irkutsk Scientific Center of the Siberian Branch of the Russian Academy of Sciences (INC SB RAS), Irkutsk, Russia

* Corresponding author: Bessonova Lubov Orestovna. E-mail: l-bess@mail.ru

Abstract

BACKGROUND. The School of Health is an organizational form of group preventive counseling (ICD 10, Z70–Z76), hygienic education and upbringing, which is a comprehensive medical preventive service. The implementation of educational programs for patients of the older age group is a promising part of the formation of a healthy lifestyle, prevention of polypragmasia, improvement of quality of life and other aspects of a rational approach to the personification of medical care for elderly patients.

OBJECTIVE. To analyze the experience of conducting educational events in a hospital and polyclinic; evaluate the effectiveness of patient education at different stages of medical care; to determine the learning factors of different groups of patients and to identify the problems of effective interaction in learning groups.

MATERIALS AND METHODS.

1. Questionnaire-Patient feedback reviews.

2. Educational modules on nosological profiles.

RESULTS. Schools for citizens with various chronic diseases or with a high risk of developing them are a mandatory component of the second stage of dispensary examination of the adult population and dispensary monitoring of citizens of the second and third health groups (Order of the Ministry of Health of the Russian Federation of April 27, 2021, No. 404n, «On Approval of the Procedure for Preventive Medical Examination and Dispensary Examination of Certain Groups of the Adult Population»). It is recommended to conduct schools on the basis of the department (office) of medical prevention for adults or Health Centers. In addition, the introduction of health schools in a round-the-clock hospital is an important tool for creating continuity of education for patients at different stages of medical care. Educational modules in the hospital and in the polyclinic carry a different information load. An analysis was conducted of the experience of health schools in the context of the 24-hour inpatient clinic of the Clinical Hospital for Veterans and the outpatient clinic of the hospital of the Institute of Scientific and Research Center of the Siberian Branch of the Russian Academy of Sciences. The patient underwent a four-month hospitalization, during which time they were treated in a medical facility. The study population comprised 127 patients from the older age group, with an average age of 76.7 years. Among the total sample of participants, 84 of the subjects were female, while 43 of the subjects were male. A total of 18 lectures, 27 seminars, and 4 master classes were conducted. In the polyclinic, 77 women and 23 men (average age 73.2 years) were trained. 22 lectures, 8 seminars, and 3 masterclasses were held. The topics of lectures and seminars are devoted to the prevention of non-communicable diseases. 120 feedback questionnaires from patients after participating in educational modules in the hospital and 94 outpatient questionnaires were analyzed.

CONCLUSION. According to the results of the conducted research, based on the questionnaire, it was established:

1. The issues of rational use of medicines, organization of proper nutrition in diabetes mellitus and gastrointestinal infarction, and prevention of falls are of the greatest interest to patients of the older age group both in the hospital and in the polyclinic.
2. Seminars in small groups and masterclasses are recognized as the most effective forms of training.
3. The features of the organization of educational events are identified — poor perception of lecture material due to hearing impairment in elderly patients, rapid exhaustion of attention due to cognitive deficits.
4. The most promising forms of improving educational activities in medical organizations are:
 - Working in small groups
 - Individual talks and trainings
 - Mandatory visualization
 - Visual handout
 - The delivered voice of the doctor Simple speech in short phrases
 - The duration of the review part is no more than 20 minutes
 - Repeating key phrases for memorization
 - Enough time for questions and answers
 - Involving middle staff in the organization of lessons
 - Choosing a comfortable room
 - Speaker's patience

Keywords: patient education; old age; health schools.

For citation: Bessonova L. O., Demin I. V., Kirichenko O. A., Panteleeva E. O., Brikova S. I., Verlan N. V., Kireeva V. V. Experience in implementing educational programs for elderly patients in the conditions of the OGBUZ Clinical Hospital for War Veterans. *Russian Journal of Geriatric Medicine*. 2025 ; 3S (23) : 386–388. DOI: 10.37586/2686-8636-3-2025-386-388

Received: 10.04.2025. Accepted: 17.04.2025. Published online: 26.09.2025.

ДОПОЛНИТЕЛЬНАЯ ИНФОРМАЦИЯ / ADDITIONAL INFORMATION

Финансирование. Исследование не имело спонсорской поддержки.

Funding Sources: This study had no external funding sources.

Конфликт интересов. Авторы декларируют отсутствие явных и потенциальных конфликтов интересов, связанных с содержанием настоящей статьи.

Conflict of Interests. The authors declare no conflicts of interest.

Вклад авторов. Все авторы в равной степени участвовали в разработке концепции статьи, получении и анализе фактических

данных, написании и редактировании текста статьи, проверке и утверждении текста статьи.

Author contribution. All authors according to the ICMJE criteria participated in the development of the concept of the article, obtaining and analyzing factual data, writing and editing the text of the article, checking and approving the text of the article.

ORCID АВТОРОВ:

Бессонова Л. О. / Bessonova L. O. — 0000-0002-1806-098X

Демин И. В. / Demin I. V. — 0009-0004-4454-6168

Кириченко О. А. / Kirichenko O. A. — 0009-0002-5753-6773

Пантелеева Е. О. / Panteleeva E. O. — 0009-0007-4719-8113

Брикова С. И. / Brikova S. I. — 0009-0007-9288-7495

Верлан Н. В. / Verlan N. V. — 0000-0002-4603-0200

Киреева В. В. / Kireeva V. V. — 0000-0003-3696-9799

ОЦЕНКА ВЗАИМОСВЯЗИ ПРОЯВЛЕНИЙ КОГНИТИВНОГО ДЕФИЦИТА И ПОКАЗАТЕЛЯ СОСУДИСТОГО ВОЗРАСТА У БОЛЬНЫХ АРТЕРИАЛЬНОЙ ГИПЕРТЕНЗИЕЙ

DOI: 10.37586/2686-8636-3-2025-389-391

УДК: 616. 12-008. 331. 1:612. 821. 2-053

Крючкова О. Н. ^{1*}, Ицкова Е. А. ¹, Лутай Ю. А. ¹, Турна Э. Ю. ¹, Костюкова Е. А. ¹, Жукова Н. В. ²

¹ Медицинский институт им. С. И. Георгиевского ФГАОУ ВО «КФУ им. В. И. Вернадского», Керчь, Россия

² ГБУЗ РК «Симферопольская ГКБ № 7», Симферополь, Россия

* Автор, ответственный за переписку, Крючкова Ольга Николаевна.
E-mail: kryuchkova62@yandex.ru

Резюме

АКТУАЛЬНОСТЬ. Сосудистый возраст рассматривается как дополнительный критерий прогрессирования сердечно-сосудистого заболевания и сердечно-сосудистого старения. Артериальная гипертензия (АГ) способствует возникновению когнитивных нарушений, выходящих за пределы возрастной нормы.

ЦЕЛЬ ИССЛЕДОВАНИЯ. Оценка корреляционной взаимосвязи сосудистого возраста и проявлений умеренного когнитивного расстройства у больных АГ.

МАТЕРИАЛЫ И МЕТОДЫ. В исследование включены 30 больных АГ 1 и 2 степени: 12 мужчин и 18 женщин в возрасте от 67 до 70 лет. Всем больным проводились клиническое, лабораторное и инструментальное обследование в соответствии с клиническими рекомендациями. На основании модифицированной таблицы SCORE рассчитывали сосудистый возраст с учетом пола, возраста, статуса курения, уровней артериального давления и общего холестерина сыворотки крови. Наличие проявлений умеренного когнитивного расстройства оценивали по данным опросника самооценки памяти. Количество баллов более 45 позволяло заподозрить когнитивные нарушения. Объективно оценивали умеренное когнитивное нарушение, проводя минимальное нейропсихологическое исследование на способность запомнить и повторить слова до и после выполнения теста «Часы».

РЕЗУЛЬТАТЫ. У всех больных сосудистый возраст был выше, чем хронологический. Средний хронологический возраст составил $(62,4 \pm 11,6)$ года, средний сосудистый возраст — $(68,7 \pm 10,6)$ года. Преобладание сосудистого возраста над хронологическим варьировало от 2 до 10 лет и прямо пропорционально коррелировало со стажем АГ ($r = 0,64$). Когнитивные нарушения по данным теста самооценки памяти были выявлены у 11 больных (36,6 %). Средний балл теста самооценки памяти составил 38,39. Показатель данного теста коррелировал с показателем сосудистого возраста ($r = 0,65$). Объективная оценка позволила подтвердить умеренное когнитивное расстройство у 7 больных (23,3 %). По данным минимального нейропсихологического исследования, они не смогли воспроизвести ранее запомненные слова и у 4 из них на рисунке наблюдались заметные отклонения в положении стрелок или цифр на циферблате часов. У данных пациентов сосудистый возраст превышал хронологический на 7–10 лет.

ЗАКЛЮЧЕНИЕ. Полученные результаты показали, что АГ может приводить к развитию когнитивного дефицита. Влияние факторов риска АГ (что отражает показатель сосудистого возраста) и увеличение стажа АГ ассоциируется с вероятностью развития умеренных когнитивных расстройств.

Ключевые слова: артериальная гипертензия; когнитивный дефицит.

Для цитирования: Крючкова О. Н., Ицкова Е. А., Лутай Ю. А., Турна Э. Ю., Костюкова Е. А., Жукова Н. В. Оценка взаимосвязи проявлений когнитивного дефицита и показателя сосудистого возраста у больных артериальной гипертензией. *Российский журнал гериатрической медицины*. 2025 ; 3S (23) : 389–391. DOI: 10.37586/2686-8636-3-2025-389-391

Поступила: 10.04.2025. Принята к печати: 17.04.2025. Дата онлайн-публикации: 26.09.2025.

ASSESSMENT OF THE RELATIONSHIP BETWEEN MANIFESTATIONS OF COGNITIVE DEFICIT AND THE INDICATOR OF VASCULAR AGE IN PATIENTS WITH ARTERIAL HYPERTENSION

Kryuchkova O. N. ^{1*}, Itskova E. A. ¹, Lutai Yu. A. ¹, Turna E. Yu. ¹, Kostyukova E. A. ¹, Zhukova N. V. ²

¹ Medical Institute named after S. I. Georgievsky, Kerch, Russia

² State Budgetary Institution of the Republic of Crimea «Simferopol Municipal Clinical Hospital No. 7», Simferopol, Russia

* Corresponding author: Kryuchkova Olga Nikolaevna. E-mail: kryuchkova62@yandex.ru

Abstract

BACKGROUND. ascular age is considered as an additional criterion for the progression of cardiovascular disease and cardiovascular aging. Arterial hypertension contributes to the development of cognitive impairments that go beyond the age norm.

OBJECTIVE. Evaluation of the correlation relationship between vascular age and manifestations of moderate cognitive impairment in patients with arterial hypertension.

MATERIALS AND METHODS. The study included 30 patients with stage 1 and 2 arterial hypertension, 12 men, 18 women, aged 67 to 70 years. All patients underwent clinical, laboratory and instrumental examination in accordance with clinical recommendations. Based on the modified SCORE table, vascular age was calculated taking into account gender, age, smoking status, blood pressure and total serum cholesterol levels. The presence of manifestations of moderate cognitive impairment was assessed using the self-assessment questionnaire. A score of more than 45 points allowed us to suspect cognitive impairment. Moderate cognitive impairment was objectively assessed by conducting a minimal neuropsychological study on the ability to remember and repeat words before and after the Clock test.

RESULTS. In all patients, the vascular age was higher than the chronological age. The average chronological age was (62.4 ± 11.6) year, the average vascular age was (68.7 ± 10.6) year. The predominance of vascular age over chronological age varied from 2 to 10 years and was directly proportional to the duration of arterial hypertension ($r = 0.64$). Cognitive impairment, according to the memory self-assessment test, was detected in 11 patients (36.6 %). The average score of the memory self-assessment test was 38.39. The indicator of this test correlated with the vascular age indicator ($r = 0.65$). Objective assessment confirmed moderate cognitive impairment in 7 patients (23.3 %). According to the minimal neuropsychological examination, they were unable to reproduce previously memorized words, and 4 of them had noticeable deviations in the position of the hands or numbers on the clock face in the drawing. In these patients, the vascular age exceeded the chronological age by 7–10 years.

CONCLUSION. The obtained results showed that arterial hypertension can lead to the development of cognitive deficit. The influence of risk factors for arterial hypertension, which reflects the vascular age indicator, and an increase in the duration of arterial hypertension is associated with the likelihood of developing mild cognitive impairment.

Keywords: arterial hypertension; cognitive deficit.

For citation: Kryuchkova O. N., Itskova E. A., Lutai Yu. A., Turna E. Yu., Kostyukova E. A., Zhukova N. V. Assessment of the relationship between manifestations of cognitive deficit and the indicator of vascular age in patients with arterial hypertension. *Russian Journal of Geriatric Medicine*. 2025 ; 3S (23) : 389–391. DOI: 10.37586/2686-8636-3-2025-389-391

Received: 10.04.2025. Accepted: 17.04.2025. Published online: 26.09.2025.

ДОПОЛНИТЕЛЬНАЯ ИНФОРМАЦИЯ / ADDITIONAL INFORMATION

Финансирование. Исследование не имело спонсорской поддержки.

Funding Sources: This study had no external funding sources.

Конфликт интересов. Авторы декларируют отсутствие явных и потенциальных конфликтов интересов, связанных с содержанием настоящей статьи.

Conflict of Interests. The authors declare no conflicts of interest.

Вклад авторов. Все авторы в равной степени участвовали в разработке концепции статьи, получении и анализе фактических данных, написании и редактировании текста статьи, проверке и утверждении текста статьи.

Authors' contribution. All authors according to the ICMJE criteria participated in the development of the concept of the article, obtaining and analyzing factual data, writing and editing the text of the article, checking and ap-proving the text of the article.

ORCID АВТОРОВ:

Крючкова О. Н. / Kryuchkova O. N. — 0000-0003-0350-6843

Ицкова Е. А. / Itskova E. A. — 0000-0002-1427-5174

Лутай Ю. А. / Lutai Yu. A. — 0000-0003-1318-1069

Турна Э. Ю. / Turna E. Yu. — 0000-0001-6446-2261

Костюкова Е. А. / Kostyukova E. A. — 0000-0002-3311-2346

Жукова Н. В. / Zhukova N. V. — 0000-0003-3994-5784

СРОКИ ДОСТИЖЕНИЯ ЦЕЛЕВОГО УРОВНЯ АРТЕРИАЛЬНОГО ДАВЛЕНИЯ ПРИ ИЗМЕНЕНИИ СТРАТЕГИИ СТАРТОВОЙ АНГИПЕРТЕНЗИВНОЙ ТЕРАПИИ

DOI: 10.37586/2686-8636-3-2025-392-394

УДК: 616.12-008.331:615.225.2

Крючкова О. Н. ^{1*}, Огорокова Т. О. ², Ицкова Е. А. ¹, Лутай Ю. А. ¹, Турна Э. Ю. ¹,
Костюкова Е. А. ¹

¹ Медицинский институт им. С. И. Георгиевского ФГАОУ ВО «КФУ им. В. И. Вернадского»,
Керчь, Россия

² ГБУЗ РК «Керченская больница № 1 им. Н. И. Пирогова», Керчь, Россия

* Автор, ответственный за переписку, Крючкова Ольга Николаевна.

E-mail: kryuchkova62@yandex.ru

Резюме

АКТУАЛЬНОСТЬ. Стандартизированный подход в терапии артериальной гипертензии (АГ) — использование в качестве первого шага двойной комбинации лекарственных препаратов с последующим возможным переходом на 3-компонентную комбинацию — показывает, что приблизительно 50 % пациентов нуждаются в тройной комбинации. Использование данной стратегии приводит к увеличению сроков достижения контроля артериального давления (АД) и возможному снижению приверженности больных назначенному лечению.

ЦЕЛЬ ИССЛЕДОВАНИЯ. Оценка эффективности контроля АД при использовании стратегии назначения 3-компонентной антигипертензивной терапии в качестве рестартовой.

МАТЕРИАЛЫ И МЕТОДЫ. В исследование включено 165 больных (возраст — 65–75 лет) с АГ 2–3 степени высокого или очень высокого сердечно-сосудистого риска, не использовавших регулярно препараты антигипертензивной терапии. Группу А составили 96 пациентов с АГ, которым в качестве терапии первого шага была назначена 2-компонентная антигипертензивная комбинация, включающая препараты из четырех классов первой линии (ингибиторы ангиотензинпревращающего фермента (иАПФ), блокаторы рецепторов ангиотензина II (БРА), антагонисты кальция (БКК), диуретики), с последующей титрацией дозы и возможным добавлением 3-го препарата при недостижении целевого уровня АД. В группу Б были включены 69 пациентов с аналогичными параметрами АГ, которые ранее получали 2-компонентную антигипертензивную терапию и отмечали ее неэффективность (при условии отсутствия регулярного приема препаратов в течение последнего месяца); им была назначена 3-компонентная терапия. Контроль офисного АД проводился каждые 2–4 недели, динамику суточных параметров АД оценивали через 2 и 3 месяца.

РЕЗУЛЬТАТЫ. В группе А целевой уровень АД при использовании 2-компонентной терапии был достигнут у 29 пациентов (30,2 %). Эффективный контроль АД на фоне второго шага терапии (при добавлении третьего препарата) был достигнут еще у 59 пациентов (61,4 %). В группе Б наблюдалось более быстрое достижение целевого уровня АД. Уже через 1 мес. терапии в группе рестартовой 3-компонентной терапии наблюдалось достижение целевого АД у 40 пациентов (70,2 %), что сопровождалось более значимой динамикой большинства суточных параметров АД, тогда как в группе А через 1 мес. терапии целевого АД достигли только 10 больных (16,9 %).

ЗАКЛЮЧЕНИЕ. Использование рестартовой тройной лекарственной комбинации у пациентов, указывающих на отсутствие контроля АД при использовании двух антигипертензивных препаратов в прошлом, продемонстрировало высокую скорость достижения целевых уровней АД и достижение ранней положительной динамики суточных параметров АД. У пациентов, имеющих предикторы неэффективности 2-компонентной антигипертензивной терапии, возможно сокращение сроков первого шага с ранним переходом на тройную антигипертензивную комбинацию с целью достижения эффективного контроля АД в кратчайшее время.

Ключевые слова: рестартовая тройная лекарственная комбинация.

Для цитирования: Крючкова О. Н., Огорокова Т. О., Ицкова Е. А., Лутай Ю. А., Турна Э. Ю., Костюкова Е. А. Сроки достижения целевого уровня артериального давления при изменении стратегии стартовой антигипертензивной терапии. *Российский журнал гериатрической медицины*. 2025 ; 3S (23) : 392–394. DOI: 10.37586/2686-8636-3-2025-392-394

Поступила: 10.04.2025. Принята к печати: 17.04.2025. Дата онлайн-публикации: 26.09.2025.

TIME TO ACHIEVE TARGET BLOOD PRESSURE WHEN CHANGING INITIAL ANTIHYPERTENSIVE THERAPY STRATEGY

Kryuchkova O. N. ^{1*}, Okorokova T. O. ², Itskova E. A. ¹, Lutai Yu. A. ¹, Turna E. Yu. ¹, Kostyukova E. A. ¹

¹ Medical Institute named after S. I. Georgievsky, V. I. Vernadsky Federal State Autonomous Institution of Higher Education, Kerch, Russia

² Kerch Hospital No. 1 named after N. I. Pirogov, Kerch, Russia

* Corresponding author: Kryuchkova Olga Nikolaevna. E-mail: kryuchkova62@yandex.ru

Abstract

BACKGROUND. A standardized approach to the use of a dual drug combination in the treatment of arterial hypertension (AH) as a first step, with subsequent possible transition to a three-component combination, shows that approximately 50 % of patients require a triple combination. The use of this strategy leads to an increase in the time to achieve blood pressure (BP) control, and a possible decrease in patient adherence to the prescribed treatment.

OBJECTIVE. To evaluate the effectiveness of blood pressure control using a strategy of triple antihypertensive therapy as a restart antihypertensive therapy.

MATERIALS AND METHODS. The study included 165 patients with grade 2–3 hypertension and high or very high cardiovascular risk, aged 65 to 75 years, who did not regularly use antihypertensive drugs. Group A consisted of 96 patients with hypertension who were prescribed a dual antihypertensive combination as first-step therapy, including drugs from four first-line classes (angiotensin-converting enzyme inhibitors (ACE inhibitors), angiotensin II receptor blockers (ARBs), calcium antagonists (CCBs), diuretics), with subsequent dose titration and possible addition of a third drug if the target BP level was not achieved. Group B included 69 patients with similar hypertension parameters who had previously taken dual antihypertensive therapy and noted its ineffectiveness (provided that no drugs were taken regularly during the last month). Office blood pressure monitoring was performed every 2–4 weeks; the dynamics of daily blood pressure parameters were assessed after 2 and 3 months.

RESULTS. Of the 96 patients in Group A, the target BP level with two-component therapy was achieved in 29 patients (30.2 %). Effective BP control during the 2nd step of therapy with the addition of the third drug was achieved in another 59 patients in Group A (61.4 %). In Group B, a faster achievement of the target BP level was observed. Already after 1 month of therapy in the restart three-component therapy group, the achievement of the target BP was observed in 40 patients (70.2 %), which was accompanied by more significant dynamics of most daily BP parameters, whereas in Group A after 1 month of therapy, only 10 (16.9 %) patients achieved the target BP, the rest were at the stage of dose and treatment strategy adjustment.

CONCLUSION. The use of a restart triple drug combination in patients indicating lack of blood pressure control when using two antihypertensive drugs in the past demonstrated a rapid rate of achieving target blood pressure levels and achieving early positive dynamics of daily blood pressure parameters. In patients with predictors of ineffective dual antihypertensive therapy, it is possible to shorten the first step with an early transition to a triple antihypertensive combination in order to achieve effective blood pressure control in the shortest possible time.

Keywords: restart triple drug combination.

For citation: Kryuchkova O. N., Okorokova T. O., Itskova E. A., Lutai Yu. A., Turna E. Yu., Kostyukova E. A. Time to achieve target blood pressure when changing initial antihypertensive therapy strategy. *Russian Journal of Geriatric Medicine*. 2025 ; 3S (23) : 392–394. DOI: 10.37586/2686-8636-3-2025-392-394

Received: 10.04.2025. Accepted: 17.04.2025. Published online: 26.09.2025.

ДОПОЛНИТЕЛЬНАЯ ИНФОРМАЦИЯ / ADDITIONAL INFORMATION

Финансирование. Исследование не имело спонсорской поддержки.

Funding Sources: This study had no external funding sources.

Конфликт интересов. Авторы декларируют отсутствие явных и потенциальных конфликтов

интересов, связанных с содержанием настоящей статьи.

Conflict of Interests. The authors declare no conflicts of interest.

Вклад авторов. Все авторы в равной степени участвовали в разработке концепции статьи, получении и анализе фактических данных, написании и редактировании текста статьи, проверке и утверждении текста статьи.

Author contribution. All authors according to the ICMJE criteria participated in the development of the concept of the article, obtaining and analyzing factual data, writing and editing the text of the article, checking and approving the text of the article.

ORCID АВТОРОВ:

Крючкова О. Н. / Kryuchkova O. N. — 0000-0003-0350-6843
Окорокова Т. О. / Okorokova T. O. — 0000-0002-8888-8168
Ицкова Е. А. / Itskova E. A. — 0000-0002-1427-5174
Лутай Ю. А. / Lutai Yu. A. — 0000-0003-1318-1069
Турна Э. Ю. / Turna E. Yu. — 0000-0001-6446-2261
Костюкова Е. А. / Kostyukova E. A. — 0000-0002-3311-2346

ДОЗИРОВАННАЯ ХОДЬБА КАК ЭФФЕКТИВНЫЙ МЕТОД РЕАБИЛИТАЦИИ ПАЦИЕНТОВ С СОЧЕТАНИЕМ АРТЕРИАЛЬНОЙ ГИПЕРТЕНЗИИ И ХРОНИЧЕСКОЙ ОБСТРУКТИВНОЙ БОЛЕЗНИ ЛЕГКИХ

DOI: 10.37586/2686-8636-3-2025-395-397

УДК: 616.12-008.331:796.012.14+616.24-036.12

Крючкова О. Н. ^{1*}, Бубнова М. А. ², Ицкова Е. А. ¹, Лутай Ю. А. ¹, Турна Э. Ю. ¹, Костюкова Е. А. ¹

¹ Медицинский институт им. С. И. Георгиевского ФГАОУ ВО «КФУ им. В. И. Вернадского», Керчь, Россия

² ООО Многопрофильный медицинский центр «Инсан Мед», Керчь, Россия

*Автор, ответственный за переписку, Крючкова Ольга Николаевна.

E-mail: kryuchkova62@yandex.ru

Резюме

АКТУАЛЬНОСТЬ. Гиподинамия является важным фактором риска развития многих заболеваний. Малоактивный образ жизни приводит к усугублению кардиоваскулярной и респираторной патологии. Дозированная ходьба — самый доступный и эффективный метод физической реабилитации в домашних условиях для пациентов с кардиоваскулярной и бронхообструктивной патологией. К тому же она безопасна с точки зрения ортопедического риска и риска сердечно-сосудистых осложнений. Однако исследования, посвященные изучению эффективности контроля артериального давления (АД) и качества жизни у коморбидных пациентов, использующих регулярные физические тренировки, в частности дозированную ходьбу, на сегодняшний день немногочисленны.

ЦЕЛЬ ИССЛЕДОВАНИЯ. Изучить влияние на достижение контроля АД дозированной ходьбы как дополнения к стандартным методам лечения у пациентов с артериальной гипертензией (АГ) и хронической обструктивной болезнью легких (ХОБЛ).

МАТЕРИАЛЫ И МЕТОДЫ. Обследовано 85 пациентов с диагнозом «АГ 2 стадии 1-2 степени, риск III (высокий), ХОБЛ GOLD 2, группа В». Средний возраст больных — $(67,90 \pm 1,06)$ года. Больным группы А в дополнение к медикаментозной терапии была назначена дозированная ходьба. Больные группы Б получали только лекарственную терапию. Всем пациентам проводили клинические, лабораторные и инструментальные исследования в соответствии с клиническими рекомендациями, также было проведено суточное исследование показателей АД, оценены депрессивные расстройства по шкале Бека и показатели качества жизни по опроснику SF-36 в начале лечения, через 6 недель и 6 месяцев.

РЕЗУЛЬТАТЫ. На фоне систематического применения физических методов реабилитации (дозированной ходьбы) в дополнение к стандартной медикаментозной терапии у пациентов с АГ и ХОБЛ наблюдается более заметное снижение частоты жалоб, улучшение показателей качества жизни, нормализация АД, частоты сердечных сокращений и показателей липидограммы, а также снижение частоты депрессии. В группе А отдаленные результаты подтвердили наибольшую эффективность проводимого лечения: целевого уровня АД достигли 91,1 % пациентов. Также отмечалась более высокая приверженность проводимой терапии: физические тренировки продолжали выполнять 93,3 % пациентов.

ЗАКЛЮЧЕНИЕ. Дозированную ходьбу целесообразно включать в программу медицинской реабилитации коморбидных пациентов в дополнение к стандартной медикаментозной терапии с целью достижения контроля АД, улучшения качества жизни и повышения приверженности к регулярной антигипертензивной терапии.

Ключевые слова: дозированная ходьба; контроль артериального давления.

Для цитирования: Крючкова О. Н., Бубнова М. А., Ицкова Е. А., Лутай Ю. А., Турна Э. Ю., Костюкова Е. А. Дозированная ходьба как эффективный метод реабилитации пациентов с сочетанием артериальной гипертензии и хронической обструктивной болезни легких. *Российский журнал гериатрической медицины*. 2025 ; 38 (23) : 395–397. DOI: 10.37586/2686-8636-3-2025-395-397

Поступила: 10.04.2025. Принята к печати: 17.04.2025. Дата онлайн-публикации: 26.09.2025.

DOSED WALKING AS AN EFFECTIVE METHOD OF REHABILITATION OF PATIENTS WITH A COMBINATION OF ARTERIAL HYPERTENSION AND CHRONIC OBSTRUCTIVE PULMONARY DISEASE

Kryuchkova O. N. ^{1*}, Bubnova M. A. ², Itskova E. A. ¹, Lutai Yu. A. ¹, Turna E. Yu. ¹, Kostyukova E. A. ¹

¹ Medical Institute named after S. I. Georgievsky, V. I. Vernadsky Federal State Autonomous Institution of Higher Education, Kerch, Russia

² Multidisciplinary Medical Center of Insan Med LLC, Kerch, Russia

* Corresponding author: Kryuchkova Olga Nikolaevna. E-mail: kryuchkova62@yandex.ru

Abstract

BACKGROUND. Hypodynamia is an important risk factor for the development of many diseases, and a sedentary lifestyle leads to aggravation of cardiovascular and respiratory pathology. The most accessible and effective method of physical rehabilitation for patients with cardiovascular and broncho-obstructive pathology at home, as well as safe in terms of orthopedic risk and the risk of cardiovascular complications, is dosed walking. However, studies devoted to the study of the effectiveness of blood pressure control, quality of life in comorbid patients using regular physical training, in particular, dosed walking, are currently few in number.

OBJECTIVE. To study the effect of dosed walking in addition to standard treatment in patients with hypertension and COPD on achieving blood pressure control.

MATERIALS AND METHODS. A total of 85 patients diagnosed with stage 2 hypertension, grade 1-2, risk III (high), COPD GOLD 2, group B were examined. The average age of the patients was (67.90 ± 1.06) years. In addition to drug therapy, dosed walking was added to the patients of group A. Patients of group B received drug therapy only. All patients underwent clinical, laboratory and instrumental examination methods in accordance with clinical recommendations, as well as a daily study of blood pressure indicators, depressive disorders were assessed using the Beck scale and quality of life indicators using the SF-36 questionnaire at the beginning of treatment, after 6 weeks and 6 months.

RESULTS. With the systematic use of physical rehabilitation methods (dosed walking) for patients with hypertension and COPD in addition to standard drug therapy, a more effective reduction in the frequency of complaints, improvement in quality of life, normalization of blood pressure, heart rate, lipid profile, and a decrease in the frequency of depression are observed. In the group of patients performing physical training, the long-term results confirmed the highest effectiveness of the treatment, with 91.1 % of patients achieving the target blood pressure level. Higher adherence to the therapy was also noted, with 93.3 % of patients continuing to perform physical training.

CONCLUSION. It is advisable to include dosed walking in the medical rehabilitation program of comorbid patients in addition to standard drug therapy in order to achieve blood pressure control, improve quality of life and increase patient adherence to regular antihypertensive therapy.

Keywords: dosed walking; blood pressure control.

For citation: Kryuchkova O. N., Bubnova M. A., Itskova E. A., Lutai Yu. A., Turna E. Yu., Kostyukova E. A. Dosed walking as an effective method of rehabilitation of patients with a combination of arterial hypertension and chronic obstructive pulmonary disease. *Russian Journal of Geriatric Medicine*. 2025 ; 3S (23) : 395–397. DOI: 10.37586/2686-8636-3-2025-395-397

Received: 10.04.2025. Accepted: 17.04.2025.
Published online: 26.09.2025.

ДОПОЛНИТЕЛЬНАЯ ИНФОРМАЦИЯ / ADDITIONAL INFORMATION

Финансирование. Исследование не имело спонсорской поддержки.

Funding Sources: This study had no external funding sources.

Конфликт интересов. Авторы декларируют отсутствие явных и потенциальных конфликтов

интересов, связанных с содержанием настоящей статьи.

Conflict of Interests. The authors declare no conflicts of interest.

Вклад авторов. Все авторы в равной степени участвовали в разработке концепции статьи, получении и анализе фактических данных, написании и редактировании текста статьи, проверке и утверждении текста статьи.

Author contribution. All authors according to the ICMJE criteria participated in the

development of the concept of the article, obtaining and analyzing factual data, writing and editing the text of the article, checking and approving the text of the article.

ORCID АВТОРОВ:

Крючкова О. Н. / Kryuchkova O. N. — 0000-0003-0350-6843

Бубнова М. А. / Bubnova M. A. — 0000-0002-6581-4510

Ицкова Е. А. / Itskova E. A. — 0000-0002-1427-5174

Лутай Ю. А. / Lutai Yu. A. — 0000-0003-1318-1069

Турна Э. Ю. / Turna E. Yu. — 0000-0001-6446-2261

Костюкова Е. А. / Kostyukova E. A. — 0000-0002-3311-2346

ДИНАМИКА МИНЕРАЛЬНО-КОСТНЫХ НАРУШЕНИЙ У ПАЦИЕНТОВ ПОЖИЛОГО ВОЗРАСТА С ХРОНИЧЕСКОЙ БОЛЕЗНЬЮ ПОЧЕК

DOI: 10.37586/2686-8636-3-2025-398-400

УДК: 616.71-001.5-021.3

Вишняк Д. А. ^{*}, Джафарова Н. М. ¹, Урманцева Н. Р. ¹, Куликов Е. Д. ¹,
Тимурова Д. Н. ¹, Гирфанова Э. О. ²

¹ БУ ВО «Сургутский государственный университет», Сургут, Россия

² БУ «Сургутская окружная клиническая больница», Сургут, Россия

*Автор, ответственный за переписку, Вишняк Диана Анатольевна.

E-mail: diana100187@yandex.ru

Резюме

Переломы являются социально-экономическим бременем во всем мире. При хронической болезни почек частота переломов в 5 раз выше, чем в общей популяции, особенно значимо эта цифра превалирует на продвинутых стадиях почечной дисфункции и у пожилых пациентов. В 4 раза выше, чем среди населения в целом, частота переломов бедра у пациентов, находящихся на диализе. В нашем проспективном исследовании мы проанализировали показатели минерально-костных нарушений у пациентов пожилого возраста с хронической болезнью почек, прогностические данные калькулятора FRAX® у данной когорты пациентов, а также выделили наиболее значимые предикторы развития переломов. Полученные данные будут использованы для завершения проектирования информационной системы дистанционной оценки риска развития переломов в ближайшие 3 года.

АКТУАЛЬНОСТЬ. Минерально-костные нарушения (МКН) являются одним из ведущих осложнений у пациентов пожилого возраста с хронической болезнью почек (ХБП).

ЦЕЛЬ ИССЛЕДОВАНИЯ. Оценить 3-летнюю динамику МКН у пациентов с ХБП.

МАТЕРИАЛЫ И МЕТОДЫ. В исследование вошло 50 пациентов, средний возраст которых составил $(67,4 \pm 1,6)$ года. Каждому пациенту на момент начала исследования и спустя 3 года был определен 10-летний риск развития переломов, проведено лабораторно-инструментальное обследование. Статистическую обработку проводили, используя программу SPSS Statistics 22.

РЕЗУЛЬТАТЫ. Ультимативное большинство пациентов составили больные с ХБП 3–5 стадии (76 %). У пациентов с МКН и ХБП были зафиксированы: вторичный гиперпаратиреоз, дефицит и недостаточность 25-ОН витамина Д на всех стадиях ХБП, гиперфосфатемия преимущественно на стадии ХБПС5. Переломы в анамнезе имели 3 пациента, ранняя менопауза была обнаружена у 3 женщин, глюкокортикостероиды более 3 мес. принимали 4 пациента. В коморбидной патологии лидировал сахарный диабет, верифицированный у 21 пациента ($n = 21$; 42 %). Остеопороз был у каждого третьего больного ХБП ($n = 15$; 30 %). В назначении терапии нуждались 18 пациентов ($n = 18$; 36 %): нативные и активные формы витамина Д, препараты кальция, фосфатбиндеры, бисфосфонаты, человеческое моноклональное антитело IgG2. За 3-летний период наблюдения из исследования по причине смерти вышло 7 пациентов ($n = 7$; 14 %): тяжелая дистрофия внутренних органов в исходе интоксикации, обусловленной септическим процессом ($n = 1$; 2 %); полиорганная недостаточность ($n = 3$; 6 %); недостаточность кровообращения ($n = 2$; 4 %); суицид ($n = 1$; 2 %). У 8 пациентов ($n = 8$; 16 %) были зарегистрированы низкоэнергетические переломы. Однако 3 года назад шкала FRAX® спрогнозировала развитие переломов в ближайшие 10 лет только у 4 наших пациентов ($n = 4$; 8 %). На 12 % увеличилась частота регистрации остеопороза. Своевременное назначение терапии позволило бы предотвратить развитие переломов у обследуемой группы за период 3-летнего наблюдения. Проведенный ROC-анализ установил необходимость проведения пожилым пациентам с ХБП как FRAX®, так и остеоденситометрии, которые при совместном использовании позволяют качественно выявлять риски переломов и остеопороз у пациентов с ХБП. Также полученные результаты факторного анализа позволили выявить наиболее значимые предикторы развития переломов при ХБП, а кластерный анализ распределил данные параметры в группы.

ЗАКЛЮЧЕНИЕ.

1. Остеопороз по данным DXA регистрируется у каждого третьего пациента пожилого возраста с ХБП ($n = 15$; 30 %).
2. Только 8 % пациентов с ХБП имели высокие риски развития переломов в ближайшие 10 лет по данным FRAX®. Значения, полученные спустя 3 года, были сопоставимы.
3. Несмотря на низкие риски развития переломов спустя 10 лет по данным FRAX®, каждый шестой пациент с ХБП ($n = 8$; 16 %) имел низкоэнергетический перелом за 3 года наблюдения.
4. Полученные данные будут использованы для проектирования информационной системы оценки риска развития переломов при хронической болезни почек у пожилых пациентов в ближайшие 3 года.
5. Пациенты с ХБП нуждаются в проведении адекватной антиостеопоротической терапии с целью профилактики МКН.

Ключевые слова: хроническая болезнь почек; минерально-костные нарушения; остеопороз.

Для цитирования: Вишняк Д. А., Джафарова Н. М., Урманцева Н. Р., Куликов Е. Д., Тимурова Д. Н., Гирфанова Э. О. Динамика минерально-костных нарушений у пациентов пожилого возраста с хронической болезнью почек. *Российский журнал гериатрической медицины*. 2025 ; 35 (23) : 398–400. DOI: 10.37586/2686-8636-3-2025-398-400

Поступила: 10.04.2025. Принята к печати: 17.04.2025. Дата онлайн-публикации: 26.09.2025.

DYNAMICS OF BONE MINERAL DISORDERS IN ELDERLY PATIENTS WITH CHRONIC KIDNEY DISEASE

Vishnyak D. A. ^{1*}, Dzhaifarova N. M. ¹, Urmanceva N. R. ¹, Kulikov E. D. ¹, Timurova D. N. ¹, Girfanova E. O. ²

¹ Surgut State University, Surgut, Russia

² Surgut District Clinical Hospital, Surgut, Russia

* Corresponding author: Vishnyak Diana Anatolyevna. E-mail: diana100187@yandex.ru

Abstract

Fractures represent a significant socioeconomic burden worldwide. In chronic kidney disease, the incidence of fractures is five times higher than in the general population, with this disparity being particularly pronounced in advanced stages of renal dysfunction and among elderly patients. Hip fractures are four times more common in dialysis patients compared to the general population. In our prospective study, we analyzed mineral and bone disorder parameters in elderly patients with CKD, assessed FRAX calculator prognostic data in this patient cohort, and identified the most significant predictors of fracture development. The obtained data will be used to finalize the design of an information system for remote assessment of fracture risk over the next three years.

BACKGROUND. Mineral and bone disorders (MBD) are one of the leading complications in elderly patients with chronic kidney disease (CKD).

OBJECTIVE. To assess the three-year dynamics of mineral and bone disorders in patients with chronic kidney disease.

MATERIALS AND METHODS. The study included 50 patients with a mean age of (67.4 ± 1.6) year. For each patient, the 10-year fracture risk was assessed at baseline and after 3 years, along with comprehensive laboratory and instrumental examinations. Statistical analysis was performed using SPSS Statistics 22 software.

RESULTS. The overwhelming majority of patients had CKD stages 3–5 (76 %). The following CKD-MBD manifestations were recorded: secondary hyperparathyroidism, vitamin D deficiency/insufficiency across all CKD stages, and hyperphosphatemia predominantly in CKD5. Three patients had fracture history, 3 women experienced early menopause, and 4 patients received glucocorticoids for >3 months. Diabetes mellitus was the leading comorbidity ($n = 21$; 42 %). Osteoporosis was present in every third CKD patient ($n = 15$; 30 %). In the study cohort, 18 patients ($n = 18$; 36 %) required therapeutic intervention: native and active forms of vitamin D, calcium supplements, phosphate binders, bisphosphonates, and human monoclonal IgG2 antibody. During the three-year follow-up period, 7 patients ($n = 7$; 14 %) were lost to follow-up due to death: severe internal organ dystrophy resulting from intoxication caused by septic process ($n = 1$; 2 %), multiple organ failure ($n = 3$; 6 %), circulatory failure ($n = 2$; 4 %), and suicide ($n = 1$; 2 %). Additionally, 8 patients ($n = 8$; 16 %) experienced low-energy fractures. However, three years earlier, the FRAX scale had predicted fracture development within the next 10 years for only 4 of our patients ($n = 4$; 8 %). The recorded incidence of osteoporosis also increased by 12 %. Timely initiation of therapy could have prevented fracture development in the study group during the three-year observation period. The performed ROC analysis established the necessity of conducting both FRAX® and bone densitometry in elderly CKD patients, as their combined use enables effective identification of fracture risks and osteoporosis in patients with chronic kidney disease. Furthermore, the obtained results of factor analysis allowed identification of the most significant predictors of fracture development in CKD, while cluster analysis grouped these parameters into distinct categories.

CONCLUSION.

1. Osteoporosis by DXA was detected in every third elderly patient with CKD ($n = 15$; 30 %).

2. Only 8 % of CKD patients had a high 10-year fracture risk according to FRAX®. The values remained comparable after three years.

3. Despite the low 10-year fracture risk predicted by FRAX®, every sixth CKD patient ($n = 8$; 16 %) experienced a low-energy fracture during the 3-year follow-up.

4. The obtained data will be used to develop an information system for fracture risk assessment in elderly CKD patients within the next three years.

5. CKD patients require adequate anti-osteoporotic therapy to prevent the onset and progression of MBD.

Keywords: chronic kidney disease; mineral and bone disorders; osteoporosis.

For citation: Vishnyak D. A., Dzhafarova N. M., Urmantseva N. R., Kulikov E. D., Timurova D. N., Girfanova E. O. Dynamics of bone mineral disorders in elderly patients with chronic kidney disease. *Russian Journal of Geriatric Medicine*. 2025 ; 3S (23) : 398–400. DOI: 10.37586/2686-8636-3-2025-398-400

Received: 10.04.2025. Accepted: 17.04.2025. Published online: 26.09.2025.

ДОПОЛНИТЕЛЬНАЯ ИНФОРМАЦИЯ / ADDITIONAL INFORMATION

Финансирование. Исследование не имело спонсорской поддержки.

Funding Sources: This study had no external funding sources.

Конфликт интересов. Авторы декларируют отсутствие явных и потенциальных конфликтов интересов, связанных с содержанием настоящей статьи.

Conflict of Interests. The authors declare no conflicts of interest.

Вклад авторов. Все авторы в равной степени участвовали в разработке концепции статьи, получении и анализе фактических

данных, написании и редактировании текста статьи, проверке и утверждении текста статьи.

Author contribution. All authors according to the ICMJE criteria participated in the development of the concept of the article, obtaining and analyzing factual data, writing and editing the text of the article, checking and approving the text of the article.

ORCID АВТОРОВ:

Вишняк Д. А. / Vishnyak D. A. — 0000-0002-8473-5930

Джафарова Н. М. / Dzhafarova N. M. — 0009-0006-0903-0515

Урманцева Н. Р. / Urmantseva N. R. — 0000-0001-9163-6132

Куликов Е. Д. / Kulikov E. D. — 0009-0004-3602-3957

Тимурова Д. Н. / Timurova D. N. — 0009-0001-4282-6033

Гирфанова Э. О. / Girfanova E. O. — 0009-0009-5788-6563

ЭФФЕКТИВНОСТЬ И БЕЗОПАСНОСТЬ ИМПЛАНТАЦИИ АОРТАЛЬНОГО КЛАПАНА У ЛИЦ СТАРШЕ 75 ЛЕТ

DOI: 10.37586/2686-8636-3-2025-401-403

УДК: 616.12-089

Киракосян В. Р.^{ID¹}, Давтян А. Г.^{ID¹}, Ардашев В. Н.^{ID¹}, Новиков Е. М.^{ID^{1,2*}}, Герасименко Е. А.^{ID^{2,3}}, Глоба И. В.^{ID³}, Щербакова А. П.^{ID²}

¹ ФГБУ «Клиническая больница № 1» УД Президента РФ, Москва, Россия

² ФГУП «Главное производственно-коммерческое управление по обслуживанию дипломатического корпуса при МИД РФ», филиал «МединЦентр», Москва, Россия

³ ФГАОУ ВО Первый МГМУ им. И. М. Сеченова Минздрава России (Сеченовский Университет), Москва, РФ

*Автор, ответственный за переписку: Новиков Егор Михайлович.

E-mail: dr.enovikov@gmail.com

Резюме

АКТУАЛЬНОСТЬ. Стеноз аортального клапана является наиболее распространенным заболеванием клапанов сердца, требующим хирургического вмешательства. Особенностью данного порока является длительный бессимптомный период. После декомпенсации 5-летняя выживаемость у данных больных без операции снижается до 1–5 %.

ЦЕЛЬ ИССЛЕДОВАНИЯ. Оценка эффективности и безопасности транскатетерной имплантации аортального клапана при критическом аортальном стенозе у больных старческого возраста в сравнении с пациентами младше 75 лет.

МАТЕРИАЛЫ И МЕТОДЫ. Коллективом авторов проанализированы результаты 72 операций транскатетерной имплантации аортального клапана у пациентов с критическим аортальным стенозом, выполненных в Клинической больнице № 1 (Волынской) УДП РФ в 2015–2024 гг. Все пациенты были разделены на 2 группы в зависимости от возраста. В первую группу (основная группа, ОГ) включили 39 пациентов старше 75 лет (средний возраст больных — $80,69 \pm 3,80$ года). Для сравнения сформирована контрольная группа (группа сравнения, ГС) из 33 пациентов младше 75 лет (средний возраст — $66,18 \pm 6,17$ года).

РЕЗУЛЬТАТЫ. У всех пациентов ОГ в послеоперационном периоде отмечалось значительное уменьшение максимального градиента на аортальном клапане до референсных значений остаточного градиента на биопротезе аортального клапана с $83,54 \pm 24,55$ мм рт. ст. до $19,78 \pm 5,75$ мм рт. ст. В ГС уменьшение градиента систолического давления на аортальном клапане наблюдалось с $89,58 \pm 30,76$ мм рт. ст. до $20,75 \pm 6,95$ мм рт. ст. Следует отметить достоверное увеличение фракции выброса левого желудочка в среднем на 2,7 % ($p < 0,05$) непосредственно после имплантации клапана у пациентов обеих групп. Дополнительно отмечалось статистически значимое снижение систолического давления в легочной артерии на 7 ± 4 мм рт. ст., что уменьшило долю больных с легочной гипертензией на 10 % в ОГ и на 33 % в ГС. В раннем послеоперационном периоде у пациентов обеих групп наблюдалось снижение гемоглобина (в среднем на 19,64 г/л в ОГ и на 16,22 г/л в ГС) и эритроцитов (на $0,62 \cdot 10^{12}/л$ в ОГ и на $0,51 \cdot 10^{12}/л$ в ГС). Одновременно с этим наблюдалось небольшое уменьшение уровня креатинина и возрастание скорости клубочковой фильтрации в обеих группах, что указывает на улучшение функции почек после коррекции аортального порока. Это свидетельствует об успехе операции и достижении клинических целей непосредственно после ее завершения. Всего из анализируемого контингента больных умер 1 человек в ОГ (летальность — 2,5 %). Осложнения чаще встречались у пациентов ОГ (установка электрокардиостимулятора — 10 % vs 9 % случаев в ГС, кровотечения — 10 % vs 3 %, нарушения ритма — 59 % vs 47 %, фибрилляция предсердий — 16 % vs 6 %).

ЗАКЛЮЧЕНИЕ. Транскатетерная имплантация аортального клапана является эффективным и безопасным методом лечения при аортальном стенозе у пациентов высокого и умеренного риска хирургического вмешательства, в том числе у лиц старческого возраста, являясь достойной альтернативой классической «открытой» операции. Уменьшение числа осложнений может быть достигнуто при использовании более современных моделей протезов, допускающих безопасное и при необходимости многократное репозиционирование протеза.

Ключевые слова: аортальный стеноз; транскатетерная имплантация аортального клапана; приобретенные пороки сердца.

Для цитирования: Киракосян В. Р., Давтян А. Г., Ардашев В. Н., Новиков Е. М., Герасименко Е. А., Глоба И. В., Щербакова А. П. Эффективность и безопасность имплантации аортального клапана у лиц старше 75 лет. *Российский журнал гериатрической медицины*. 2025; 3S (23) : 401–403. DOI: 10.37586/2686-8636-3-2025-401-403

Поступила: 10.04.2025. Принята к печати: 17.04.2025. Дата онлайн-публикации: 26.09.2025.

THE EFFECTIVENESS AND SAFETY OF THE AORTIC VALVE IMPLANTATION IN PEOPLE OVER 75 YEARS OLD

Kirakosyan V. R. ¹, Davtyan A. G. ¹, Ardashev V. N. ¹, Novikov E. M. ^{1,2*}, Gerasimenko E. A. ^{2,3}, Globa I. V. ³, Shcherbakova A. P. ²

¹ Clinical Hospital № 1 of Department of President Administration, Moscow, Russia

² Medincenter — branch Main Administration for Service to the Diplomatic Corps, Moscow, Russia

³ The First Sechenov Moscow State Medical University (Sechenov University), Moscow, Russia

* Corresponding author: Novikov Egor Mikhailovich. E-mail: dr.enovikov@gmail.com

Abstract

BACKGROUND. Stenosis of the aortic valve is the most common heart disease that requires surgical intervention. A feature of this vice is a long asymptomatic period. After decompensation, five -year survival in these patients without surgery decreases to 1–5 %.

OBJECTIVE. Assessment of the effectiveness and safety of transcatheter implantation of the aortic valve with critical aortic stenosis in senile patients compared to patients under 75 years of age.

MATERIALS AND METHODS. The team of authors analyzed the results of 72 transcathe implant operations of aortic valve in patients with critical aortic stenosis performed in the Clinical Hospital № 1 for the period from 2015 to 2024. All patients were divided into 2 groups depending on age. The first group included 39 patients over 75 years old (the average age of patients is (80.69 ± 3.80) year). For comparison, a control group of 33 patients under 75 years old was formed (the average age was (66.18 ± 6.17) year).

RESULTS. In all patients of the studied group in the postoperative period, there was a significant decrease in the maximum gradient on the aortic valve to the reference values of the residual gradient on the aortic valve with (83.54 ± 24.55) mm Hg up to (19.78 ± 5.75) mm Hg. In the comparison group, a decrease in the gradient of systolic pressure on the aortic valve was observed from (89.58 ± 30.76) mm Hg to (20.75 ± 6.95) mm Hg. It should be noted a reliable increase in left ventricular ejection fraction on average by 2.7 % ($p < 0.05$) immediately after the valve implantation in patients of both groups. Additionally, a statistically significant decrease in pulmonary artery systolic pressure by (7 ± 4) mm Hg was noted, which reduced the proportion of patients with pulmonary hypertension by 10 % in patients in the main group and by 33 % in patients under 75 years of age. In the early postoperative period in patients of both groups, a decrease in hemoglobin was observed (on average by 19.64 g/l in the main and 16.22 g/l in group 2), red blood cells (by $0.62 \cdot 10^{12}/l$ and $0.51 \cdot 10^{12}/l$). At the same time, there was a slight decrease in the level of creatinine and the increase in the glomerular filtration rate in both groups, which indicates an improvement in the function of the kidneys after the correction of the aortic defect. This indicates the success of the operation and the achievement of clinical goals immediately after the intervention. In total, one person in a group over 75 years old died in the analyzed contingent of patients (2.5 % mortality). The total number of complications was often found in senile patients (the installation of pacemaker 10 % vs. 9 % of cases, bleeding 10 % vs. 3 %, rhythm disorders 59 % vs. 47 %, atrial fibrillation 16 % vs. 6 %).

CONCLUSION. Transcatheter implantation of the aortic valve is an effective and safe treatment for aortic stenosis in patients with high and moderate risk of surgical intervention, including senile people, being a worthy alternative to the classical «open» surgery. A decrease in the number of complications can be achieved by using more modern prosthesis models that allow safe and, if necessary, multiple repositioning of the prosthesis.

Keywords: aortic stenosis; transcatheter implantation of the aortic valve; acquired heart defects.

For citation: Kirakosyan V. R., Davtyan A. G., Ardashev V. N., Novikov E. M., Gerasimenko E. A., Globa I. V., Shcherbakova A. P. The effectiveness and safety of the aortic valve implantation in people over 75 years old. *Russian Journal of Geriatric Medicine*. 2025 ; 3S (23) : 401–403. DOI: 10.37586/2686-8636-3-2025-401-403

Received: 10.04.2025. Accepted: 17.04.2025. Published online: 26.09.2025.

ДОПОЛНИТЕЛЬНАЯ ИНФОРМАЦИЯ / ADDITIONAL INFORMATION

Финансирование. Исследование не имело спонсорской поддержки.

Funding Sources: This study had no external funding sources.

Конфликт интересов. Авторы декларируют отсутствие явных и потенциальных конфликтов интересов, связанных с содержанием настоящей статьи.

Conflict of Interests. The authors declare no conflicts of interest.

Вклад авторов. Все авторы в равной степени участвовали в разработке концепции статьи, получении и анализе фактических данных, написании и редактировании текста статьи, проверке и утверждении текста статьи.

Author contribution. All authors according to the ICMJE criteria participated in the development of the concept of the article, obtaining and analyzing factual data, writing and editing the text of the article, checking and ap-proving the text of the article.

ORCID АВТОРОВ:

Киравосян В. Р. / Kirakosyan V. R. — 0000-0001-8982-2091

Давтян А. Г. / Davtyan A. G. — 0000-0002-0269-9404

Ардашев В. Н. / Ardashev V. N. — 0000-0002-1183-3441

Новиков Е. М. / Novikov E. M. — 0000-0002-6851-5786

Герасименко Е. А. / Gerasimenko E. A. — 0009-0007-1342-4100

Глоба И. В. / Globa I. V. — 0000-0002-7185-4324

Щербакoвa А. П. / Shcherbakova A. P. — 0009-0008-9573-2250

ВЗАИМОСВЯЗЬ УРОВНЯ ЛЕПТИНА И ПОКАЗАТЕЛЕЙ СИСТЕМНОГО ВОСПАЛЕНИЯ У ПАЦИЕНТОВ МУЖСКОГО ПОЛА С ГЕНЕРАЛИЗОВАННЫМ ПАРОДОНТИТОМ НА ФОНЕ ИЗБЫТОЧНОЙ МАССЫ ТЕЛА

DOI: 10.37586/2686-8636-3-2025-404-405

УДК: 616.314.17-008.1:616-056.52:577.118

Крючков Д. Ю. , Романенко И. Г. , Джерелей А. А. , Крючкова О. Н. *

Медицинский институт им. С. И. Георгиевского ФГАОУ ВО «КФУ им. В. И. Вернадского», Керчь, Россия

*Автор, ответственный за переписку, Крючкова Ольга Николаевна.

E-mail: kryuchkova62@yandex.ru

Резюме

АКТУАЛЬНОСТЬ. Активация воспаления в пародонте неразрывно связана с системными процессами в организме, сопровождающимися воспалительным ответом. В частности, избыточная масса тела в большинстве случаев сопровождается развитием инсулинорезистентности и гиперлептинемии. Гормон жировой ткани лептин в условиях инсулинорезистентности способствует активации воспаления, изменению цитокиновой регуляции.

ЦЕЛЬ ИССЛЕДОВАНИЯ. Изучить взаимосвязь клинического состояния тканей пародонта, иммунологических показателей системного воспаления и уровня лептина у мужчин с генерализованным пародонтитом в сочетании с избыточной массой тела.

МАТЕРИАЛЫ И МЕТОДЫ. В группу обследования вошли 96 мужчин в возрасте 65–75 лет с генерализованным пародонтитом на фоне избыточной массы тела; в группу сравнения — 32 больных генерализованным пародонтитом (без избыточной массы тела); в контрольную группу — 33 здоровых мужчины. Проведено клиническое обследование: определение методом ИФА в сыворотке крови лептина; в ротовой жидкости интерлейкинов ИЛ-1 β , ИЛ-4, ИЛ-6, ФНО- α , секреторного IgA.

РЕЗУЛЬТАТЫ. Установлена сильная положительная корреляционная зависимость уровня лептина, показателей пародонтологических индексов и содержания в ротовой жидкости ИЛ-6 и ФНО- α ($r = 0,72$ и $r = 0,71$ соответственно, при $p < 0,01$). Корреляционная связь уровня лептина и содержания в ротовой жидкости ИЛ-4 носила характер сильной отрицательной ($r = -0,7$). Корреляция между уровнем лептина и содержанием в ротовой жидкости ИЛ-1 β и секреторного IgA являлась средней положительной ($r = 0,64$; $p < 0,01$) и средней отрицательной ($r = -0,49$; $p < 0,01$) соответственно.

ЗАКЛЮЧЕНИЕ. Выявленные корреляционные взаимосвязи свидетельствуют о формирующемся в условиях гиперлептинемии дисбалансе в системе цитокинов, который сопровождается снижением эффективности местного иммунитета и активацией воспаления.

Ключевые слова: гиперлептинемия; пародонтологические индексы.

Для цитирования: Крючков Д. Ю., Романенко И. Г., Джерелей А. А., Крючкова О. Н. Взаимосвязь уровня лептина и показателей системного воспаления у пациентов мужского пола с генерализованным пародонтитом на фоне избыточной массы тела. *Российский журнал гериатрической медицины*. 2025 ; 3S (23) : 404–405. DOI: 10.37586/2686-8636-3-2025-404-405

Поступила: 10.04.2025. Принята к печати: 17.04.2025. Дата онлайн-публикации: 26.09.2025.

RELATIONSHIP BETWEEN LEPTIN LEVELS AND SYSTEMIC INFLAMMATION INDICES IN OVERWEIGHT MALE PATIENTS WITH GENERALIZED PERIODONTITIS

Kryuchkov D. Yu. , Romanenko I. G. , Dzhereley A. A. , Kryuchkova O. N. *

Medical Institute named after S. I. Georgievsky, Kerch, Russia

* Corresponding author: Kryuchkova Olga Nikolaevna. E-mail: kryuchkova62@yandex.ru

Abstract

BACKGROUND. Activation of inflammation in the periodontium is inextricably linked with systemic processes in the body, accompanied by an inflammatory response. One of these conditions is excess body weight, which in most cases is accompanied by the development of insulin resistance and hyperleptinemia. The adipose tissue hormone leptin, in conditions of insulin resistance, promotes the activation of inflammation, changes in cytokine regulation.

OBJECTIVE. To study the relationship between the clinical state of periodontal tissues, immunological indicators of systemic inflammation and leptin levels in men with generalized periodontitis in combination with excess body weight.

MATERIALS AND METHODS. The study involved 96 men aged 65–75 years with generalized periodontitis associated with excess body weight. The control group included 33 healthy individuals, the comparison group included 32 patients with generalized periodontitis. A clinical examination was performed, and serum leptin was determined by ELISA; interleukins IL-1 β , IL-4, IL-6, TNF- α , and secretory IgA were determined in oral fluid.

RESULTS. A strong positive correlation was established between the leptin level and the periodontal indices, the content of IL-6 and TNF- α in the oral fluid ($r = 0.72$ and $r = 0.71$, respectively, at $p < 0.01$). The correlation between the leptin level and the content of IL-4 in the oral fluid was strongly negative ($r = -0.7$). The correlation between the leptin level and the content of IL-1 β and secretory IgA in the oral fluid was moderately positive ($r = 0.64$; $p < 0.01$) and moderately negative ($r = -0.49$; $p < 0.01$), respectively.

CONCLUSION. The identified correlation relationships indicate an imbalance in the cytokine system that develops under conditions of hyperleptinemia, which is accompanied by a decrease in the effectiveness of local immunity and activation of inflammation.

Keywords: hyperleptinemia; periodontal indices.

For citation: Kryuchkov D. Yu., Romanenko I. G., Dzhereley A. A., Kryuchkova O. N. Relationship between leptin levels and systemic inflammation indices in overweight male patients with generalized periodontitis. *Russian Journal of Geriatric Medicine*. 2025 ; 35 (23) : 404–405. DOI: 10.37586/2686-8636-3-2025-404-405

Received: 10.04.2025. Accepted: 17.04.2025. Published online: 26.09.2025.

ДОПОЛНИТЕЛЬНАЯ ИНФОРМАЦИЯ / ADDITIONAL INFORMATION

Финансирование. Исследование не имело спонсорской поддержки.

Funding Sources: This study had no external funding sources.

Конфликт интересов. Авторы декларируют отсутствие явных и потенциальных конфликтов интересов, связанных с содержанием настоящей статьи.

Conflict of Interests. The authors declare no conflicts of interest.

Вклад авторов. Все авторы в равной степени участвовали в разработке концепции

статьи, получении и анализе фактических данных, написании и редактировании текста статьи, проверке и утверждении текста статьи.

Author contribution. All authors according to the ICMJE criteria participated in the development of the concept of the article, obtaining and analyzing factual data, writing and editing the text of the article, checking and approving the text of the article.

ORCID АВТОРОВ:

Крючков Д. Ю. / Kryuchkov D. Yu. — 0000-0003-2321-0740
Романенко И. Г. / Romanenko I. G. — 0000-0003-3678-7290
Джерелей А. А. / Dzhereley A. A. — 0000-0002-4427-7904
Крючкова О. Н. / Kryuchkova O. N. — 0000-0003-0350-6843

АССОЦИАЦИИ ЗАБОЛЕВАНИЙ ГЛАЗ И ХАРАКТЕРИСТИКИ ФИЗИЧЕСКИХ НАРУШЕНИЙ У ПАЦИЕНТОВ СТАРЧЕСКОГО И ПОЖИЛОГО ВОЗРАСТА

DOI: 10.37586/2686-8636-3-2025-406-408

УДК: 616-036

Трофимова А. А. *, Попов В. В. , Андреева Е. А. 

ФГБОУ ВО «Северный государственный медицинский университет» Минздрава России, Архангельск, Россия

*Автор, ответственный за переписку, Трофимова Анастасия Александровна.

E-mail: aa.trofimova@mail.ru

Резюме

АКТУАЛЬНОСТЬ. Нарушение баланса, снижение скорости ходьбы и скорости движений являются одними из ведущих гериатрических синдромов, определяющих качество жизни пожилых людей. Сенсорные дефициты у этой категории пациентов определяются как зрительные и слуховые нарушения. Сенсорные нарушения и нарушения физического статуса рассматриваются в качестве потенциально модифицируемых факторов, способных улучшить прогноз пожилого пациента и влияющих на другие домены здоровья. Однако взаимовлияние перечисленных гериатрических синдромов на данный момент изучено мало, кроме того, есть понимание, что маркерами гериатрических синдромов могут являться некоторые офтальмологические заболевания. Для обеспечения возможности гериатрического подхода необходимо знать, как могут меняться параметры физического статуса при некоторых патологиях сенсорных органов, в частности глаз. **ЦЕЛЬ ИССЛЕДОВАНИЯ.** Изучение связи некоторых гериатрических синдромов с патологией органа зрения у пожилых пациентов.

МАТЕРИАЛЫ И МЕТОДЫ. Была исследована 481 медицинская карта пациентов (форма 003-у), поступивших в ГБУЗ АО «Архангельский госпиталь ветеранов войн» в 2019–2023 гг., средний возраст — $(80,96 \pm 0,24)$ года. Всем пациентам была проведена Комплексная гериатрическая оценка (КГО), включающая оценку скорости ходьбы, баланса, питания (шкала MNA), функциональности (шкала Бартел), тест «Встань и иди», а также оценку риска падений (шкала Морсе). Критерии наличия синдрома были взяты из Клинических рекомендаций «Старческая астения» 2021 г. Всех пациентов обследовал врач-офтальмолог с помощью стандартных методов обследования для постановки диагноза. Авторы исследования регистрировали результаты найденных офтальмологических заболеваний как «наличие заболевания» и «отсутствие заболевания». Был проведен частотный анализ с расчетом критерия χ^2 Пирсона. Материалы были обработаны с помощью программы Stata.

РЕЗУЛЬТАТЫ. При анализе офтальмологического статуса исследуемой выборки самыми частыми патологиями органа зрения явились глаукома (27,9 %), катаракта (74,5 %) и ангиосклероз сосудов сетчатки (96,7 %). В исследуемой выборке высока доля нескорректированного зрения — 52,4 %. Ассоциации с полом показали: — нарушение остроты зрения наблюдается в равных долях у мужчин и женщин, у мужчин острота зрения незначительно выше;

— глаукома превалирует у женщин — почти в 3,5 раза;

— остальные офтальмологические заболевания не показали статистически значимых связей.

Заболевания глаз имеют статистически значимые связи с некоторыми из гериатрических синдромов. При наличии глаукомы скорость ходьбы снижена на 74 % чаще; при наличии катаракты она уменьшилась на 82 %; при наличии вторичной ретинопатии низкая скорость ходьбы встречается чаще на 115 %. При наличии нарушения рефракции результаты теста «Встань и иди» снижены чаще на 77 % (без коррекции на пол и возраст). При анализе выявлена связь между высоким риском падения по результату теста «Встань и иди» и нескорректированным зрением на обоих глазах: при наличии нескорректированного зрения вероятность иметь высокий риск падений увеличивается на 51 %. При оценке баланса статистически значимых ассоциаций с офтальмопатологиями не выявлено. Мальнутриция встречается чаще на 82 % в случае наличия глаукомы, а при вторичной ретинопатии — на 84 %.

ЗАКЛЮЧЕНИЕ. Данные ассоциации могут быть использованы при составлении программ индивидуальной реабилитации пациентов при консультировании врачами-гериатрами. Также данные могут быть использованы для внедрения гериатрического подхода в оказание офтальмологической медицинской помощи.

Ключевые слова: сенсорные дефициты; глаукома; катаракта; встань и иди; старческая астения; постуральный баланс; пожилые.

Для цитирования: Трофимова А. А., Попов В. В., Андреева Е. А. Ассоциации заболеваний глаз и характеристики физических нарушений у пациентов старческого и пожилого возраста. *Российский журнал гериатрической медицины*. 2025 ; 3S (23) : 406–408. DOI: 10.37586/2686-8636-3-2025-406-408

Поступила: 10.04.2025. Принята к печати: 17.04.2025. Дата онлайн-публикации: 26.09.2025.

ASSOCIATIONS BETWEEN EYE DISORDERS AND PHYSICAL IMPAIRMENT FEATURES IN ELDERLY AND SENESCENT PATIENTS

Trofimova A. A. *, Popov V. V. , Andreeva E. A. 

Northern State Medical University, Ministry of Health of the Russian Federation, Arkhangelsk, Russia

* Corresponding author: Trofimova Anastasiya Alexandrovna. E-mail: aa.trofimova@mail.ru

Abstract

BACKGROUND. Impaired balance, gait speed, and movement speed are among the leading geriatric syndromes affecting the quality of life in older adults. Sensory deficits in elderly patients include visual and hearing impairments. Sensory and physical impairments are considered potentially modifiable factors that may improve prognosis and influence other health domains in aging individuals. However, the interplay between these geriatric syndromes remains understudied. There is also evidence that certain ophthalmic diseases may serve as markers of geriatric syndromes. To implement a geriatric approach, it is essential to understand how physical status parameters may change in the presence of sensory organ pathologies, particularly the eyes.

OBJECTIVE. To study the association between certain geriatric syndromes and ocular pathologies in elderly patients.

MATERIALS AND METHODS. We analyzed 481 medical records (Form 003-u) of patients admitted to the Arkhangelsk Veterans' War Hospital between 2019 and 2023 (mean age: (80.96 ± 0.24) years old). All patients underwent a Comprehensive Geriatric Assessment (CGA), including evaluations of gait speed, balance, nutritional status (MNA scale), functionality (Barthel Index), the Timed Up and Go (TUG) test, and fall risk assessment (Morse Fall Scale). Criteria for geriatric syndromes were based on the 2021 Clinical Guidelines for Frailty in Old Age. An ophthalmologist examined all patients using standard diagnostic methods. Ophthalmic diagnoses were recorded as «present» or «absent».

Statistical analysis included frequency distribution and Pearson's χ^2 test, processed using Stata.

RESULTS. The most common ocular pathologies in the study cohort were glaucoma (27.9 %), cataract (74.5 %), and retinal angiosclerosis (96.7 %). Uncorrected vision was prevalent in 52.4 % of patients. Sex-based associations revealed:

- Visual acuity impairment (equal in men and women, slightly better in men).
- Glaucoma (3.5 times more frequent in women). No other statistically significant sex-linked ophthalmic associations were found. Ocular diseases showed significant correlations with geriatric syndromes:
- Glaucoma increased the likelihood of slow gait speed by 74 %.
- Cataract worsened gait speed by 82 %.
- Secondary retinopathy increased the prevalence of slow gait by 115 %.
- Uncorrected refractive errors were associated with 77 % worse TUG test results (adjusted for sex and age).
- Uncorrected bilateral vision impairment correlated with a higher fall risk (TUG test).
- Patients with uncorrected vision had a 51 % higher risk of falls.

No significant associations were found between ophthalmic pathologies and balance impairments.

- Glaucoma increased the risk of malnutrition by 82 %, while secondary retinopathy raised it by 84 %.

CONCLUSION. These associations can inform personalized rehabilitation programs in geriatric practice and support the integration of geriatric principles into ophthalmic care.

Keywords: sensory deficits; glaucoma; cataract; Timed Up and Go (TUG); frailty; postural balance; elderly.

For citation: Trofimova A. A., Popov V. V., Andreeva E. A. Associations between eye disorders and physical impairment features in elderly and senescent patients. *Russian Journal of Geriatric Medicine*. 2025 ; 35 (23) : 406–408. DOI: 10.37586/2686-8636-3-2025-406-408

Received: 10.04.2025. Accepted: 17.04.2025. Published online: 26.09.2025.

ДОПОЛНИТЕЛЬНАЯ ИНФОРМАЦИЯ / ADDITIONAL INFORMATION

Финансирование. Исследование не имело спонсорской поддержки.

Funding Sources: This study had no external funding sources.

Конфликт интересов. Авторы декларируют отсутствие явных и потенциальных конфликтов

интересов, связанных с содержанием настоящей статьи.

Conflict of Interests. The authors declare no conflicts of interest.

Вклад авторов. Все авторы в равной степени участвовали в разработке концепции статьи, получении и анализе фактических данных, написании и редактировании текста статьи, проверке и утверждении текста статьи.

Author contribution. All authors according to the ICMJE criteria participated in the development of the concept of the article, obtaining and analyzing factual data, writing and editing the text of the article, checking and approving the text of the article.

ORCID АВТОРОВ:

Трофимова А. А. / Trofimova A. A. — 0000-0002-2248-6991

Попов В. В. / Popov V. V. — 0000-0003-2281-0576

Андреева Е. А. / Andreeva E. A. — 0000-0002-3917-154X

ПОЖИЛЫЕ ЛЮДИ И ЦИФРОВЫЕ ФАРМАЦЕВТИЧЕСКИЕ СЕРВИСЫ: ПРОБЛЕМЫ, ПОТРЕБНОСТИ И РЕШЕНИЯ

DOI: 10.37586/2686-8636-3-2025-409-411

УДК 615.1+004

Лисенкова Ю. А. *, Григорьева И. А. 

ФГБОУ ВО Казанский ГМУ Минздрава России, Казань, Россия

*Автор, ответственный за переписку: Лисенкова Юлия Александровна, E-mail: julia.lisenkova10@yandex.ru

Резюме

В условиях глобального старения населения обеспечение доступности и качества медицинских услуг для пожилых людей становится актуальным. Цифровое здравоохранение, включая фармацевтические сервисы, открывает новые возможности для улучшения их качества жизни. Цель исследования — изучить опыт использования цифровых фармацевтических сервисов пожилыми людьми и выявить факторы, влияющие на их выбор. Социологический опрос среди пожилых людей и фармацевтических работников показал, что 46 % респондентов имеют средний уровень комфорта при использовании приложений, но лишь 7,7 % активно используют фармацевтические сервисы. Основные проблемы — задержки с доставкой и технические сбои. Большинство респондентов готовы обучаться использованию этих сервисов. Исследование направлено на разработку рекомендаций для улучшения доступности и качества цифровых услуг в фармацевтике для пожилых людей.

АКТУАЛЬНОСТЬ. В условиях глобального старения населения доступность и качество медицинских услуг для пожилых людей становятся крайне важными. Цифровое здравоохранение, включая фармацевтические сервисы, открывает новые возможности для улучшения качества их жизни, позволяя получать медицинские услуги и информацию на дому. Пандемия COVID-19 подчеркнула необходимость цифровых технологий в здравоохранении. Однако существует нехватка исследований о восприятии и использовании этих технологий пожилыми людьми.

ЦЕЛЬ ИССЛЕДОВАНИЯ. Изучить опыт использования цифровых фармацевтических сервисов пожилыми людьми и выявить факторы, влияющие на их выбор. Исследование анализирует потребности пожилых людей в цифровом здравоохранении и готовность фармацевтических работников к взаимодействию с ними.

МАТЕРИАЛЫ И МЕТОДЫ. Проведен социологический опрос пожилых людей (группа 1) и фармацевтических работников (группа 2) с использованием двух анкет для оценки осведомленности о цифровых фармацевтических сервисах, уровня их использования и удовлетворенности услугами. Применялись количественный и качественный анализ данных.

РЕЗУЛЬТАТЫ. Анализ анкет группы 1 выявил основные барьеры и препятствия, с которыми сталкиваются пожилые люди при использовании цифровых фармацевтических сервисов. Так, 46,0 % респондентов оценили свой уровень комфорта при использовании приложений как средний, в то время как лишь 7,7 % анкетируемых старше 60 лет регулярно используют фармацевтические сервисы и приложения. 30,7 % опрошенных использовали мобильные приложения для заказа лекарств, что свидетельствует об их востребованности. Среди сложностей, возникающих при работе с фармацевтическими сервисами и приложениями, респонденты отмечали задержки с доставкой или отменой заказов, а также технические неполадки. Большинство участников опроса (61,5 %) отметили, что они готовы научиться работать с фармацевтическими сервисами и потратить на это обучение более 30 минут. По результатам опроса группы 2 была проанализирована роль фармацевтических работников в процессе адаптации пожилых людей к новым технологиям. Результаты исследования могут стать основой для разработки рекомендаций по улучшению доступности и качества цифровых услуг в фармацевтической сфере для пожилых людей.

ЗАКЛЮЧЕНИЕ. Цифровые фармацевтические сервисы обладают потенциалом для улучшения доступа к медицинским услугам и повышения качества жизни пожилых людей. Однако для их эффективного использования необходимо преодолеть низкую осведомленность и возникающие проблемы. Улучшение доступности и эффективности сервисов способствует более здоровому и активному старению.

Ключевые слова: цифровое здравоохранение; фармацевтические сервисы; пожилые люди; технологическая осведомленность; здоровое старение.

Для цитирования: Лисенкова Ю. А., Григорьева И. А. Пожилые люди и цифровые фармацевтические сервисы: Проблемы, потребности и решения. *Российский журнал гериатрической медицины*. 2025 ; 3S (23) : 409–411. DOI: 10.37586/2686-8636-3-2025-409-411

Поступила: 10.04.2025. Принята к печати: 17.04.2025. Дата онлайн-публикации: 26.09.2025.

ELDERLY PEOPLE AND DIGITAL PHARMACEUTICAL SERVICES: CHALLENGES, NEEDS AND SOLUTIONS

Lisenkova Yu. A. *, Grigorieva I. A. 

Kazan State Medical University of the Ministry of Health of the Russian Federation, Kazan, Russia

* Corresponding author: Lisenkova Yulia Alexandrovna, E-mail: julia.lisenkova10@yandex.ru

Abstract

In the context of global population aging, ensuring the availability and quality of healthcare services for the elderly is becoming relevant. Digital healthcare, including pharmaceutical services, opens up new opportunities to improve their quality of life. The purpose of the study is to study the experience of using digital pharmaceutical services by the elderly and identify the factors influencing this. A sociological survey among the elderly and pharmaceutical workers showed that 46.0 % of respondents have an average level of comfort when using applications, but only 7.7 % actively use pharmaceutical services. The main problems are delivery delays and technical failures. Most respondents are willing to learn how to use these services. The study is aimed at developing recommendations for improving the availability and quality of digital pharmaceutical services for the elderly.

BACKGROUND. In the context of global population ageing, the availability and quality of healthcare for older people are becoming increasingly important. Digital healthcare, including pharmaceutical services, offers new opportunities to improve their quality of life by allowing them to receive healthcare services and information at home. The COVID-19 pandemic has highlighted the need for digital technologies in healthcare. However, there is a lack of research on older people's perception and use of these technologies.

OBJECTIVE. To study the experience of using digital pharmaceutical services by older people and identify influencing factors. The study analyzes the needs of older people in digital health and the willingness of pharmacists to interact with them.

MATERIALS AND METHODS. A sociological survey of elderly people and pharmaceutical workers was conducted using two questionnaires to assess awareness of digital pharmaceutical services, their use and satisfaction with services. Quantitative and qualitative data analysis were used.

RESULTS. The study identified the main barriers and obstacles that older people face when using digital pharmaceutical services. Thus, 46.0 % of respondents rated their comfort level when using applications as average, while only 7.7 % of respondents over 60 regularly use pharmaceutical services and applications. 30.7 % of respondents used mobile applications to order medicines, which indicates their demand. Among the difficulties encountered when working with pharmaceutical services and applications, respondents noted delays in delivery or cancellation of orders, as well as technical problems. Most survey participants (61.5 %) expressed a willingness to learn how to work with pharmaceutical services, ready to spend more than 30 minutes on this. The survey analyzed the role of pharmaceutical workers in the process of adaptation of older people to new technologies. The results of the study can form the basis for developing recommendations to improve the accessibility and quality of digital services in the pharmaceutical field for older people.

CONCLUSION. Digital pharmaceutical services have the potential to improve access to healthcare and enhance the quality of life of older people. However, their effective use requires overcoming low awareness and emerging challenges. Improving the availability and effectiveness of services contributes to healthier and more active ageing.

Keywords: digital health; pharmaceutical services; older adults; technology awareness; healthy aging.

For citation: Lisenkova Yu. A., Grigorieva I. A. Elderly People and Digital Pharmaceutical Services: Challenges, Needs and Solutions. *Russian Journal of Geriatric Medicine*. 2025 ; 3S (23) : 409–411. DOI: 10.37586/2686-8636-3-2025-409-411

Received: 10.04.2025. Accepted: 17.04.2025. Published online: 26.09.2025.

ДОПОЛНИТЕЛЬНАЯ ИНФОРМАЦИЯ / ADDITIONAL INFORMATION

Финансирование. Исследование не имело спонсорской поддержки.

Funding Sources: This study had no external funding sources.

Конфликт интересов. Авторы декларируют отсутствие явных и потенциальных конфликтов

интересов, связанных с содержанием настоящей статьи.

Conflict of Interests. The authors declare no conflicts of interest.

Вклад авторов. Все авторы в равной степени участвовали в разработке концепции статьи, получении и анализе фактических данных, написании и редактировании текста статьи, проверке и утверждении текста статьи.

Author contribution. All authors according to the ICMJE criteria participated in the development of the concept of the article, obtaining and analyzing factual data, writing and editing the text of the article, checking and ap-proving the text of the article.

ORCID АВТОРОВ:

Лисенкова Ю. А. / Lisenkova Yu. A. — 0009-0008-9393-5281

Григорьева И. А. / Grigoreva I. A. — 0000-0003-1983-8551

ВОССТАНОВЛЕНИЕ РЕЧИ В УСЛОВИЯХ УЧРЕЖДЕНИЯ СОЦИАЛЬНОГО ОБСЛУЖИВАНИЯ ГЕРОНТОЛОГИЧЕСКОГО ЦЕНТРА «ЕКАТЕРИНОДАР»

DOI: 10.37586/2686-8636-3-2025-412-414

УДК: 616-084

Кормилова В. М. *, Иванова Н. В. 

ГБУ СО КК «ГЦ «Екатеринодар», Краснодар, Россия

* Автор, ответственный за переписку, Кормилова Валентина Михайловна.

E-mail: valentina.kravchenko24@yandex.ru

Резюме

АКТУАЛЬНОСТЬ. В последнее время, судя по статистическим данным, наблюдается тенденция к увеличению количества больных с инсультом, наиболее часто имеющим такие последствия, как речевые нарушения, которые отмечаются у 30–40 % от общего числа больных и проявляются афазией и дизартрией. В связи с этим восстановление речи при афазии является актуальной проблемой геронтологической помощи. К наиболее распространенным вариантам афазии, требующим участия логопеда, относятся акустико-гностическая, акустико-мнестическая и семантическая ее формы. У большинства пациентов не удается добиться желаемых результатов коррекции из-за отсутствия мотивации к проведению реабилитации, обусловленного возрастом и сопутствующими заболеваниями (хроническая ишемия мозга, снижение слуха, нарушение когнитивных функций).

ЦЕЛЬ ИССЛЕДОВАНИЯ. Изучение результатов логопедической реабилитации у пациентов пожилого и старческого возраста, находившихся в геронтологическом центре (ГЦ) «Екатеринодар».

МАТЕРИАЛЫ И МЕТОДЫ. С июня 2024 г. в ГЦ «Екатеринодар» логопед по направлению терапевтов и/или гериатров центра проводила логопедические консультации. При проведении консультаций учитывались данные психологического паспорта пациента, составленного по результатам первичного осмотра медицинского психолога, с указанием состояния познавательной и эмоциональной сферы, особенностей социализации и характера. Всего обследованы и пролечены 15 пациентов (7 мужчин, 8 женщин, средний возраст $73,4 \pm 2,3$ года) с афазией, с которыми проведена коррекционно-восстановительная работа. У всех пациентов афазия являлась последствием перенесенного инсульта давностью от 6 мес. до 10 лет. Выявлялись следующие типы афазии: грубая сенсомоторная (4 чел.), акустико-гностическая (3 чел.), тотальная (3 чел.), акустико-мнестическая (4 чел.) и афферентная моторная афазия средней степени тяжести (1 чел.). Для коррекции афазии использовались различные методики, разработанные российскими учеными (М. М. Щербаковой, С. В. Котовым и др.), составлялись индивидуальные планы занятий. В каждом конкретном случае учитывались возрастные изменения памяти, уровень образования. При акустико-гностической форме проводилась работа над глобальным чтением и предметной отнесенностью слова, поиском логических ошибок. В данной группе пациентов применялись такие приемы, как разгадывание кроссвордов, подбор синонимов и антонимов к словам, пересказ текста. В план логопедической коррективной работы при семантической форме афазии включали анализ схематических картинок, а в случае расстройства легкой степени тяжести — выявление причинно-следственных связей, подбор предлогов, решение логических задач, исправление грамматических ошибок. При акустико-мнестической форме основой занятий являлось зрительное восприятие, которое дополнялось в зависимости от степени тяжести нарушений составлением предложений из отдельных слов, выполнением математических упражнений, выявлением логических ошибок в представленном тексте. Также в работе со всеми пациентами применялись элементы творческой терапии, логопедический массаж, артикуляционная гимнастика, занятия с педагогами и психологами. Статистическая обработка данных проводилась с помощью непараметрических критериев.

РЕЗУЛЬТАТЫ. Всего было проведено 442 индивидуальных логопедических занятия. Как показали контрольные исследования, через 3–6 мес. индивидуальных логопедических упражнений в комплексе с психологическими занятиями у всех 15 пациентов отмечалась положительная динамика речевого контакта разной степени выраженности на фоне улучшения психологического состояния.

ЗАКЛЮЧЕНИЕ. Логопедическая работа по преодолению афазии у лиц пожилого и старческого возраста в социальных учреждениях в синергии с психологами позволяет достичь положительных результатов и повысить социальную адаптацию.

Ключевые слова: афазия; социальные учреждения; гериатрический профиль.

Для цитирования: Кормилова В. М., Иванова Н. В. Восстановление речи в условиях учреждения социального обслуживания геронтологического центра «Екатеринодар». *Российский журнал гериатрической медицины*. 2025 ; 3S (23) : 412–414. DOI: 10.37586/2686-8636-3-2025-412-414

Поступила: 10.04.2025. Принята к печати: 17.04.2025. Дата онлайн-публикации: 26.09.2025.

SPEECH RECOVERY IN THE CONDITIONS OF THE SOCIAL SERVICE ENTITY OF THE GERONTOLOGICAL CENTER «EKATERINODAR»

Kormilova V. M. *, Ivanova N. V. 

The state entity of social services of Krasnodar region Gerontological center «Ekaterinodar», Krasnodar, Russia

* Corresponding author: Kormilova Valentina Mikhailovna.

E-mail: valentina.kravchenko24@yandex.ru

Abstract

BACKGROUND. Statistics have recently shown a tendency towards an increase in the number of stroke patients, most often with consequences such as speech disorders, which occur in 30–40 % of the total number of patients, manifested by aphasia and dysarthria. In this regard, the urgent problem of gerontology is the recovery of speech in aphasia. The most common variants of aphasia that require the participation of a speech therapist include acoustic-gnostic, acoustic-mnestic, and semantic forms of it. Taking into account the age of the patients and concomitant diseases (chronic cerebral ischemia, hearing loss, impaired cognitive functions, decreased mood), most of them fail to achieve the desired positive correction results due to lack of motivation for rehabilitation.

OBJECTIVE. The aim of the research was to study the results of speech therapy rehabilitation in elderly and senile patients who were in the gerontological center (GC) «Ekaterinodar».

MATERIALS AND METHODS. Materials and methods. Since June 2024, a speech therapist has been employed at GC Ekaterinodar, who, in the direction of internists and/or geriatricians of the center, conducted a speech therapy consultation, which took into account the results of an initial examination by a medical psychologist to fill out a psychological passport indicating the cognitive and emotional sphere, the characteristics of socialization, and the character of the patient. A total of 15 patients (7 men, 8 women, average age (73.4 ± 2.3) years) with aphasia underwent corrective and rehabilitation work. In all cases, aphasia was a consequence of a stroke from 6 months to 10 years ago. The following types of aphasia were identified: gross sensorimotor (4 patients), acoustic-gnostic (3 patients), total (3 patients), acoustic-mnestic (4 patients) and afferent motor aphasia of moderate severity (1 patient). Different techniques developed by Russian scientists were used to correct aphasia (M. M. Shcherbakova, S. V. Kotov and others), an individual lesson plan was drawn up. Age-related memory changes and the level of education were taken into account in each individual case. In the acoustic-gnostic form, work was carried out with global reading, the selection of semantic distortions, and the subject relationship of the word. In this group of patients, such techniques as solving crosswords, selecting synonyms, antonyms for words, and retelling the text were used. The speech therapy correction plan for the semantic form of aphasia included the analysis of schematic pictures, and in the case of a mild disorder, the identification of cause-and-effect relationships, the selection of prepositions, the solution of logical problems, and the correction of grammatical errors. In the acoustic-mnestic form, the basis of classes was visual perception, which was supplemented, depending on the severity of the violations, by creating sentences from individual words, solving mathematical exercises, and identifying logical errors in the presented text. In addition, all patients underwent elements of creative therapy, speech therapy massage, articulatory gymnastics, classes with teachers and psychologists. Statistical data processing was carried out using nonparametric criteria.

RESULTS. The results of the study. A total of 442 individual speech therapy sessions were conducted. Control studies have shown that after 3–6 months of individual speech therapy exercises combined with psychological exercises, all 15 patients showed positive dynamics of speech contact of varying degrees of severity against the background of an improvement in their psychological state.

CONCLUSION. Conclusions. Speech therapy work to overcome aphasia in elderly and senile people in social entities in synergy with psychologists allows achieving positive results and increasing social adaptation.

Keywords: aphasia; social entities; geriatric working field.

For citation: Kormilova V. M., Ivanova N. V. Speech restoration in the conditions of the social service institution of the gerontological center «Yekaterinodar». *Russian Journal of Geriatric Medicine*. 2025; 3 (23) : 412–414. DOI: 10.37586/2686-8636-3-2025-412-414

Received: 10.04.2025. Accepted: 17.04.2025. Published online: 26.09.2025.

ДОПОЛНИТЕЛЬНАЯ ИНФОРМАЦИЯ / ADDITIONAL INFORMATION

Финансирование. Исследование не имело спонсорской поддержки.

Funding Sources: This study had no external funding sources.

Конфликт интересов. Авторы декларируют отсутствие явных и потенциальных конфликтов

интересов, связанных с содержанием настоящей статьи.

Conflict of Interests. The authors declare no conflicts of interest.

Вклад авторов. Все авторы в равной степени участвовали в разработке концепции статьи, получении и анализе фактических данных, написании и редактировании текста статьи, проверке и утверждении текста статьи.

Author contribution. All authors according to the ICMJE criteria participated in the

development of the concept of the article, obtaining and analyzing factual data, writing and editing the text of the article, checking and approving the text of the article.

ORCID АВТОРОВ:

Кормилова В. М. / Kormilova V. M. — 0009-0006-2748-0851

Иванова Н. В. / Ivanova N. V. — 0000-0001-5906-5640

ОПЫТ ПРИМЕНЕНИЯ НИЗКОЧАСТОТНОГО ЛАЗЕРНОГО ИЗЛУЧЕНИЯ В ВОССТАНОВИТЕЛЬНОМ ПЕРИОДЕ У ПОЖИЛЫХ ПАЦИЕНТОВ С ПЕРЕНЕСЕННЫМ ОСТРЫМ НАРУШЕНИЕМ МОЗГОВОГО КРОВООБРАЩЕНИЯ ИШЕМИЧЕСКОГО ГЕНЕЗА

DOI: 10.37586/2686-8636-3-2025-415-416

УДК: 616-08-035

Бронникова С. А. *, Бугаева Т. Э., Щербинина Е. С., Шевляков С. В.

ГАУЗ АО «Больница восстановительного лечения», Благовещенск, Амурская обл., Россия

* Автор, ответственный за переписку, Бронникова Светлана Анатольевна.
E-mail: sbronnikova5@gmail.com

Резюме

АКТУАЛЬНОСТЬ. Метод низкочастотной магнитолазерной терапии нашел широкое применение в раннем восстановительном периоде после острого нарушения мозгового кровообращения (ОНМК) ишемического генеза у больных пожилого и старческого возраста. Это связано с тем, что под влиянием низкоинтенсивной энергии оптических квантовых генераторов происходит стимуляция репаративных процессов; улучшение микро- и макроциркуляции в сосудистой сети головного мозга и в общем кровеносном русле, реологических свойств крови, состояния оксигенации и метаболизма в биологических тканях.

ЦЕЛЬ ИССЛЕДОВАНИЯ. Применить метод воздействия лазерного излучения на биологически активные точки (БАТ) у пациентов пожилого и старческого возраста и определить эффективность и переносимость метода.

МАТЕРИАЛЫ И МЕТОДЫ. В исследование были включены 188 пациентов в возрасте от 65 до 82 лет, перенесших ОНМК ишемического генеза и находящихся на стадии раннего восстановительного периода. Воздействие проводилось на аппарате «Рикта 04/4» спустя 3–4 недели после острого периода. Каждый пациент получал ежедневные процедуры на БАТ, расположенные в 4-м межреберье у края грудины, подключичных, надключичных, подзатылочных ямках, лобно-височных областях, паравerteбрально с обеих сторон VII шейного позвонка. Дополнительно индивидуально через день облучали локтевые сгибы или подколенные ямки паретичных конечностей. Частота воздействия составляла 5 Гц и 50 Гц, экспозиция — 1 мин на зону. Количество БАТ на сеанс — 6. Курс лечения — 10–12 сеансов. Метод сочетался с медикаментозной терапией и двигательными нагрузками в зале лечебной физкультуры.

РЕЗУЛЬТАТЫ. После проведенного курса процедур у пациентов отмечено увеличение объема движений в паретичных конечностях; снижение спастичности; уменьшение болевого синдрома; повышение толерантности к нагрузкам; купирование или снижение головной боли и головокружений. Также укрепились навыки глобального чтения и письма, улучшилась четкость произношения слов; стабилизировались навыки общения и самообслуживания и повысился эмоциональный статус. Кроме того, хочется отметить хорошую переносимость процедуры лазеротерапии.

ЗАКЛЮЧЕНИЕ. Использование данной методики у пациентов пожилого и старческого возраста в раннем восстановительном периоде после ОНМК повышает эффективность реабилитации и способствует значительной активации когнитивных и двигательных функций.

Ключевые слова: лазерная терапия; реабилитация; пожилые; восстановительный период.

Для цитирования: Бронникова С. А., Бугаева Т. Э., Щербинина Е. С., Шевляков С. В. Опыт применения низкочастотного лазерного излучения в восстановительном периоде у пожилых пациентов с перенесенным острым нарушением мозгового кровообращения ишемического генеза. *Российский журнал гериатрической медицины*. 2025 ; 3S (23) : 415–416. DOI: 10.37586/2686-8636-3-2025-415-416

Поступила: 10.04.2025. Принята к печати: 17.04.2025. Дата онлайн-публикации: 26.09.2025.

USING LOW-FREQUENCY LASER RADIATION TO HELP ELDERLY PATIENTS' RECOVERY FROM AN ACUTE CEREBRAL CIRCULATORY DISORDER OF ISCHEMIC GENESIS

Bronnikova S. A. ^{*}, Bugaeva T. E., Shcherbinina E. S., Shevlyakov S. V.

State Institution of Rehabilitation Hospital, the Amur Region, Blagoveshchensk, Russia

* Corresponding author: Bronnikova Svetlana Anatolyevna.

E-mail: sbronnikova5@gmail.com

Abstract

BACKGROUND. The method of low-frequency magnetolaser therapy for elderly and senile patients is extensively applied in the early recovery period after an acute cerebral circulatory disorder (ACCD) of ischemic genesis. This is due to the fact that under the influence of the low-intensity energy of optical quantum generators, reparative processes are stimulated, micro- and macrocirculation in the cerebral vascular network and in the general bloodstream is improved along with the rheological properties of blood, the state of oxygenation and metabolism in biological tissues.

OBJECTIVES. To apply the method of laser irradiation onto biologically active points and determine the effectiveness and tolerability of the method for elderly and senile patients.

MATERIALS AND METHODS. The study involved 188 patients aged 65 to 82 years in their early recovery period after an ACCD of ischemic genesis. The exposure was performed by the «Ricta 04/4» device 3–4 weeks after the acute disease period. Each patient received daily treatments on biologically active points located in the 4th intercostal space at the edge of the sternum, subclavian, supraclavicular, suboccipital fossa, frontal and temporal regions, paravertebral on both sides of the VII cervical vertebra. Additionally, the elbow bends or hamstring fossae of paretic limbs were irradiated individually every other day. The exposure frequency was 5 Hz and 50 Hz with the exposure time of 1 minute per zone. The number of biologically active points per session is 6. The course of treatment consists of 10–12 sessions. The method was combined with drug therapy and exercises in the physical therapy room.

RESULTS. An increase in the volume of movements in the paretic limbs, a decrease in spasticity, a decrease in pain, increased stress tolerance, improved reading comprehension, writing and pronunciation skills, enhanced communication and self-service skills, relieved or decreased headaches and dizziness, and improved emotional status. In addition, good tolerability of the laser irradiation treatment should be noted.

CONCLUSION. The use of this technique for elderly and senile patients during the early recovery period after an ACCD provides an increase in the effectiveness of rehabilitation due to significant activation and regeneration of cognitive and motor disorders.

Keywords: laser therapy; rehabilitation; the elderly; recovery period.

For citation: Bronnikova S. A., Bugaeva T. E., Shcherbinina E. S., Shevlyakov S. V. Using low-frequency laser radiation to help elderly patients' recovery from an acute cerebral circulatory disorder of ischemic genesis. *Russian Journal of Geriatric Medicine*. 2025 ; 3S (23) : 415–416. DOI: 10.37586/2686-8636-3-2025-415-416

Received: 10.04.2025. Accepted: 17.04.2025. Published online: 26.09.2025.

ДОПОЛНИТЕЛЬНАЯ ИНФОРМАЦИЯ / ADDITIONAL INFORMATION

Финансирование. Исследование не имело спонсорской поддержки.

Funding Sources: This study had no external funding sources.

Конфликт интересов. Авторы декларируют отсутствие явных и потенциальных конфликтов интересов, связанных с содержанием настоящей статьи.

Conflict of Interests. The authors declare no conflicts of interest.

Вклад авторов. Все авторы в равной степени участвовали в разработке концепции статьи, получении и анализе фактических

данных, написании и редактировании текста статьи, проверке и утверждении текста статьи.

Author contribution. All authors according to the ICMJE criteria participated in the development of the concept of the article, obtaining and analyzing factual data, writing and editing the text of the article, checking and approving the text of the article.

ORCID АВТОРОВ:

Бронникова С. А. / Bronnikova S. A. — 0009-0002-9692-3581

МУКОЗНЫЕ КИСТЫ ПАЛЬЦЕВ КИСТИ: ОШИБКИ ДИАГНОСТИКИ И ЛЕЧЕНИЯ У ПАЦИЕНТОВ ПОЖИЛОГО И СТАРЧЕСКОГО ВОЗРАСТА

DOI: 10.37586/2686-8636-3-2025-417-418

УДК: 616.727.9-006.03-07-08

Чуловская И. Г. , Егиазарян К. А. , Жаров Д. С. , Рязанова Е. Е. 

ФГАОУ ВО РНИМУ им. Н. И. Пирогова Минздрава России (Пироговский Университет),
Москва, Россия

* Автор, ответственный за переписку, Чуловская Ирина Германовна.
E-mail: chulovskaya_ig@rgnkc.ru

Резюме

АКТУАЛЬНОСТЬ. Мукозные кисты пальцев кисти представляют собой опухолеподобные образования, рассматриваемые как осложнение остеоартроза.

ЦЕЛЬ ИСЛЕДОВАНИЯ. Анализ ошибок диагностики и лечения пациентов старше 60 лет с мукозными кистами пальцев кисти для улучшения результатов лечения.

МАТЕРИАЛЫ И МЕТОДЫ. В исследование включено 75 пациентов в возрасте 60 лет и старше. Диагностика включала клинично-anamnestическое обследование, рентгенографию и ультразвукографию. По данным анамнеза пациенты были разделены на 2 группы: первая группа — больные, обратившиеся в клинику первично; вторая — обратившиеся с рецидивами мукозных кист. Всем пациентам выполнены оперативные вмешательства: иссечение кисты, удаление остеофита фаланги, кожная пластика дефекта кожи местными тканями. Оценку результатов хирургического лечения выполняли через 2, 6, 12 месяцев по данным рентгенографии, ВАШ, опроснику QuickDash, объему движений в дистальном межфаланговом суставе.

РЕЗУЛЬТАТЫ. Анализ первичного обращения пациентов второй группы (с рецидивами заболевания) по профилю специалистов и виду оказанной помощи. Установлено: пациентам с рецидивами были выполнены манипуляции (прокалывание кисты, термические воздействия, удаление истонченной кожи над кистой) или операции без иссечения остеофита фаланги и пластики дефекта кожи после иссечения кисты. Полноценное обследование на этапе обращения позволило у всех пациентов подтвердить диагноз и выявить наличие остеофита заинтересованной фаланги пальца.

ЗАКЛЮЧЕНИЕ. Информативными методами диагностики являются рентгенография и ультразвукография. Эффективным методом лечения мукозных кист является операция, включающая пластику дефекта кожи местными тканями после иссечения кисты и удаление остеофита.

Ключевые слова: мукозная киста; опухолеподобные заболевания; остеофит; мукоидная перестройка; остеоартроз; дистальный межфаланговый сустав; рентгенография; ультразвукография.

Для цитирования: Чуловская И. Г., Егиазарян К. А., Жаров Д. С., Рязанова Е. Е. Мукозные кисты пальцев кисти: ошибки диагностики и лечения у пациентов пожилого и старческого возраста. *Российский журнал гериатрической медицины*. 2025 ; 3S (23) : 417–418. DOI: 10.37586/2686-8636-3-2025-417-418

Поступила: 10.04.2025. Принята к печати: 17.04.2025. Дата онлайн-публикации: 26.09.2025.

MUCOSAL CYSTS OF THE FINGERS OF THE HAND: ERRORS IN DIAGNOSIS AND TREATMENT IN ELDERLY AND SENILE PATIENTS

Chulovskaya I. G. , Egiazaryan K. A. , Zharov D. S. , Ryazanova E. E. 

Pirogov Russian National Research Medical University of the Ministry of Health of the Russian Federation (Pirogov University), Russian Gerontological Research and Clinical Center, Moscow, Russia

* Corresponding author: Chulovskaya Irina Germanovna. E-mail: chulovskaya_ig@rgnkc.ru

Abstract

BACKGROUND. Mucosal cysts of the fingers of the hand are tumor-like formations considered as a complication of osteoarthritis. The aim of the work is to analyze errors in the diagnosis and treatment of patients over 60 years of age with mucosal cysts of the fingers of the hand to improve treatment results.

MATERIALS AND METHODS. The study included 75 patients aged 60 years and older. The diagnosis included clinical and anamnestic examination, radiography and ultrasonography. According to the medical history, the patients were divided into 2 groups: the first group consisted of patients who came to the clinic first; the second group consisted of patients with recurrent mucosal cysts. All patients underwent surgical procedures: excision of the osteophyte of the phalanx, skin grafting of the skin defect. Evaluation of surgical treatment results was performed 2, 6, 12 months according to radiography, VAS, QuickDash questionnaire, volume of movements in the distal interphalangeal joint.

RESULTS. Analysis of the initial treatment of patients in the second group (with relapses of the disease) according to the profile of specialists and the type of care provided. It was established that patients with relapses underwent manipulations (cyst piercing, thermal effects, removal of thinned skin above the cyst) or operations without excision of the osteophyte of the phalanx and plasty of the skin defect after excision of the cyst. A full-fledged examination at the treatment stage allowed all patients to confirm the diagnosis and identify the presence of osteophyte of the affected phalanx of the finger.

CONCLUSION. Radiography and ultrasonography are informative research methods. The treatment of mucosal cysts is an operation involving the repair of a skin defect with local tissues after excision of the cyst and removal of the osteophyte.

Keywords: mucosal cyst; tumor-like diseases; osteophyte; muroid remodeling; osteoarthritis; distal interphalangeal joint; radiography; ultrasonography.

For citation: Chulovskaya I. G., Egiazaryan K. A., Zharov D. S., Ryazanova E. E. Mucosal cysts of the fingers of the hand: errors in diagnosis and treatment in elderly and senile patients. *Russian Journal of Geriatric Medicine*. 2025 ; 3S (23) : 417–418. DOI: 10.37586/2686-8636-3-2025-417-418

Received: 18.04.2025. Accepted: 20.04.2025. Published online: 26.09.2025.

ДОПОЛНИТЕЛЬНАЯ ИНФОРМАЦИЯ / ADDITIONAL INFORMATION

Финансирование. Исследование не имело спонсорской поддержки.

Funding Sources: This study had no external funding sources.

Конфликт интересов. Авторы декларируют отсутствие явных и потенциальных конфликтов интересов, связанных с содержанием настоящей статьи.

Conflict of Interests. The authors declare no conflicts of interest.

Вклад авторов. Все авторы в равной степени участвовали в разработке концепции статьи, получении и анализе фактических

данных, написании и редактировании текста статьи, проверке и утверждении текста статьи.

Author contribution. All authors according to the ICMJE criteria participated in the development of the concept of the article, obtaining and analyzing factual data, writing and editing the text of the article, checking and approving the text of the article.

ORCID АВТОРОВ:

Чуловская И. Г. / Chulovskaya I. G. — 0000-0002-0126-6965

Егизарян К. А. / Egiazaryan K. A. — 0000-0002-6680-9334

Жаров Д. С. / Zharov D. S. — 0000-0002-3876-6832

Рязанова Е. Е. / Ryazanova E. E. — 0009-0004-6171-2842

СИНДРОМ ПАДЕНИЙ У ПОЖИЛЫХ ЛЮДЕЙ В СОЦИАЛЬНЫХ СТАЦИОНАРАХ КИРГИЗСКОЙ РЕСПУБЛИКИ: ЧАСТОТА И ПРИЧИНЫ

DOI: 10.37586/2686-8636-3-2025-419-420

УДК: 613.95-053.9:616-036.22(575.2)

Арстанбекова М. А. *, Маматов С. М. , Мусакеев А. О. 

Киргизская государственная медицинская академия имени И. К. Ахунбаева, Бишкек,
Киргизская Республика

* Автор, ответственный за переписку, Арстанбекова Мира Арстанбековна.

E-mail: miramed1@mail.ru

Резюме

АКТУАЛЬНОСТЬ. Наиболее частые причины падений — нарушения баланса, походки, снижение мышечной силы, остроты зрения и когнитивных функций, хронические заболевания и применение психотропных препаратов. Падения распространены среди пожилого населения: их частота варьируется от 15 до 30 %, увеличивается с возрастом пациентов и достигает 50 % у 80-летних людей.

ЦЕЛЬ ИССЛЕДОВАНИЯ. Изучение основных параметров нарушения двигательной активности у пожилых пациентов — подопечных социальных стационарных учреждений (далее — ССУ) Киргизской Республики.

МАТЕРИАЛЫ И МЕТОДЫ. Объектом исследования послужили лица пожилого и старческого возраста (65 лет и старше) — подопечные Нижне-Серафимовского ССУ для пожилых людей и лиц с ограниченными возможностями здоровья. Критерии включения пациентов в исследование: возраст 65 лет и старше. Критерии исключения: возраст менее 65 лет, тяжелое и крайне тяжелое состояние. Было обследовано 55 человек, мужчин — 31 (56,4 %), женщин — 24 (43,6 %). Средний возраст обследуемых составил $(72,40 \pm 6,93)$ года. Специализированный гериатрический осмотр (СГО) проводился с помощью компьютерной программы «Оптимизация ухода в гериатрии в зависимости от степени старческой астении». В нашем исследовании из всех параметров СГО основное внимание уделено выявлению степени способности к передвижению и оценке степени независимости в повседневной жизни.

РЕЗУЛЬТАТЫ. В проведенном нами исследовании нарушение общей двигательной активности наблюдалось у 41 ($74,50 \pm 5,77$ %) пациента. Но более выраженными оказались нарушения параметров устойчивости, которые были выявлены у 51 ($92,70 \pm 8,13$ %), и параметров ходьбы — у 48 ($87,30 \pm 6,82$ %) пациентов. Только в одном параметре, общей устойчивости сидя, нарушения умеренной степени превалировали над грубыми нарушениями ($69,00 \pm 5,43$ % против $31,00 \pm 2,81$ %; $p < 0,05$). В других параметрах грубые нарушения оказались более выражены, чем нарушения умеренной степени: в стоянии с закрытыми глазами — $63,60 \pm 4,16$ % против $41,1 \pm 3,4$ %; $p < 0,05$; в устойчивости при наклонах назад — $56,40 \pm 5,26$ % против $38,20 \pm 4,56$ %; $p < 0,05$. Исследование, проведенное в течение одного года путем сплошной выборки пациентов в возрасте 65 лет и старше, показало, что основными гериатрическими синдромами среди подопечных ССУ являются нарушения общих параметров устойчивости и ходьбы. Выявленные в исследовании нарушения способствовали высокой зависимости пациентов от посторонней помощи: 76,4 % пациентов были зависимы в разной степени.

ВЫВОДЫ. Комплексная гериатрическая оценка для выявления основных гериатрических синдромов с последующей обязательной коррекцией у подопечных ССУ в возрасте 65 лет и старше должна стать неотъемлемой частью организации медицинской помощи, направленной на решение проблем пациентов пожилого и старческого возраста.

Ключевые слова: гериатрические синдромы; распространенность; пожилые люди.

Для цитирования: Арстанбекова М. А., Маматов С. М., Мусакеев А. О. Синдром падений у пожилых людей в социальных стационарах Киргизской Республики: частота и причины. *Российский журнал гериатрической медицины*. 2025 ; 3S (23) : 419–420. DOI: 10.37586/2686-8636-3-2025-419-420

Поступила: 27.02.2025. Принята к печати: 17.04.2025. Дата онлайн-публикации: 26.09.2025.

FALLS SYNDROME IN THE ELDERLY IN SOCIAL HOSPITALS IN THE KYRGYZ REPUBLIC: INCIDENCE AND CAUSES

Arstanbekova M. A. *, Musakeev A. O. , Mamatov S. M. 

Kyrgyz State Medical Academy named after I. K. Akhunbayev, Bishkek, Kyrgyz Republic

* The author responsible for the correspondence, Arstanbekova Mira Arstanbekovna.
E-mail: miramed1@mail.ru

Abstract

BACKGROUND. The most common causes of falls are balance disorders, gait disorders, decreased muscle strength, visual acuity and cognitive functions, chronic diseases and the use of psychotropic drugs. Falls are common among the elderly population: their frequency varies from 15 to 30 %, increases with the age of patients and reaches 50 % in 80-year-olds.

OBJECTIVE. The study of the main parameters of impaired motor activity in elderly patients - wards of social inpatient institutions of the Kyrgyz Republic.

MATERIALS AND METHODS. The object of the study was elderly and senile people (65 years and older), wards of the Nizhne-Serafimovsky social inpatient institution for the elderly and people with disabilities (hereinafter referred to as SII). Criteria for the inclusion of patients in the study: the age of patients aged 65 years and older. Exclusion criteria: age less than 65 years, severe and extremely serious condition. 55 people were examined, 31 men (56.4 %), 24 women (43.6 %). The average age of the subjects was (72.40 ± 6.93) year. A specialized geriatric examination (SGE) was performed using the computer program «Optimization of geriatric care depending on the degree of senile asthenia». In our study, of all the parameters of the SGE, the main focus is on identifying the degree of mobility and assessing the degree of independence in everyday life.

RESULTS. In our study, impaired general motor activity was observed in 41 $((74.50 \pm 5.77) \%)$ patients. However, violations of stability parameters were more pronounced, which were detected in 51 $((92.70 \pm 8.13) \%)$ and walking parameters in 48 $((87.30 \pm 6.82) \%)$ patients. The degree of moderate impairments prevailed in only one parameter of general sitting stability $(69.00 \pm 5.43 \%)$, in contrast to gross impairments — $31.00 \pm 2.81 \%$; $p < 0.05$). In other parameters, gross impairments were more pronounced than moderate impairments: in standing with closed eyes, $(63.60 \pm 4.16) \%$ vs. $(41.1 \pm 3.4) \%$; $p < 0.05$; in backward bending stability, $(56.40 \pm 5.26) \%$ vs. $(38.20 \pm 4.56) \%$; $p < 0.05$. A one-year study of a continuous sample of patients aged 65 and older showed that the main geriatric syndromes among the patients of a social inpatient institution are violations of the general parameters of stability and walking. The disorders identified in the study contributed to the high dependence of patients on outside help: 76.4 % of patients were dependent to varying degrees.

CONCLUSION. A comprehensive geriatric assessment to identify the main geriatric syndromes, followed by mandatory correction in wards of a social inpatient institution aged 65 years and older, should become an integral part of the organization of medical care aimed at solving the problems of elderly and senile patients.

Keywords: geriatric syndromes; prevalence; elderly.

For citation: Arstanbekova M. A., Musakeev A. O., Mamatov S. M. Falls syndrome in the elderly in social hospitals in the Kyrgyz Republic: incidence and causes. *Russian Journal of Geriatric Medicine*. 2025 ; 3S (23) : 419–420. DOI: 10.37586/2686-8636-3-2025-419-420

Received: 27.02.2025. Accepted: 17.04.2025. Published online: 26.09.2025.

ДОПОЛНИТЕЛЬНАЯ ИНФОРМАЦИЯ / ADDITIONAL INFORMATION

Финансирование. Исследование не имело спонсорской поддержки.

Funding Sources: This study had no external funding sources.

Конфликт интересов. Авторы декларируют отсутствие явных и потенциальных конфликтов интересов, связанных с содержанием настоящей статьи.

Conflict of Interests. The authors declare no conflicts of interest.

Вклад авторов. Все авторы в равной степени участвовали в разработке концепции

статьи, получении и анализе фактических данных, написании и редактировании текста статьи, проверке и утверждении текста статьи.

Author contribution. All authors according to the ICMJE criteria participated in the development of the concept of the article, obtaining and analyzing factual data, writing and editing the text of the article, checking and approving the text of the article.

ORCID АВТОРОВ:

Арстанбекова М. А. / Arstanbekova M. A. —
0000-0002-3054-9569

Маматов С. М. / Mamatov S. M. — 0000-0001-8540-3252
Мусакиев А. О. / Musakeev A. O. — 0000-0002-0702-2785

РОЛЬ ФАЗОВОГО УГЛА В ДИАГНОСТИКЕ ПРЕСАРКОПИИ У ПАЦИЕНТОВ ПОЖИЛОГО И СТАРЧЕСКОГО ВОЗРАСТА С САХАРНЫМ ДИАБЕТОМ 2 ТИПА

DOI: 10.37586/2686-8636-3-2025-421-422

УДК: 616-06

Объедков Р. Н. *, Дедов Е. И. , Пшенникова И. Г. 

ГБУЗ «ГКБ им. В. М. Буянова ДЗМ», Москва, Россия

* Автор, ответственный за переписку, Объедков Руслан Николаевич.
E-mail: rn.obedkov98@gmail.com

Резюме

Изучение возраст-ассоциированных заболеваний является неотъемлемой составляющей современной медицины. В проведенном исследовании определены диагностические границы фазового угла для выявления пресаркопии у пациентов с сахарным диабетом 2 типа (СД 2 типа). Раннее выявление саркопии у пациентов с СД 2 типа способствует увеличению продолжительности и повышению качества их жизни.

АКТУАЛЬНОСТЬ. Саркопия, как и СД 2 типа, не только относится к возраст-ассоциированным заболеваниям, но и признана осложнением СД 2 типа. По результатам исследований отечественных ученых, для диагностики значимого снижения мышечной массы можно использовать параметры фазового угла (ФУ) при проведении биоэмпидансометрии, однако диагностические границы для пресаркопии не представлены. При этом ФУ представляет собой интегральный показатель процессов, происходящих в организме человека.

ЦЕЛЬ ИССЛЕДОВАНИЯ. Сравнить значения ФУ у пациентов с пресаркопией и у пациентов без признаков саркопии и определить диагностические границы ФУ для пресаркопии у пациентов с СД 2 типа.

МАТЕРИАЛЫ И МЕТОДЫ. Проведено одномоментное одноцентровое кросс-секционное исследование пациентов старше 60 лет, госпитализированных в эндокринологическое отделение ГКБ им. В. М. Буянова в связи с декомпенсацией СД 2 типа. При госпитализации для выявления синдрома саркопии использовался опросник SARC-F; пациенты, набравшие более 4 баллов были включены в основной этап исследования для выявления саркопии согласно консенсусу EWGSOP 2. Статистическая обработка осуществлялась с использованием пакета программ SPSS Statistics 23.

РЕЗУЛЬТАТЫ. За период исследования обследовано 232 пациента, из которых 147 (63 % от общего количества пациентов; мужчин 35 (24 %), женщин 112 (76 %); средний возраст — (70 ± 8) лет) приняли участие в исследовании; пресаркопия была выявлена у 87 человек (59 % от количества исследуемых). У пациентов с пресаркопией среднее значение ФУ было ниже, чем у пациентов без признаков саркопии: $(7,05 \pm 2,37)^\circ$ и $(8,50 \pm 1,59)^\circ$ соответственно ($p = 0,0001$). Площадь под ROC-кривой, соответствующей взаимосвязи прогноза пресаркопии и ФУ, составила $0,714 \pm 0,044$ с 95 % ДИ: 0,627–0,800. Полученная модель статистически значима ($p < 0,001$). Пороговое значение ФУ в точке cut-off равно $6,61^\circ$. При ФУ равном или ниже данного значения прогнозировался высокий риск пресаркопии. Чувствительность и специфичность метода составили 80,0 % и 62,1 % соответственно.

ЗАКЛЮЧЕНИЕ. Исследование демонстрирует, что у пациентов с пресаркопией отмечается прогностически значимое снижение ФУ. Это дает возможность диагностировать саркопию у пациентов с СД 2 типа на ранних стадиях, пока мышечные резервы организма не исчерпаны, и проводить ее своевременную коррекцию.

Ключевые слова: пресаркопия; сахарный диабет 2 типа; фазовый угол; биоэмпидансное исследование.

Для цитирования: Объедков Р. Н., Дедов Е. И., Пшенникова И. Г. Роль фазового угла в диагностике пресаркопии у пациентов пожилого и старческого возраста с сахарным диабетом 2 типа. *Российский журнал гериатрической медицины*. 2025 ; 3S (23) : 421–422. DOI: 10.37586/2686-8636-3-2025-421-422

Поступила: 01.04.2025. Принята к печати: 17.04.2025. Дата онлайн-публикации: 26.09.2025.

THE ROLE OF PHASE ANGLE IN THE DIAGNOSIS OF PRESARCOPENIA IN ELDERLY PATIENTS WITH TYPE 2 DIABETES MELLITUS

Obedkov R. N. *, Dedov E. I. , Pshennikova I. G. 

Buyanov City Clinical Hospital, Moscow, Russia

* Corresponding author: Obedkov Ruslan Nikolayevich. E-mail: rn.obedkov98@gmail.com

Abstract

The study of age-associated diseases is an integral component of modern medicine. In the conducted study, diagnostic phase angle limits for the detection of presarcopenia in patients with type 2 diabetes mellitus (T2DM) were determined. Early detection of sarcopenia in patients with T2DM helps to increase the duration and quality of their life.

BACKGROUND. Sarcopenia, like T2DM, not only is an age-associated disease, but is also recognized as a complication of T2DM. According to the results of studies by domestic scientists, phase angle (PA) parameters can be used for diagnostically significant decrease in muscle mass during bioimpedance, but diagnostic limits for the diagnosis of presarcopenia are not presented. At the same time, the phase angle is an integral index of the processes occurring in the human body.

OBJECTIVE. To compare FS values depending on the presence of presarcopenia and to define diagnostic limits of FS for the diagnosis of presarcopenia in patients with T2DM.

MATERIALS AND METHODS. A one-stage single-centre cross-sectional study of patients over 60 years of age hospitalized in the endocrinology department of Buyanov State Clinical Hospital due to decompensation of T2DM was performed. During hospitalization, the SARC-F questionnaire was used to detect sarcopenia syndrome, patients with more than 4 points were included in the main stage of the study to detect sarcopenia according to the EWGSOP 2 consensus. Statistical processing was performed using the SPSS Statistics 23 software package.

RESULTS. During the study period, 232 patients were examined, of whom 147 (63 % of the total number of patients; 35 men (24 %) and 112 women (76 %); average age — (70 ± 8) years) participated in the study; presarcopenia was detected in 87 people (59 % of the study population). In patients with presarcopenia the mean FA was lower than in patients without signs of sarcopenia, the values were $(7.05 \pm 2.37)^\circ$ and $(8.50 \pm 1.59)^\circ$, respectively ($p = 0.0001$). The area under the ROC curve corresponding to the relationship between presarcopenia prognosis and phase angle was 0.714 ± 0.044 with 95 % CI: 0.627–0.800. The obtained model was statistically significant ($p < 0.001$). The threshold value of FA at the cut-off point was 6.61° . A high risk of presarcopenia was predicted at FA equal or lower than this value. The sensitivity and specificity of the method were 80.0 % and 62.1 %, respectively.

CONCLUSION. The study demonstrates that patients with presarcopenia have a prognostically significant decrease in FA, which makes it possible to diagnose sarcopenia in patients with T2DM at early stages, before the body's muscle reserves are exhausted, and to carry out its timely correction.

Keywords: presarcopenia; type 2 diabetes mellitus; phase angle; bioimpedance study.

For citation: Obedkov R. N., Dedov E. I., Pshennikova I. G. The role of phase angle in the diagnosis of presarcopenia in elderly and elderly patients with type 2 diabetes mellitus. *Russian Journal of Geriatric Medicine*. 2025 ; 3S (23) : 421–422. DOI: 10.37586/2686-8636-3-2025-421-422

Received: 01.04.2025. Accepted: 17.04.2025. Published online: 26.09.2025.

ДОПОЛНИТЕЛЬНАЯ ИНФОРМАЦИЯ / ADDITIONAL INFORMATION

Финансирование. Исследование не имело спонсорской поддержки.

Funding Sources: This study had no external funding sources.

Конфликт интересов. Авторы декларируют отсутствие явных и потенциальных конфликтов интересов, связанных с содержанием настоящей статьи.

Conflict of Interests. The authors declare no conflicts of interest.

Вклад авторов. Все авторы в равной степени участвовали в разработке концепции

статьи, получении и анализе фактических данных, написании и редактировании текста статьи, проверке и утверждении текста статьи.

Author contribution. All authors according to the ICMJE criteria participated in the development of the concept of the article, obtaining and analyzing factual data, writing and editing the text of the article, checking and approving the text of the article.

ORCID АВТОРОВ:

Объедков Р. Н. / Obedkov R. N. — 0000-0002-8689-6623

Дедов Е. И. / Dedov E. I. — 0000-0002-9118-3708

Пшенникова И. Г. / Pshennikova I. G. — 0009-0005-0776-0955

ЯЗВЫ ЖЕЛУДКА И ДВЕНАДЦАТИПЕРСТНОЙ КИШКИ В ГЕРИАТРИИ: ЭНДОСКОПИЧЕСКИЕ ОСОБЕННОСТИ

DOI: 10.37586/2686-8636-3-2025-423-425

УДК: 616.33-072.1

Богомолова С. С.^{ID}, Ниль Э. А.^{ID}, Ахомготова Д. А.^{ID}, Бабаханова А. А.^{ID},
Тюльтеяева Л. А.^{ID*}

ФГБОУ ВО Саратовский ГМУ им. В. И. Разумовского Минздрава России, Саратов, Россия

* Автор, ответственный за переписку, Тюльтеяева Лариса Анатольевна.
E-mail: larisa72@list.ru

Резюме

Проведен анализ эндоскопической картины 357 пациентов разного возраста с язвами желудка или двенадцатиперстной кишки. Выявлены возрастные особенности: увеличение с возрастом доли женщин среди пациентов с данной нозологией, числа случаев множественных язв преимущественно среди женщин, учащение желудочной локализации язв, увеличение размеров и сроков рубцевания.

АКТУАЛЬНОСТЬ. Больные пожилого и старческого возраста составляют значительную часть пациентов с язвами гастродуоденальной зоны. Клиническая картина заболевания у них не всегда является стандартной, нередко встречается атипичное течение, отсутствует сезонность, выраженный болевой синдром. Иногда язва желудка или двенадцатиперстной кишки обнаруживается случайно при проведении эндоскопического исследования. Изучение эндоскопических особенностей язв желудка и двенадцатиперстной кишки у пожилых поможет выработать четкие алгоритмы диагностики данной патологии с учетом возрастной специфики нозологии.

ЦЕЛЬ ИССЛЕДОВАНИЯ. Выявление эндоскопических особенностей язв желудка и двенадцатиперстной кишки у пациентов пожилого и старческого возраста.

МАТЕРИАЛЫ И МЕТОДЫ. Проведен анализ 357 историй болезни пациентов с язвами желудка и двенадцатиперстной кишки. Больные были разделены по возрасту на четыре группы: I — молодого возраста, II — зрелого возраста, III — пожилого возраста, IV — старческого возраста. Наличие язв гастродуоденальной зоны во всех случаях было подтверждено при эндоскопическом исследовании. Во всех четырех группах были проанализированы следующие данные: количество больных с множественными и единичными язвенными дефектами, локализация язвенных поражений, площадь и срок рубцевания язвенных дефектов.

РЕЗУЛЬТАТЫ. Соотношение мужчин и женщин, включенных в исследование, в разных возрастных группах составляло: среди молодых — 3,2 : 1; среди пациентов зрелого возраста — 2,1 : 1; среди больных пожилого возраста — 1,8 : 1; среди больных старческого возраста — 1,5 : 1. По мере увеличения возраста относительное количество женщин с язвами гастродуоденальной зоны увеличивалось, что не противоречит данным литературы. Процент больных с локализацией язвы в желудке был выше ($p < 0,001$) в группах пожилого и старческого возраста по сравнению с молодыми пациентами (42 % и 14 % соответственно), что согласуется с данными литературы. Наиболее часто множественные язвенные дефекты встречались при локализации процесса на передней и задней стенках луковицы двенадцатиперстной кишки, несколько реже — в привратнике и в нижней трети малой кривизны желудка. Процент женщин с множественными язвенными дефектами от общего количества женщин с язвами гастродуоденальной зоны был выше ($p < 0,01$), чем аналогичный показатель у мужчин, т. е. у женщин множественные язвы встречались чаще. Возможно, это связано с более частым применением женщинами нестероидных противовоспалительных препаратов и развитием НПВС-гастропатии, для которой характерна множественность язвенного поражения. При сравнении величины язвенных дефектов у больных с множественными язвами обнаружена тенденция к снижению количества больных с мелкими и увеличению количества больных с крупными язвенными дефектами по мере увеличения возраста пациентов обоих полов ($p < 0,001$). По мере увеличения возраста обследуемых пациенты обоего пола с длительными сроками рубцевания язвенных дефектов встречались чаще ($p < 0,001$).

ЗАКЛЮЧЕНИЕ. По мере увеличения возраста больных менялось соотношение мужчин и женщин в сторону увеличения доли женщин, наблюдалась тенденция к увеличению желудочной локализации язв, множественности язв, особенно у пожилых женщин, увеличению размеров язв, росту числа пациентов с длительными сроками рубцевания язвенных дефектов.

Ключевые слова: язва желудка; язва двенадцатиперстной кишки; возраст; эндоскопия.

Для цитирования: Богомолова С. С., Ниль Э. А., Ахомготова Д. А., Бабаханова А. А., Тюльтеяева Л. А. Язвы желудка и двенадцатиперстной кишки в гериатрии: эндоскопические особенности. *Российский журнал гериатрической медицины*. 2025 ; 3S (23) : 423–425. DOI: 10.37586/2686-8636-3-2025-423-425

Поступила: 27.02.2025. Принята к печати: 17.04.2025. Дата онлайн-публикации: 26.09.2025.

PEPTIC ULCER OF THE STOMACH AND DUODENUM IN GERIATRICS: ENDOSCOPIC FEATURES

Bogomolova S. S. , Nil E. A. , Akhomgotova D. A. , Babakhanova A. A. , Tyulyaeva L. A. *

Saratov State Medical University named after V. I. Razumovsky of the Ministry of Health of the Russian Federation, Saratov, Russia

* Corresponding author: Tyulyaeva Larisa Anatolyevna. E-mail: larisa72@list.ru

Abstract

The endoscopic picture of 357 patients of different ages with peptic ulcer of the stomach or duodenum was analyzed. Age-related features were revealed: an increase in the proportion of women among patients with this nosology, an increase in the number of cases of multiple ulcers, mainly among women, an increase in the frequency of gastric localization of ulcers, an increase in the size and timing of scarring of ulcers.

BACKGROUND. Elderly and senile patients make up a significant proportion of patients with peptic ulcer disease. The clinical picture of their disease is not always standard, an atypical course is often found, there is no seasonality, and severe pain syndrome. Sometimes an ulcer of the stomach or duodenum turns out to be an accidental finding during an endoscopic examination. Studying the endoscopic features of peptic ulcer of the stomach and duodenum in the elderly will help to develop clear algorithms for the diagnosis of this pathology, taking into account the age-specific nosology.

OBJECTIVE. Identification of endoscopic features of gastric and duodenal ulcer in elderly and senile patients.

MATERIALS AND METHODS. The analysis of 357 case histories of patients with peptic ulcer of the stomach and duodenum was carried out. The patients were divided by age into four groups: I — young age, II — mature age, III — elderly age, IV — senile age. The diagnosis of peptic ulcer disease in all cases was confirmed by endoscopic examination. The number of patients with multiple and single ulcerative defects, the localization of ulcerative lesions, the area and duration of scarring of ulcerative defects in patients of different ages were studied.

RESULTS. The ratio of men and women included in the study in different age groups was: 3.2 : 1 among young people; 2.1 : 1 among mature patients; 1.8 : 1 among elderly patients; 1.3 : 1 among senile patients. As the age increases, the relative number of women with peptic ulcer disease, increased, which does not contradict the literature data. The percentage of patients with gastric ulcer localization was higher ($p < 0.001$) in elderly and senile patients compared with younger patients (42 % and 14 %, respectively), which is consistent with the literature data. The most common multiple ulcerative defects occurred when the process was localized on the anterior and posterior walls of the duodenal bulb, somewhat less often in the pylorus and in the lower third of the small curvature of the stomach. The percentage of women with multiple ulcerative defects in relation to the total number of women with peptic ulcer disease was higher ($p < 0.01$) than the same indicator for men, that is, multiple ulcers were more common in women. This may be due to the more frequent use of nonsteroidal anti-inflammatory drugs by women and the development of NSAID gastropathy, which is characterized by a multiplicity of ulcerative lesions. When comparing the size of ulcerative defects in patients with multiple ulcers, a tendency was found to decrease the number of patients with small ulcers and increase the number of patients with large ulcerative defects as the age of patients of both sexes increased ($p < 0.001$). As the age of the subjects increased, patients of both sexes with long-term scarring of ulcerative defects were more common ($p < 0.001$).

CONCLUSION. As the age of patients increased, the ratio of men and women changed towards an increase in the proportion of women, there was a tendency towards an increase in gastric localization of ulcers, a multiplicity of ulcers, especially in elderly women, an increase in the size of ulcers, and an increase in the number of patients with long-term scarring of ulcerative defects.

Keywords: stomach ulcer; duodenal ulcer; age; endoscopy.

For citation: Bogomolova S. S., Nil E. A., Akhomgotova D. A., Babakhanova A. A., Tyulyaeva L. A. Peptic ulcer of the stomach and duodenum in geriatrics: endoscopic features. *Russian Journal of Geriatric Medicine*. 2025 ; 3S (23) : 423–425. DOI: 10.37586/2686-8636-3-2025-423-425

Received: 27.02.2025. Accepted: 17.04.2025. Published online: 26.09.2025.

ДОПОЛНИТЕЛЬНАЯ ИНФОРМАЦИЯ / ADDITIONAL INFORMATION

Финансирование. Исследование не имело спонсорской поддержки.

Funding Sources: This study had no external funding sources.

Конфликт интересов. Авторы декларируют отсутствие явных и потенциальных конфликтов интересов, связанных с содержанием настоящей статьи.

Conflict of Interests. The authors declare no conflicts of interest.

Вклад авторов. Все авторы в равной степени участвовали в разработке концепции статьи, получении и анализе фактических данных, написании и редактировании текста статьи, проверке и утверждении текста статьи.

Author contribution. All authors according to the ICMJE criteria participated in the development of the concept of the article, obtaining and analyzing factual data, writing and editing the text of the article, checking and approving the text of the article.

ORCID АВТОРОВ:

Богомолова С. С. / Bogomolova S. S. — 0009-0009-1649-5152

Ниль Э. А. / Nil E. A. — 0009-0008-0436-4377

Ахомготова Д. А. / Akhomgotova D. A. — 0009-0005-7301-4205

Бабаханова А. А. / Babakhanova A. A. — 0009-0006-4748-4649

Тюльтяева Л. А. / Tyulytyaeva L. A. — 0000-0002-6090-0938

ПРОБЛЕМЫ ГЕРОНТОЛОГИИ И ГЕРИАТРИИ В КИРГИЗСКОЙ РЕСПУБЛИКЕ НА СОВРЕМЕННОМ ЭТАПЕ

DOI: 10.37586/2686-8636-3-2025-426-427

УДК: 613.95:614.2(575.2)

Маматов С. М. , Арстанбекова М. А. *, Смаилова Д. К. , Романкулова Ж. Б. 

Киргизская государственная медицинская академия им. И. К. Ахунбаева, Кафедра госпитальной терапии, профпатологии с курсом гематологии, Бишкек, Киргизская Республика

* Автор, ответственный за переписку, Арстанбекова Мира Арстанбековна.

E-mail: miramed1@mail.ru

Резюме

Демографическая ситуация в Киргизской Республике не оставляет сомнений в том, что забота о людях старших возрастных групп — это требование времени и огромная медико-социальная проблема.

ЦЕЛЬ ИССЛЕДОВАНИЯ. Оценить состояние и перспективы развития геронтологической службы и изучить уровень гериатрической помощи населению страны.

МАТЕРИАЛЫ И МЕТОДЫ. Изучены законодательные, нормативно-правовые документы и материалы из открытых источников, начиная с 1991 г. На примере Бишкекского и Нижне-Серафимовского социальных стационарных учреждений проанализировано состояние здоровья и проведено обследование 442 подопечных.

РЕЗУЛЬТАТЫ. По данным Национального статистического комитета, общая численность жителей республики на начало 2019 г. составила 6 млн 389,5 тыс. человек. Из них сельское население — 4 млн 215,9 тыс. человек, а число городских жителей — 2 млн 173,6 тыс. человек. Старше трудоспособного возраста около 500 тыс. граждан, или почти каждый восьмой житель республики. Численность мужчин старше трудоспособного возраста (63 года и старше) составила около 150 тыс. человек (4,7 % мужского населения), а женщин (58 лет и старше) — более 349 тыс. человек (10,8 % женского населения). Это означает, что численность женщин данной возрастной группы превысила численность мужчин на 200 тыс. человек, или в 2,3 раза. В развитии геронтологической службы имеются определенные успехи: Киргизская Республика стала членом Международной геронтологической сети AgeNet International (2005 г.), был принят закон «О пожилых гражданах в Киргизской Республике» (2011 г.), утвержден План мероприятий по повышению качества жизни пожилых граждан на 2019–2025 гг. (от 30 августа 2019 г.). Несмотря на эти успехи, геронтологическая служба республики не соответствует современным вызовам старения населения, и проблемы, связанные с гериатрической помощью, остаются: нет врачей-гериатров, отсутствуют гериатрические кабинеты, не созданы гериатрические центры, не на должном уровне оказывается медицинская гериатрическая помощь пожилым людям, не до конца обследованными остаются подопечные социальных стационарных учреждений.

ЗАКЛЮЧЕНИЕ. Киргизская Республика нуждается в создании единого координирующего органа, который будет нести ответственность за работу и развитие геронтологической и гериатрической службы. Для развития службы геронтологии, достижения высоких показателей здоровья и качества жизни пожилых людей необходимо развитие кооперированных научных исследований и совершенствование специализированной подготовки кадров по гериатрии. Необходимы согласованные действия системы здравоохранения и социальной защиты, которые помогут обеспечить людям пожилого и старческого возраста столь необходимую им высокоспециализированную медицинскую и медико-социальную помощь, что, несомненно, скажется на продлении периода их активного долголетия.

Ключевые слова: геронтология; гериатрия; пожилой возраст; гериатрическая помощь; социальные стационарные учреждения; Киргизская Республика.

Для цитирования: Маматов С. М., Арстанбекова М. А., Смаилова Д. К., Романкулова Ж. Б. Проблемы геронтологии и гериатрии в Киргизской Республике на современном этапе. *Российский журнал гериатрической медицины*. 2025 ; 3S (23) : 426–427. DOI: 10.37586/2686-8636-3-2025-426-427

Поступила: 27.02.2025. Принята к печати: 17.04.2025. Дата онлайн-публикации: 26.09.2025.

PROBLEMS OF GERONTOLOGY AND GERIATRICS IN THE KYRGYZ REPUBLIC AT THE PRESENT STAGE

Mamatov S. M. , Arstanbekova M. A. *, Smailova D. K. , Romankulova Z. B. 

Kyrgyz State Medical Academy named after I. K. Akhunbayev, Bishkek, Kyrgyz Republic

* Corresponding author: Arstanbekova Mira Arstanbekovna. E-mail: miramed1@mail.ru

Abstract

The demographic situation in the Kyrgyz Republic leaves no doubt that caring for older people is a pressing issue and a huge medical and social problem.

OBJECTIVE. To assess the state and development prospects of the gerontological service and to study the level of geriatric care for the population of the country.

MATERIALS AND METHODS. Legislative, regulatory documents and materials from open sources have been studied since 1991. Using the example of Bishkek and Nizhne-Serafimovsky social inpatient institutions, the health status was analyzed and 442 wards were examined.

RESULTS. According to the National Statistical Committee, the total population of the republic at the beginning of 2019 was 6,389,500 people. Of these, the rural population was 4,215,900 people, and the urban population was 2,173,600 people. About 500,000 citizens, or almost one in eight residents of the republic, are older than working age. The number of men over working age (63 years and older) was about 150,000 people (4.7 % of the male population), and women (58 years and older) — more than 349,000 people (10.8 % of the female population). This means that the number of women in this age group exceeded the number of men by 200,000, or 2.3 times. There have been some successes in the development of gerontological services: the Kyrgyz Republic became a member of the international gerontological network AgeNet International (2005), and the law «On Elderly Citizens in the Kyrgyz Republic» (2011), and an Action Plan to Improve the Quality of Life of Older Citizens for 2019–2025 (dated August 30, 2019) was approved. Despite these successes, the republic's gerontological services do not meet the modern challenges of an aging population, and problems related to geriatric care remain: there are no geriatricians, no geriatric clinics, no geriatric centers, geriatric medical care for the elderly is not provided at the proper level, and residents of social inpatient facilities remain under-examined.

CONCLUSION. The Kyrgyz Republic needs to create a single coordinating body for the gerontological and geriatric services, which will be responsible for its work and development. In order to develop the gerontology service, achieve health and quality of life indicators for the elderly, it is necessary to develop collaborative scientific research and improve specialized training in geriatrics. Coordinated actions of the healthcare and social protection system are needed to help provide the elderly and senile population of the country with highly specialized medical and medical-social care, which will undoubtedly have an impact on prolonging their active longevity.

Keywords: gerontology; geriatrics; elderly; geriatric care; social inpatient facilities; Kyrgyz Republic.

For citation: Mamatov S. M., Arstanbekova M. A.*, Smailova D. K., Romankulova Z. B. Problems of gerontology and geriatrics in the Kyrgyz Republic at the present stage. *Russian Journal of Geriatric Medicine*. 2025 ; 3S (23) : 426–427. DOI: 10.37586/2686-8636-3-2025-426-427

Received: 27.02.2025. Accepted: 17.04.2025. Published online: 26.09.2025.

ДОПОЛНИТЕЛЬНАЯ ИНФОРМАЦИЯ / ADDITIONAL INFORMATION

Финансирование. Исследование не имело спонсорской поддержки.

Funding Sources: This study had no external funding sources.

Конфликт интересов. Авторы декларируют отсутствие явных и потенциальных конфликтов интересов, связанных с содержанием настоящей статьи.

Conflict of Interests. The authors declare no conflicts of interest.

Вклад авторов. Все авторы в равной степени участвовали в разработке концепции статьи, получении и анализе фактических

данных, написании и редактировании текста статьи, проверке и утверждении текста статьи.

Author contribution. All authors according to the ICMJE criteria participated in the development of the concept of the article, obtaining and analyzing factual data, writing and editing the text of the article, checking and approving the text of the article.

ORCID АВТОРОВ:

Маматов С. М. / Mamatov S. M. — 0000-0001-8540-3252

Арстанбекова М. А. / Arstanbekova M. A. —

0000-0002-3054-9569

Смаилова Д. К. / Smailova D. K. — 0000-0003-2151-7052

Романкулова Ж. Б. / Romankulova Z. B. —

0000-0002-0379-880X

РАСПРОСТРАНЕННОСТЬ ГЕРИАТРИЧЕСКИХ СИНДРОМОВ У ПОЖИЛЫХ ПОДОПЕЧНЫХ В СОЦИАЛЬНЫХ СТАЦИОНАРАХ ЮЖНЫХ РЕГИОНОВ КИРГИЗСКОЙ РЕСПУБЛИКИ

DOI: 10.37586/2686-8636-3-2025-428-430

УДК 614.255 — 053.9 (575.2)

Арстанбекова М. А. *, Мусакеев А. О. , Маматов С. М. 

Киргизская государственная медицинская академия имени И. К. Ахунбаева, Бишкек, Киргизская Республика

* Автор, ответственный за переписку, Арстанбекова Мира Арстанбековна.

E-mail: miramed1@mail.ru

Резюме

АКТУАЛЬНОСТЬ. Гериатрические синдромы — довольно распространенные у пожилых людей клинические состояния, которые не подпадают под категории заболеваний. В последнее время их перечень пополнился, в том числе старческой слабостью, саркопенией, анорексией и когнитивными расстройствами.

ЦЕЛЬ ИССЛЕДОВАНИЯ. Выявить при помощи скринингового опросника распространенность синдрома старческой астении у подопечных социальных стационарных учреждений южных регионов Киргизской Республики.

МАТЕРИАЛЫ И МЕТОДЫ. Наша работа проводилась в социальных стационарных учреждениях Киргизской Республики. В ходе исследования гериатрический статус определен у 206 пациентов этих учреждений. Первую группу исследования составили 144 пациента пожилого возраста (от 60 до 74 лет), вторую группу — 62 чел. старческого возраста (от 75 до 90 лет). С использованием компьютерной программы «Оптимизация ухода в гериатрии в зависимости от степени старческой астении» изучались основные гериатрические синдромы, такие как двигательные расстройства, параметры равновесия, когнитивные нарушения; частота и риск развития синдрома недоедания. Также были изучены факторы, связанные с моральным состоянием и степенью самостоятельности пожилых людей в повседневной жизни.

РЕЗУЛЬТАТЫ. Симптомы старческой астении (табл.) разной степени были обнаружены у $(95,6 \pm 1,4)$ % пациентов ($n = 197$); у $(4,4 \pm 1,4)$ % исследуемых ($n = 9$) астения не выявлена. Наиболее распространенной оказалась умеренная астения — она обнаружена у $(25,2 \pm 3,0)$ % подопечных ($n = 52$). Высокую частоту показали случаи легкой и выраженной степени — по $(24,3 \pm 2,9)$ %; $p \geq 0,05$ ($n = 50$) каждый. На старческую преастению пришлось $(15,0 \pm 2,4)$ % случаев, ($p < 0,01$), ($n = 31$); на тяжелую астению — $(6,8 \pm 2,1)$ % случаев, ($p < 0,01$), ($n = 14$).

Таблица. Частота распространения синдрома старческой астении разной степени выраженности

№ п/п	Степень выраженности синдрома	Частота распространения (n = 206)	
		n, чел.	P ± m, %
1	Признаков старческой астении нет	9	$4,4 \pm 1,4$
2	Старческая преастения	31	$15,0 \pm 2,4$
3	Легкая астения	50	$24,3 \pm 2,9$
4	Умеренная астения	52	$25,2 \pm 3,0$
6	Выраженная астения	50	$24,3 \pm 2,9$
7	Тяжелая астения	14	$6,8 \pm 2,1$

Примечание: n — абсолютное число, P ± m — частота выраженности синдрома старческой астении

Таблица составлена авторами по собственным данным.

ВЫВОДЫ. Врачебному контингенту медико-санитарной части социальных стационарных учреждений Киргизской Республики следует принять во внимание результаты нашего исследования при оказании подопечным медико-санитарной помощи.

Ключевые слова: лица старческого возраста; социальные стационарные учреждения; клинко-гериатрические синдромы.

Для цитирования: Арстанбекова М. А., Мусакеев А. О., Маматов С. М. Распространенность гериатрических синдромов у пожилых подопечных в социальных стационарах южных регионов Киргизской Республики. *Российский журнал гериатрической медицины*. 2025 ; 3S (23) : 428–430. DOI: 10.37586/2686-8636-3-2025-428-430

Поступила: 27.02.2025. Принята к печати: 17.04.2025. Дата онлайн-публикации: 26.09.2025.

PREVALENCE OF GERIATRIC SYNDROMES IN ELDERLY WARDS IN SOCIAL HOSPITALS IN THE SOUTHERN REGIONS OF THE KYRGYZ REPUBLIC

Arstanbekova M. A. *, Musakeev A. O. , Mamatov S. M. 

Kyrgyz State Medical Academy named after I. K. Akhunbayev, Bishkek, Kyrgyz Republic

* Corresponding author: Arstanbekova Mira Arstanbekovna. E-mail: miramed1@mail.ru

Abstract

BACKGROUND. Geriatric syndromes are fairly common clinical conditions in the elderly that do not fall into certain categories of diseases. Recently their list has expanded to include senile frailty, sarcopenia, anorexia, and cognitive impairment.

OBJECTIVE. To identify the prevalence of senile asthenia syndrome in the wards of social inpatient institutions in the southern regions of the Kyrgyz Republic using a screening questionnaire.

MATERIALS AND METHODS. Our work was carried out in social inpatient institutions of the Kyrgyz Republic. During the study, geriatric status was determined in 206 patients at these institutions. The first group of the study consisted of 144 elderly patients (60 to 74 years old), and the second group consisted of 62 elderly patients (75 to 90 years old). Using the computer program «Optimization of care in geriatrics depending on the degree of senile asthenia», the main geriatric syndromes such as motor disorders, balance parameters, cognitive impairment; frequency and risk of malnutrition syndrome were studied. Factors related to morale and the degree of independence of the elderly in everyday life were also studied.

RESULTS. Symptoms of senile asthenia (Table) of various degrees were found in (95.6 ± 1.4) % of patients ($n = 197$); asthenia was not detected in (4.4 ± 1.4) % of subjects ($n = 9$). Moderate asthenia was the most common, found in (25.2 ± 3.0) % of the subjects ($n = 52$). Mild and severe cases had a high frequency of (24.3 ± 2.9) %; $p \geq 0.05$) ($n = 50$) each. Senile preasthenia accounted for (15.0 ± 2.4) % of cases, ($p < 0.01$), ($n = 31$); severe asthenia accounted for (6.8 ± 2.1) % of cases, ($p < 0.01$), ($n = 14$).

Table. Prevalence rate of senile asthenia syndrome of different degrees of severity

№	The severity of the syndrome	Prevalence ($n = 206$)	
		n, men	$P \pm m$, %
1	No signs of senile asthenia	9	4.4 ± 1.4
2	Senile preasthenia gravis	31	15.0 ± 2.4
3	Mild asthenia	50	24.3 ± 2.9
4	Moderate asthenia	52	25.2 ± 3.0
6	Severe asthenia	50	24.3 ± 2.9
7	Severe asthenia	14	6.8 ± 2.1

Note: n is an absolute number, $P \pm m$ is the frequency of severity of senile asthenia syndrome.

The table was compiled by the authors based on their own data.

CONCLUSION. The medical contingent of the medical and sanitary unit of social inpatient institutions of the Kyrgyz Republic should take into account the results of our research when providing medical and sanitary care to the wards.

Keywords: senile persons; social inpatient facilities; clinical and geriatric syndromes.

For citation: Arstanbekova M. A., Musakeev A. O., Mamatov S. M. Prevalence of geriatric syndromes in elderly patients in social hospitals in the southern regions of the Kyrgyz Republic. *Russian Journal of Geriatric Medicine*. 2025 ; 3S (23) : 428–430. DOI: 10.37586/2686-8636-3-2025-428-430

Received: 27.02.2025. Accepted: Published online: 26.09.2025.

ДОПОЛНИТЕЛЬНАЯ ИНФОРМАЦИЯ / ADDITIONAL INFORMATION

Финансирование. Исследование не имело спонсорской поддержки.

Funding Sources: This study had no external funding sources.

Конфликт интересов. Авторы декларируют отсутствие явных и потенциальных конфликтов интересов, связанных с содержанием настоящей статьи.

Conflict of Interests. The authors declare no conflicts of interest.

Вклад авторов. Все авторы в равной степени участвовали в разработке концепции статьи, получении и анализе фактических

данных, написании и редактировании текста статьи, проверке и утверждении текста статьи.

Author contribution. All authors according to the ICMJE criteria participated in the development of the concept of the article, obtaining and analyzing factual data, writing and editing the text of the article, checking and ap-proving the text of the article.

ORCID АВТОРОВ:

Арстанбекова М. А. / Arstanbekova M. A. —
0000-0002-3054-9569

Мусакеев А. О. / Musakeev A. O. — 0000-0002-0702-2785

Маматов С. М. / Mamatov S. M. — 0000-0001-8540-3252

АССОЦИАЦИЯ САРКОПИИ С СИСТЕМНЫМ ИММУННЫМ ВОСПАЛИТЕЛЬНЫМ ИНДЕКСОМ У ПАЦИЕНТОВ ПОЖИЛОГО ВОЗРАСТА

DOI: 10.37586/2686-8636-3-2025-431-433

УДК: 61.616-002.2

Гостева Е. В. ^{1*}, Васильева Л. В. ¹, Ключников Н. И. ², Попов С. Ю. ³, Купцов М. А. ⁴

¹ ФГБОУ ВО ВГМУ, Воронеж, Россия

² БУЗ ВО «ВГКБСМП № 8», Воронеж, Россия

³ ООО МЦ «Альдомед», Бутурлиновка, Воронежская обл., Россия

⁴ БУЗ ВО «ВГКБСМП № 1», Воронеж, Россия

* Автор, ответственный за переписку, Гостева Елена Владимировна.

E-mail: yanavrn@yandex.ru

Резюме

Проведена оценка взаимосвязи иммунного воспалительного индекса (SII) с показателями саркопии у пациентов пожилого возраста — индексом мышечной массы, относительным индексом силы. Индекс SII продемонстрировал надежную предсказательную способность и высокую эффективность в выявлении снижения мышечной функции у пациентов пожилого возраста.

АКТУАЛЬНОСТЬ. У лиц пожилого возраста саркопия способствует снижению функциональной активности, возможности самообслуживания, повышению риска падений и др. Общий анализ крови является рутинным лабораторным анализом, различные компоненты которого могут быть использованы в качестве маркеров инфламейджинга. Индекс SII (тромбоциты × нейтрофилы / лимфоциты) значительно точнее, чем С-реактивный белок в прогнозировании ишемической болезни сердца, способен эффективно прогнозировать прогрессирование сердечной недостаточности. На сегодня взаимосвязь саркопии с индексом SII до конца не изучена.

ЦЕЛЬ ИССЛЕДОВАНИЯ — оценить ассоциацию между воспалительным индексом SII (тромбоциты × нейтрофилы / лимфоциты) и мышечной массой и силой мышц.

МАТЕРИАЛЫ И МЕТОДЫ. В исследование включено 65 мужчин пожилого возраста (средний возраст $70,4 \pm 3,2$ года). Саркопию диагностировали на основании критериев EWGSOP. В 1-ю группу вошли 32 чел. с саркопией, во 2-ю — 33 чел. без саркопии. Критерии включения: возраст — 60–74 года; завершение всех этапов исследования. Индекс мышечной массы (ИММ) определяли делением мышечной массы на индекс массы тела (ИМТ), для мужчин низким считали индекс $<0,789$. Силу хвата проверяли с помощью скимания динамометра каждой рукой по 3 раза в течение 5 секунд с определением среднего значения; локоть был расположен под прямым углом к телу. Относительный индекс силы (ОИС) рассчитывался путем деления мышечной силы доминирующей руки на ИМТ. Статистический анализ выполнен с применением ROC-анализа в прогнозировании риска низкой мышечной массы и силы. Корреляционный анализ по Спирмену использовали для оценки взаимосвязи между SII, ИММ и мышечной силой.

РЕЗУЛЬТАТЫ. Пациенты с саркопией по сравнению с пациентами без саркопии имели статистически значимо ($p < 0,001$) более высокий ИМТ ($32,03 \pm 6,28$ кг/м² против $25,98 \pm 5,03$ кг/м²) и более низкие ИММ ($0,68 \pm 0,09$ против $0,87 \pm 0,06$) и ОИС ($1,12 \pm 0,17$ против $1,52 \pm 0,23$). Установлена связь увеличения ИММ и ОИС с уменьшением ИМТ. Пациенты без саркопии имели более низкое количество тромбоцитов, лимфоцитов и нейтрофилов. У пациентов с саркопией значение SII составило $548,36 \pm 232,63$, без саркопии — $414,42 \pm 205,25$ ($p < 0,001$). Площадь под ROC-кривой (AUC) при оценке дискриминантной способности SII составила: в прогнозировании снижения ИММ $0,723 \pm 0,054$ (95 % ДИ: $0,622-0,815$; $p < 0,001$), диагностическая эффективность модели — 74,2 %; в прогнозировании снижения ОИС — $0,852 \pm 0,035$ (95 % ДИ: $0,779-0,915$; $p < 0,001$), диагностическая эффективность модели — 82,5 %. При этом SII сохранял значительную отрицательную корреляцию с ИММ ($p < 0,001$) при анализе в качестве как непрерывной, так и категориальной переменной, что свидетельствует о надежном прогностическом эффекте.

ЗАКЛЮЧЕНИЕ. Индекс SII продемонстрировал надежную предсказательную способность и высокую эффективность в выявлении снижения мышечной функции у пациентов пожилого возраста.

Ключевые слова: саркопия; воспаление; тромбоциты; лимфоциты.

Для цитирования: Гостева Е. В., Васильева Л. В., Ключников Н. И., Попов С. Ю., Купцов М. А. Ассоциация саркопии с системным иммунным воспалительным индексом у пациентов пожилого возраста. *Российский журнал гериатрической медицины*. 2025 ; 3S (23) : 431–433. DOI: 10.37586/2686-8636-3-2025-431-433

Поступила: 10.04.2025. Принята к печати: 17.04.2025. Дата онлайн-публикации: 26.09.2025.

ASSOCIATION OF SARCOPENIA WITH SYSTEMIC IMMUNE INFLAMMATORY INDEX IN ELDERLY PATIENTS

Gosteva E. V. ^{1*}, Vasilyeva L. V. ¹, Klyushnikov N. I. ², Popov S. Yu. ³, Kuptsov M. A. ⁴

¹ N. N. Burdenko Voronezh State Medical University, Voronezh, Russia

² Municipal Clinical Emergency Hospital No. 8, Voronezh, Russia

³ Aldomed Medical Center, Buturlinovka, Voronezh region, Russia

⁴ Municipal Clinical Emergency Hospital No. 1, Voronezh, Russia

* Corresponding author: Elena Vladimirovna Gosteva. E-mail: yanavrn@yandex.ru

Abstract

The relationship between the immune inflammatory index (SII) and sarcopenia in older patients, specifically in terms of muscle mass and relative strength, was assessed. The SII has shown promising predictive ability and high efficacy in identifying decreased muscle function among older individuals.

BACKGROUND. In elderly people, sarcopenia can lead to a decrease in functional activity and the ability to perform self-care activities, as well as an increased risk of falling. A general blood test is a common laboratory test that can be used to measure various components that can act as markers for inflammation. The SII index, which is calculated by multiplying the number of platelets by neutrophils and dividing by lymphocytes, is more accurate than C-reactive protein in predicting coronary heart disease. It can also effectively predict the development and progression of heart failure. However, the relationship between sarcopenia and the SII index has not yet been fully investigated.

THE OBJECTIVE OF THE STUDY — to investigate the relationship between the inflammatory index SII (platelet-neutrophil ratio/lymphocyte count) and muscle mass and strength.

MATERIALS AND METHODS. The study included 65 elderly men with an average age of 70.4 ± 3.2 year. Sarcopenia was diagnosed using the EWGSOP criteria. The participants were divided into two groups: group 1 included 32 men with sarcopenia, and group 2 included 33 men without sarcopenia. The inclusion criteria were: the age of the patients was 60–74 years, and all stages of the study had been completed. Muscle mass index (MMI) was determined by dividing muscle mass by body mass index (BMI). For men, an MMI below 0.789 was considered low. Grip strength was measured by squeezing a dynamometer in each hand 3 times for 5 seconds, and the average value was taken. The elbow was positioned at a right angle to the body. Relative Strength Index (RSI) was calculated by dividing dominant arm muscle strength by BMI. Statistical analysis was performed using ROC analysis to evaluate MMI in predicting low muscle mass and strength risk. Spearman's correlation analysis was used to assess the relationship between SII, MMI, and muscle strength.

RESULTS. Patients with sarcopenia had a significantly higher BMI ($p < 0.001$, mean (32.03 ± 6.28) kg/m²) compared to those without sarcopenia (mean (25.98 ± 5.03) kg/m²). They also had lower BMI (mean 0.68 ± 0.09 vs 0.87 ± 0.06) and BMI (1.12 ± 0.17 vs 1.52 ± 0.23). An increase in BMI was associated with a decrease in RSI. Patients without sarcopenia had lower platelet and lymphocyte counts. The SII value was significantly higher in patients with sarcopenia (548.36 ± 232.63) compared to those without (414.42 ± 205.25 , $p < 0.001$). The area under the ROC curve for SII predicting a decrease in BMI was 0.723 ± 0.054 , indicating a 74.2 % diagnostic effectiveness. For RSI, the area was 0.852 ± 0.035 , indicating an 82.5 % diagnostic efficiency. SII also maintained a significant negative correlation with IMM, both as a continuous and categorical variable.

CONCLUSION. The SII index has demonstrated reliable predictive ability and high efficiency in detecting decreased muscle function in elderly patients.

Keywords: sarcopenia; inflammation; platelets; lymphocytes.

For citation: Gosteva E. V., Vasilyeva L. V., Klyushnikov N. I., Popov S. Yu., Kuptsov M. A. Association of sarcopenia with systemic immune inflammatory index in elderly patients. *Russian Journal of Geriatric Medicine*. 2025 ; 3S (23) : 431–433. DOI: 10.37586/2686-8636-3-2025-431-433

Received: 10.04.2025. Accepted: 17.04.2025. Published online: 26.09.2025.

ДОПОЛНИТЕЛЬНАЯ ИНФОРМАЦИЯ / ADDITIONAL INFORMATION

Финансирование. Исследование не имело спонсорской поддержки.

Funding Sources: This study had no external funding sources.

Конфликт интересов. Авторы декларируют отсутствие явных и потенциальных конфликтов интересов, связанных с содержанием настоящей статьи.

Conflict of Interests. The authors declare no conflicts of interest.

Вклад авторов. Все авторы в равной степени участвовали в разработке концепции статьи, получении и анализе фактических данных, написании и редактировании текста статьи, проверке и утверждении текста статьи.

Author contribution. All authors according to the ICMJE criteria participated in the development of the concept of the article, obtaining and analyzing factual data, writing and editing the text

of the article, checking and approving the text of the article.

ORCID АВТОРОВ:

Гостева Е. В. / Gosteva E. V. — 0000-0002-8771-2558

Васильева Л. В. / Vasilyeva L. V. — 0000-0002-9900-556X

Клюшников Н. И. / Klyushnikov N. I. — 0000-0001-6337-7129

Попов С. Ю. / Popov S. Yu. — 0000-0002-7914-0756

Купцов М. А. / Kuptsov M. A. — 0009-0005-5156-4089

ИЗОЛЯЦИЯ УСТЬЕВ ЛЕГОЧНЫХ ВЕН У ПАЦИЕНТОВ ПОЖИЛОГО И СТАРЧЕСКОГО ВОЗРАСТА

DOI: 10.37586/2686-8636-3-2025-434-437

УДК: 616.125.2

Сафонов Н. В. , Лелькова А. М. , Чавушян Л. Г. *, Стеклов А. С. , Серова М. В. , Колесников Д. В. 

ФГАОУ ВО РНИМУ им. Н. И. Пирогова Минздрава России (Пироговский Университет), Москва, Россия

* Автор, ответственный за переписку, Чавушян Левон Гамлетович.
E-mail: chavushyan_lg@rgnkc.ru

Резюме

В статье представлены результаты проведения радиочастотной абляции фибрилляции предсердий у пациентов пожилого и старческого возраста. Всего в исследование включен 151 пациент. Испытуемые были разделены на две группы: 1-ю группу составляли пациенты в возрасте от 65 до 75 лет, 2-ю — старше 75 лет. Период наблюдения составил 1 год.

АКТУАЛЬНОСТЬ. Согласно литературным данным, частота выявления фибрилляции предсердий (ФП) в популяции составляет 1–2 %. Эта частота увеличивается с возрастом: от <0,5 % в возрасте 40–50 лет до 5–15 % в возрасте 80 лет [1–8]. С учетом увеличения ожидаемой продолжительности жизни мы вправе ожидать и увеличения количества пациентов пожилого и старческого возраста с фибрилляцией предсердий [9–11, 22]. Учитывая то, что изоляция устьев легочных вен является золотым стандартом лечения данного заболевания, нам необходимы исследования, отражающие профиль эффективности и безопасности проведения радиочастотной абляции при фибрилляции предсердий у пациентов этих возрастных групп [12–21].

ЦЕЛЬ ИССЛЕДОВАНИЯ. Изучить эффективность и безопасность проведения изоляции устьев легочных вен у пациентов пожилого и старческого возраста.

МАТЕРИАЛЫ И МЕТОДЫ. Исследование носит ретроспективный характер. Работа была проведена в 2022–2023 гг. в Российском геронтологическом научно-клиническом центре Пироговского Университета. В 1-ю группу были включены 104 пациента в возрасте до 75 лет (42 мужчины, 62 женщины, средний возраст — 62 г., средняя длительность заболевания — 5,2 г.), во 2-ю — 47 пациентов старше 75 лет (14 мужчин, 33 женщины, средний возраст — 78 лет, средняя длительность заболевания — 8,2 г.). Критерии включения в исследование: возраст более 18 лет, показания к проведению радиочастотной абляции фибрилляции предсердий, симптомная фибрилляция предсердий, антикоагулянтная терапия длительностью более 4 недель до операции. Критерии исключения: любые противопоказания к оперативному лечению. Первичной конечной точкой по эффективности было отсутствие регистрации ФП длительностью более 30 с во время слепого периода (2 мес.). Вторичной конечной точкой по эффективности было отсутствие предсердной тахикардии, атипичного трепетания предсердий, типичного трепетания предсердий, фибрилляции предсердий после слепого периода; смерть, инсульт, транзиторная ишемическая атака (ТИА). Оценку результатов проводили при помощи холтеровского мониторинга и во время визитов в клинику через 3, 6 и 12 мес. после операции. У значительной части пациентов наблюдалась пароксизмальная форма ФП: 79 чел. в 1-й группе (76 %) и 34 чел. во 2-й группе (72 %). Наиболее частым сопутствующим заболеванием среди пациентов 1-й группы была гипертоническая болезнь (97 пациентов, 93,27 %), за ней следовала дислипидемия (64 пациента, 61,54 %). Хроническая ишемия головного мозга зарегистрирована у 48 пациентов (46,15 %), хроническая сердечная недостаточность — у 46 (44,23 %), хроническая болезнь почек — у 24 (23,07 %), сахарный диабет — у 14 (13,46 %), ишемическая болезнь сердца (ИБС) — у 10 (9,62 %), инсульт или ТИА в анамнезе — у 6 (5,77 %). У 5 пациентов (4,81 %) была хроническая обструктивная болезнь легких (ХОБЛ) и у 4 (3,85 %) — постинфарктный кардиосклероз (ПИКС). Имплантация кардиостимулятора по поводу синдрома слабости синусового узла или атриовентрикулярной блокады была проведена до начала исследования у 4 пациентов (3,85 %). Во 2-й группе гипертоническая болезнь и дислипидемия встречались у 43 пациентов (91,45 %), хроническая ишемия головного мозга — у 32 (68,09 %), сердечная недостаточность — у 35 (74,45 %), заболевание почек — у 9 (19,15 %), сахарный диабет — у 9 (19,15 %), ИБС — у 8 (17,02 %), инсульт или ТИА в анамнезе — у 9 (19,15 %). ХОБЛ была у 5 человек (10,64 %), ПИКС — у 3 (6,38 %). Имплантация кардиостимулятора — у 7 пациентов (14,89 %). Всем пациентам была проведена антральная изоляция устьев легочных вен с помощью трехмерной навигационной системы.

РЕЗУЛЬТАТЫ. Длительность операции в 1-й и 2-й группах была сопоставима: (56 ± 14) мин и (49 ± 13) мин соответственно ($p < 0,05$); критерии изоляции устьев легочных вен были получены у всех пациентов. Серьезных осложнений, таких как гемоперикард, ишемический инсульт, предсердно-пищеводная фистула, зарегистрировано не было. Эффективность во время слепого периода составила в 1-й группе 78,8 % (82 пациента), во 2-й группе — 81,4 % (34 пациента); $\chi^2 = 1,648$; $p = 0,194$. Эффективность через 1 год наблюдения составила в 1-й группе 75,9 % (79 пациентов), во 2-й группе — 76,7 % (33 пациента); $\chi^2 = 0,003$; $p < 0,05$.

ЗАКЛЮЧЕНИЕ. Радиочастотная абляция при фибрилляции предсердий у пациентов пожилого и старческого возраста обладает высоким профилем эффективности и безопасности. Однако требуются дополнительные исследования, направленные на подтверждение данного вывода.

Ключевые слова: фибрилляция предсердий; пожилой возраст; старческий возраст; радиочастотная абляция.

Для цитирования: Сафонов Н. В., Лелькова А. М., Чавушян Л. Г., Стеклов А. С., Серова М. В., Колесников Д. В. Изоляция устьев легочных вен у пациентов пожилого и старческого возраста. *Российский журнал гериатрической медицины*. 2025 ; 3S (23) : 434–437. DOI: 10.37586/2686-8636-3-2025-434-437

Поступила: 18.04.2025. Принята к печати: Дата онлайн-публикации: 26.09.2025.

ISOLATION OF THE PULMONARY VEINS OSTIA IN ELDERLY AND GERIATRIC PATIENTS

Safonov N. V. , Lelkova A. M. , Chavushyan L. G. *, Steklov A. S. , Serova M. V. , Kolesnikov D. V. 

N. I. Pirogov Russian National Research Medical University, Ministry of Health of the Russian Federation (Pirogov University), Moscow, Russia

* Corresponding author: Chavushyan Levon Gamletovich. E-mail: chavushyan_lg@rgnkc.ru

Abstract

This article presents the results of radiofrequency ablation of atrial fibrillation in elderly and geriatric patients. A total of 151 patients were included in the study. The subjects were divided into two groups: Group 1 consisted of patients aged 65 to 75 years, while Group 2 included those over 75 years of age. The follow-up period lasted for 1 year.

BACKGROUND. According to the literature, the prevalence of atrial fibrillation (AF) in the population ranges from 1 % to 2 %. This frequency increases with age, from less than 0.5 % in individuals aged 40 to 50 years to 5 % to 15 % in those aged 80 years [1–8]. Considering the increase in life expectancy, we can also expect a rise in the number of elderly and senile patients with atrial fibrillation. [9–11, 22]. Given that pulmonary vein ostia isolation is the gold standard for treating this condition, there is a need for studies that reflect the profile of efficacy and safety of radiofrequency ablation for atrial fibrillation in patients within these age groups. [12–21].

OBJECTIVE. To investigate the efficacy and safety of pulmonary vein ostia isolation in elderly and geriatric patients.

MATERIALS AND METHODS. The study is retrospective in nature. It was conducted in 2022–2023 at the Pirogov University Russian Gerontological Scientific Clinical Center. The first group included 104 patients aged up to 75 years (42 men, 62 women, with a mean age of 62 years and a mean disease duration of 5.2 years). The second group comprised 47 patients over 75 years old (14 men, 33 women, with a mean age of 78 years and a mean disease duration of 8.2 years). Inclusion criteria for the study were: age over 18 years, indications for radiofrequency ablation of atrial fibrillation, symptomatic atrial fibrillation, and anticoagulant therapy for more than four weeks prior to the procedure. Exclusion criteria included any contraindications to surgical intervention. The primary efficacy endpoint was the absence of recorded atrial fibrillation lasting more than 30 seconds during the blind period (2 months). The secondary efficacy endpoint was the absence of atrial tachycardia, atypical atrial flutter, typical atrial flutter, atrial fibrillation after the blind period, death, stroke, or transient ischemic attacks (TIA). The assessment of the results was conducted using Holter monitoring and during clinic visits at 3, 6, and 12 months after the procedure. A significant portion of patients had paroxysmal atrial fibrillation, with 79 individuals in the first group (76 %) and 34 individuals in the second group (72 %). The most common comorbidity among patients in the first group was hypertension (97 patients, 93.27 %), followed by dyslipidemia (64 patients, 61.54 %). Chronic cerebral ischemia was observed in 48 patients (46.15 %), chronic heart failure in 46 (44.23 %), chronic kidney disease in 24 (23.07 %), diabetes mellitus in 14 (13.46 %), ischemic heart disease in 10 (9.62 %), and a history of stroke or TIA in 6 (5.77 %). Chronic obstructive pulmonary disease (COPD) was present in 5 patients (4.81 %), and post-infarction cardiosclerosis (PICS) in 4 (3.85 %). Implantation of a pacemaker due to sick sinus syndrome or atrioventricular block was performed prior to the study in 4 patients (3.85 %). In the group over 75 years of age, hypertension and dyslipidemia were present in 43 patients (91.45 %), chronic cerebral ischemia in 32 (68.09 %), heart failure in 35 (74.45 %), kidney disease in 9 (19.15 %), diabetes mellitus in 9 (19.15 %), ischemic heart disease in 8 (17.02 %), and a history of stroke or TIA in 9 (19.15 %). COPD was diagnosed in 5 patients (10.64 %), and PICS in 3 (6.38 %). Pacemaker implantation was performed in 7 patients (14.89 %). All patients underwent atrial isolation of the pulmonary vein orifices using a three-dimensional navigation system.

RESULTS. The duration of the surgery in the first and second groups was comparable: (56 ± 14) minutes and (49 ± 13) minutes ($p < 0.05$). Criteria for the isolation of the pulmonary vein ostia were achieved in all patients. No serious complications, such as hemopericardium, ischemic stroke, or atrial-esophageal fistula, were recorded. The efficacy during the blind period was 78.8 % (82 patients) in the first group and 81.4 %

(34 patients) in the second group, with $\chi^2 = 1.648$, $p = 0.194$. The efficacy after 1 year of follow-up was 75.9 % (79 patients) in the first group and 76.7 % (33 patients) in the second group, with $\chi^2 = 0.003$, $p < 0.05$.

CONCLUSION. Radiofrequency ablation for atrial fibrillation in elderly and senile patients demonstrates a high profile of efficacy and safety. However, further studies are necessary to confirm this conclusion.

Keywords: atrial fibrillation; elderly age; senile age; radiofrequency ablation.

For citation: Safonov N. V., Lelkova A. M., Chavushyan L. G., Steklov A. S., Serova M. V., Kolesnikov D. V. Isolation of the Pulmonary Veins Ostia in Elderly and Geriatric Patients. *Russian Journal of Geriatric Medicine*. 2025; 3S (23) : 434–437. DOI: 10.37586/2686-8636-3-2025-434-437

Received: 18. 04. 2025. Accepted: Published online: 26.09.2025.

ДОПОЛНИТЕЛЬНАЯ ИНФОРМАЦИЯ / ADDITIONAL INFORMATION

Финансирование. Исследование не имело спонсорской поддержки.

Funding Sources: This study had no external funding sources.

Конфликт интересов. Авторы декларируют отсутствие явных и потенциальных конфликтов интересов, связанных с содержанием настоящей статьи.

Conflict of Interests. The authors declare no conflicts of interest.

Вклад авторов. Все авторы в равной степени участвовали в разработке концепции статьи, получении и анализе фактических данных, написании и редактировании текста статьи, проверке и утверждении текста статьи.

Author contribution. All authors according to the ICMJE criteria participated in the development of the concept of the article, obtaining and analyzing factual data, writing and editing the text of the article, checking and ap-proving the text of the article.

ORCID АВТОРОВ:

Сафонов Н. В. / Safonov N. V. — 0000-0003-3485-3936
Лелькова А. М. / Lelkova A. M. — 0009-0003-6880-9092
Чавушян Л. Г. / Chavushyan L. G. — 0000-0002-6220-4493
Стеклов А. С. / Steklov A. S. — 0000-0001-7687-3201
Серова М. В. / Serova M. V. — 0000-0003-0608-9205
Колесников Д. В. / Kolesnikov D. V. — 0009-0000-6987-9058

СПИСОК ЛИТЕРАТУРЫ / REFERENCES

1. Schnabel R. B., Yin X., Gona P., et al. 50-year trends in atrial fibrillation prevalence, incidence, risk factors, and mortality in the Framingham Heart Study: a cohort study. *Lancet*. 2015 ; 386 (9989): 154–162. doi: 10.1016/S0140-6736(14)61774-8
2. Tsao C. W., Aday A. W., Almarazooq Z. I., et al. Heart disease and stroke statistics-2023 update: a report from the American Heart Association. *Circulation*. 2023 ; 147 (8) : e93–e621. doi: 10.1161/CIR.0000000000001123
3. Hugh S. S., Havmoeller R., Narayanan K., et al. Worldwide epidemiology of atrial fibrillation: a Global Burden of Disease 2010 study. *Circulation*. 2014 ; 129 (8) : 837–847. doi: 10.1161/CIRCULATIONAHA.113.005119
4. Stewart S., Hart C. L., Hole D. J., McMurray J. J. Population prevalence, incidence, and predictors of atrial

fibrillation in the Renfrew/Paisley study. *Heart*. 2001 ; 86 (5) : 516–521. doi: 10.1136/heart.86.5.516

5. Go A. S., Hylek E. M., Phillips K. A., et al. Prevalence of diagnosed atrial fibrillation in adults: national implications for rhythm management and stroke prevention: the AnTicoagulation and Risk Factors in Atrial Fibrillation (ATRIA) Study. *JAMA*. 2001 ; 285 (18) : 2370–2375. doi: 10.1001/jama.285.18.2370

6. Miyasaka Y., Barnes M. E., Gersh B. J., et al. Secular trends in incidence of atrial fibrillation in Olmsted County, Minnesota, 1980 to 2000, and implications on the projections for future prevalence. *Circulation*. 2006 ; 114 (2) : 119–125. doi: 10.1161/CIRCULATIONAHA.105.595140

7. Heeringa J., van der Kuip D. A., Hofman A., et al. Prevalence, incidence and lifetime risk of atrial fibrillation: the Rotterdam study. *Eur Heart J*. 2006; 27 (8) : 949–953. doi: 10.1093/eurheartj/ehi825

8. Naccarelli G. V., Varker H., Lin J., Schulman K. L. Increasing prevalence of atrial fibrillation and flutter in the United States. *Am J Cardiol*. 2009 ; 104 (11) : 1534–1539. doi: 10.1016/j.amjcard.2009.07.022

9. Deshmukh A., Iglesias M., Khanna R., et al. Healthcare utilization and costs associated with a diagnosis of incident atrial fibrillation. *Heart Rhythm O2*. 2022 ; 3 (5) : 577–586. doi: 10.1016/j.hrroo.2022.07.010

10. Mou L., Norby F. L., Chen L. Y., et al. Lifetime risk of atrial fibrillation by race and socioeconomic status: ARIC study (Atherosclerosis Risk in Communities). *Circ Arrhythm Electrophysiol*. 2018 ; 11 (7) : e006350. doi: 10.1161/CIRCEP.118.006350

11. Papanastasiou C. A., Theochari C. A., Zareifopoulos N., et al. Atrial fibrillation is associated with cognitive impairment, all-cause dementia, vascular dementia, and Alzheimer's disease: a systematic review and meta-analysis. *J Gen Intern Med*. 2021 ; 36 (10) : 3122–3135. doi: 10.1007/s11606-021-06954-8

12. Chen S. J., Yin Y. H., Dong Y., et al. [Efficacy of rate and rhythm control strategy in patients with atrial fibrillation: meta-analysis]. *Zhonghua Xin Xue Guan Bing Za Zhi*. 2012 ; 40 (1) : 68–72.

13. Noseworthy P. A., Gersh B. J., Kent D. M., et al. Atrial fibrillation ablation in practice: assessing CABANA generalizability (ESC). *Eur Heart J*. 2019 ; 40 (16) : 1257–1264. doi: 10.1093/eurheartj/ehz085

14. Camm A. J. Left atrial ablation for management of atrial fibrillation: CABANA vs. real-world data. Apples and oranges? *Eur Heart J*. 2019; 40 (16) :1265–1267. doi: 10.1093/eurheartj/ehz168

15. Camm A. J., Kirchhof P., Lip G. Y., et al. Guidelines for the management of atrial fibrillation: the Task Force for the Management of Atrial Fibrillation of the European Society of Cardiology (ESC). *Europace*. 2010 ; 12 (10) : 1360–1420. doi: 10.1093/europace/euq350

16. Wyse D. G., Waldo A. L., DiMarco J. P., et al. A comparison of rate control and rhythm control in patients

with atrial fibrillation. *N Engl J Med.* 2002 ; 347 (23) : 1825–1833. doi: 10.1056/NEJMoa021328

17. Van Gelder I.C., Hagens V.E., Bosker H.A., et al. A comparison of rate control and rhythm control in patients with recurrent persistent atrial fibrillation. *N Engl J Med.* 2002 ; 347 (23) : 1834–1840. doi: 10.1056/NEJMoa021375

18. Calkins H., Hindricks G., Cappato R., et al. 2017 HRS/EHRA/ECAS/APHRS/SOLAECE expert consensus statement on catheter and surgical ablation of atrial fibrillation: Executive summary. *Heart Rhythm.* 2017; 14(10) : e445–e494. doi: 10.1016/j.hrthm.2017.07.009

19. Siontis K. C., Ioannidis J. P. A., Katritsis G. D., et al. Radiofrequency ablation versus antiarrhythmic drug therapy for atrial fibrillation: meta-analysis of quality of life, morbidity, and mortality. *JACC Clin Electrophysiol.* 2016 ; 2 (2) : 170–180. doi: 10.1016/j.jacep.2015.10.003

20. Kuck K. H., Lebedev D. S., Mikhaylov E. N., et al. Catheter ablation or medical therapy to delay progression of atrial fibrillation: the randomized controlled atrial fibrillation progression trial (ATTEST). *Europace.* 2021 ; 23 (3) : 362–369. doi: 10.1093/europace/euaa298

21. Let's R., Karamichalakis N., Vlachos K., et al. Managing atrial fibrillation in the very elderly patient: challenges and solutions. *Vasc Health Risk Manag.* 2015 ; 11 : 555–562. doi: 10.2147/VHRM.S83664

22. Subic A., Cermakova P., Religa D., et al. Treatment of atrial fibrillation in patients with dementia: a Cohort Study from the Swedish Dementia Registry. *J Alzheimers Dis.* 2018 ; 61 (3) : 1119–1128. doi: 10.3233/JAD-170575

STOPP/START-КРИТЕРИИ И МОДИФИЦИРОВАННЫЙ ИНДЕКС РАЦИОНАЛЬНОСТИ ПРИМЕНЕНИЯ ЛЕКАРСТВЕННЫХ СРЕДСТВ В ТЕРАПИИ ОСТЕОХОНДРОЗА ПОЗВОНОЧНИКА У ПАЦИЕНТОВ СТАРШЕГО ВОЗРАСТА

DOI: 10.37586/2686-8636-3-2025-438-439

УДК: 616-06: 616-08-035

Соболева Н. И.  *

ФГБОУ ВО КГМУ Минздрава России, Курск, Россия

* Автор, ответственный за переписку, Соболева Наталья Ивановна.
E-mail: sobolevani@yandex.ru

Резюме

АКТУАЛЬНОСТЬ. Остеохондроз позвоночника — распространенная проблема больных старшего возраста, с которой они приходят на амбулаторный прием. Его лечение у гериатрических пациентов часто вынуждает назначать препараты со множественными нежелательными побочными реакциями. Возможные инструменты их предупреждения — STOPP/START-критерии и модифицированный индекс рациональности применения лекарственных средств (Medication Appropriateness Index — MAI, 2012) — дают возможность оценить эффективность и безопасность проводимой терапии.

ЦЕЛЬ ИССЛЕДОВАНИЯ. Оценка безопасности медикаментозной терапии остеохондроза позвоночника у пациентов старше 60 лет с использованием STOPP/START-критериев и MAI.

МАТЕРИАЛЫ И МЕТОДЫ. В ходе работы был осуществлен ретроспективный анализ медикаментозных назначений в 315 историях болезни пожилых пациентов дневных стационаров г. Курска с остеохондрозом позвоночника (2015–2024 гг.). Возраст исследуемых — $(70,94 \pm 0,86)$ года. Для решения задач исследования были использованы STOPP/START-критерии и модифицированный индекс рациональности применения лекарственных средств (MAI, 2012). Статистический анализ результатов проводился с помощью программы Microsoft Excel 2010.

РЕЗУЛЬТАТЫ. Наблюдаемые получали многокомпонентную лекарственную терапию. Так, они могли употреблять до 10 препаратов одновременно (среднее количество лекарственных средств на одного пациента — $6,13 \pm 0,19$). Традиционная терапия остеохондроза позвоночника в дневных стационарах складывалась из противовоспалительных и обезболивающих компонентов (кортикостероиды (ГКС) и нестероидные противовоспалительные средства (НПВС)) и миорелаксантов, чаще центрального действия. Наибольшее количество ограничений в терапии остеохондроза позвоночника выявлено у неселективных НПВС. Но должного предупреждения неблагоприятных побочных реакций не отмечено. Так, у 23,83 % пациентов была хроническая сердечная недостаточность, однако мероприятия и рекомендации по профилактике ее и ее обострений в медицинской документации не зафиксированы. Доля больных с гипертензией составляла 47,99 %. При этом назначение противовоспалительной терапии осуществлялось без должного контроля за уровнем артериального давления (АД), что, в свою очередь, провоцировало эпизоды дестабилизации АД. Несмотря на большое количество нежелательных побочных эффектов противовоспалительной терапии со стороны почек, скорость клубочковой фильтрации не была рассчитана у 81,54 %, что свидетельствует о практически полном отсутствии профилактики нарушения функционального состояния почек. MAI ГКС достигали наибольших значений — $14,59 \pm 0,21$. Показатели MAI неселективных НПВС также были высоки — $14,09 \pm 0,12$. У селективных НПВС этот показатель значительно ниже — $9,15 \pm 0,16$. Промежуточные значения MAI у миорелаксантов центрального действия — $11,18 \pm 0,14$.

ЗАКЛЮЧЕНИЕ. Назначенная противовоспалительная терапия остеохондроза позвоночника проводилась без учета патологии сердечно-сосудистой системы и функционального состояния почек, создавая все предпосылки для усугубления течения сопутствующих заболеваний. Крайне высокие значения MAI указывают на дефекты при оценке безопасности и недоучет возможных побочных эффектов, а также на недостаточный контроль межлекарственных воздействий и соматической патологии стареющих пациентов. Выявленные недочеты требуют более широкого внедрения ограничительных перечней в клиническую практику.

Ключевые слова: STOPP/START-критерии, модифицированный индекс рациональности применения лекарственных средств, полипрагмазия, фармакотерапия остеохондроза позвоночника.

Для цитирования: Соболева Н. И. STOPP/START-критерии и модифицированный индекс рациональности применения лекарственных средств в терапии остеохондроза позвоночника у пациентов старшего возраста. *Российский журнал гериатрической медицины*. 2025; 3S(23):438–439. DOI: 10.37586/2686-8636-3-2025-438-439

Поступила: 10.04.2025. Принята к печати: 17.04.2025. Дата онлайн-публикации: 26.09.2025.

STOPP/START-CRITERIA AND A MODIFIED INDEX OF THE RATIONALITY OF DRUG USE IN THE TREATMENT OF SPINAL OSTEOCHONDROSIS IN OLDER PATIENTS

Soboleva N. I. *

Kursk State Medical University, Kursk, Russia

* Corresponding author: Natalia Ivanovna Soboleva. E-mail: sobolevani@yandex.ru

Abstract

BACKGROUND. On an outpatient basis, a common problem in older patients is osteochondrosis of the spine. His treatment in geriatric patients often forces him to prescribe drugs with multiple undesirable side effects. Possible tools for their prevention are the STOPP/START criteria and the modified index of rationality of drug use (Medicine Appropriateness Index — MAI, 2012), which make it possible to assess the effectiveness and safety of the therapy.

OBJECTIVE. Assessment of the safety of drug therapy for spinal osteochondrosis in patients over 60 years of age using STOPP/START criteria and MAI.

MATERIALS AND METHODS. A retrospective analysis of medication prescriptions in 315 case histories of elderly patients of day care centers in Kursk with spinal osteochondrosis (2015–2024) was performed. The age of the studied patients was (70.94 ± 0.86) years. To solve the research tasks, STOPP/START criteria and a modified index of the rationality of drug use (MAI, 2012) were used. Statistical analysis of the results — Microsoft Excel 2010.

RESULTS. All the examined corresponded to the elderly age — (70.94 ± 0.86) year. The subjects received multicomponent drug therapy. So they could use up to 10 medications at a time (the average number of medications per patient was 6.13 ± 0.19). Traditional therapy for spinal osteochondrosis in day hospitals consisted of anti-inflammatory and analgesic components (corticosteroids (GCS) and nonsteroidal anti-inflammatory drugs (NSAIDs)) and muscle relaxants, more often of central action. The greatest number of limitations in the treatment of osteochondrosis of the spine were found in non-selective NSAIDs. However, there was no adequate prevention of adverse side effects. Thus, 23.83 % had chronic heart failure (CHF), however, measures and recommendations for the prevention of it and its exacerbations are not recorded in the medical documentation. The proportion of patients with hypertension was 47.99 %. At the same time, the appointment of anti-inflammatory therapy was carried out without proper monitoring of blood pressure levels, which, in turn, provoked episodes of blood pressure destabilization. Despite the large number of undesirable side effects of anti-inflammatory therapy on the part of the kidneys, the glomerular filtration rate was not calculated in 81.54 %, which indicates an almost complete lack of prevention of kidney dysfunction. MAI GCS reached the highest values — 14.59 ± 0.21 . The indices of non-selective NSAIDs MAI were also high — 14.09 ± 0.12 . In selective NSAIDs, this indicator is significantly lower — 9.15 ± 0.16 . The intermediate MAI values for centrally acting muscle relaxants are 11.18 ± 0.14 .

CONCLUSION. The prescribed anti-inflammatory therapy for osteochondrosis of the spine was carried out without taking into account the pathology of the cardiovascular system and the functional state of the kidneys, creating all the prerequisites for exacerbating the course of concomitant pathology. Extremely high MAI values indicate defects in the safety assessment and underestimation of possible side effects and insufficient control of inter-drug effects and somatic pathology of aging patients. The identified shortcomings require wider implementation of restrictive lists in clinical practice.

Keywords: STOPP/START-criteria; modified index of rationality of drug use; polypragmasia; pharmacotherapy of spinal osteochondrosis.

For citation: Soboleva N. I. STOPP/START-criteria and a Modified index of the rationality of drug use in the treatment of spinal osteochondrosis in older patients. *Russian Journal of Geriatric Medicine*. 2025 ; 35 (23) : 438–439. DOI: 10.37586/2686-8636-3-2025-438-439

Received: 10.04.2025. Accepted: 17.04.2025. Published online: 26.09.2025.

ДОПОЛНИТЕЛЬНАЯ ИНФОРМАЦИЯ / ADDITIONAL INFORMATION

Финансирование. Исследование не имело спонсорской поддержки.

Funding Sources: This study had no external funding sources.

Конфликт интересов. Автор декларирует отсутствие явных и потенциальных конфликтов

интересов, связанных с содержанием настоящей статьи.

Conflict of Interests. The author declares no conflicts of interest.

ORCID АВТОРА:

Соболева Н. И. / Soboleva N. I. — 0009-0005-3038-9234